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R
n n������������ ���� �����

C
n n������������ ������� �����

iR ��������� ����

R
n
+ �������	��� ��	���	

R
n×n ��� n× n ���� ��	�����

C
n×n ��� n× n ������� ��	�����

A � 0 ���� ������	 �� ����	���

A � 0 ���� ������	 �� �������	���

A > 0 ����	��� �����	�

A ≥ 0 ���������	��� �����	�

A−1 �������

A� ������������� �������

diag(a1, . . . , an) �������� n× n ��	��� ��	� ai �� �	� �������� ��	����

σ(A) ����	�
�

tr(A) 	����

rg(A) �����

ker(A) ������ ��
������� 

rk(A) ����

det(A) ��	�������	

AT 	��������

λi(A) ��	� ��������
� �
 A
I ����	�	� ��	��� �
 ��������� �

aij ��!" �	� ��	�� �
 #

α ������� ���"
��	� �
 α ∈ C

�(λ) ���� ���	 �
 λ ∈ C

|α| �����
	� ���
� �
 α ∈ C

|A| ��������	 ���� �����
	� ���
� �
 � ��	��� A ∈ C
n×n

‖A‖2 $�����

〈α, β〉 ������ ����
�	

‖G‖∞ H∞����� �
 G(s)
H2 H2 �����

F [x(t)] %�
���� 	����
��� �
 x(t)
L [x(t)] &������ 	����
��� �
 x(t)
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G :

{
ẋ(t) = Ax(t) +Bu(t),

y(t) = Cx(t) +Du(t)
*(��+

���� ����� ������
�� x ∈ R
n� ���
� u ∈ R

m ��� 	
��
� y ∈ R
p� �	� ���

 m� p ��� 
����

�������	� n��$ ��% '�	���� ��� ���� 	�����
��� �������� �	� 
����� ����	������	���
�	�� �	��	� �� �	 �	������ ��� ���	� ���� ������� �	 ��� H∞��	��� �	�������� ��� ���
���#
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��	
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����% ��( ,	�
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v ∈ R
n ��� � �
�� ����
� ������ A ∈ R

n×m ��
 �
���
� �� vi ��� aij � �
�	
����
��� !

���

v �� � �������� �	����
� 
���	�� v � 0 :⇔ vi > 0 ��� ��� i
v �� � 
	

�����
� 
���	�� v � 0 :⇔ vi ≥ 0 ��� ��� i

A �� � �������� �	����
� ������� A � 0 :⇔ aij > 0 ��� ��� (i, j)
A �� � 
	

�����
� ������� A � 0 :⇔ aij ≥ 0 ��� ��� (i, j)
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� ������ �	�
�� (A,B,C,D) �� ��
������	 
���
��� �� ��� ���	 �� �
� ��
���� ���
����
�� �������
���� ���� g(t) � 0, ∀t ≥ 0����

����� � � ���������� 	�
�� δ(t) �� � �
������ �
���� g(t) � 0, ∀t ≥ 0 �� ���
���
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��

�
���������

� 	�����
��� ������
� g(t), u(t) � 0� ��� 
����� �
 ��� ������ ���� ���
 �
����� �����

�� ����
 ���

y(t) =

∫ t

0

g(τ)u(t− τ)dτ ⇒ y(t) � 0.


���� ��� �������� �������� G(s) �� � ����������� ������ (A,B,C,D) �� ������� ���� ����
���  ������ �������������� �� g(t)! ����

G(s) = C(sI −A)−1B +D = L [g(t)] :=

∫ ∞

0
g(t)e−stdt,

�� �����"� #� ��� ���������$��� �� g(t) ����

G(0) � 0 ⇒ |G(iω)| �
∫ ∞

0
|g(t)||e−iωt|dt �

∫ ∞

0
|g(t)|dt =

∫ ∞

0
g(t)dt = G(0),

"���� | · | %������ ��� ��������� "��� �#������ $�����

&����%��� �� '()*! ��� H∞����� �� � ������ G(s) �� %�+��% ��

‖G‖∞ := sup
ω

σ{G(iω)} = sup
ω

‖G(iω)‖2,

"���� σ %������ ��� ������� �������� $���� �� G(iω)� �����,������ #� ‖A‖2 ≤ ‖|A|‖2 "�
��� ��� �����"��� ������

����� ��� 	���� 
� � 	
����
� ������


��� 
�� H∞����� �� 
�� 
������� ����
��� �� � 
���
��� �	�
�� �
 ������

‖G‖∞ = ‖G(0)‖2.

& ������ ���- �� g(t) ����� �� ����%������! ���� �� eAt, B, C,D � 0 ⇒ g(t) � 0� �� ���
��.� �.����� "� "��� ���! ���� �� ��� � ��������� ���������� ��� �.������ ������$���! #��
�� "��� #� ��� ��� �����% ������$��� %�+������! ��� �� �����% ������	
 ������
����



���� ���������	 ��
� 	�	��
	 


������� �	� ���������	 
�� ��� 
��������� ���
�
�� �������

��� �� �������� ��� ��������� ������ ��!�� ������ ���!�� �	�	�� �"���#�

A :=

(−1 0
−1 −2

)
, b :=

(
1
0

)
, c :=

(
0 −1

)
.

���� �"���# �$� �����%$���� λ1 = −1 $�� λ2 = −2� ���� ��� �#!���� ���!���� �$� &�

�'!������ &"

g(t) = αeλ1t + βeλ2t.


����%��( g(0) = cb = 0( ����� "����� α = −β $�� ����

ġ(t) = α(λ1e
λ1t − λ2e

λ2t).

	���� ġ(0) = cAb = 1( �� �$%� α =
1

λ1 − λ2
> 0 $�� ����( g(t) � 0( ∀t ≥ 0�

)� �&%���� ���$�%$��$�� �� ������# ��� ��( ��$� �� #$�" �$��� �� �� ��� !����&�� ��

����* �$���" ������� ��� �#!���� ���!���� �� $ �"���# �� ������$��%� �� ���� 	���� �����

�� $ ������ �'������� �������$ ��� �'����$� !�����%��" &$��� �� ��� !���� �� ��� �"���#�


���� �	� ��������� ��	



��� �����	�� 	
����
� 
	 �� �������� �
������ ������ ��� �� ����� 
�� ���� �
������
�
������

����� � � �������� 	��
��
 
��� ����� �� � ��������� ��������� �� g(t) ���	� �� ��	��������

��� ���� ��� ��
���� ���
����� ��	���� ���������

)� $ �����+����� �� ��##$ ��, �� �$� $��� ��%� $ ��������� �� ��� -���� �� �$�� �� $

	�	� �"���#�


���� �	� ��
�	 �

��


��� ���� ���
� 
	 �� ���������� �
������ ���� ������ ��� ������� ���� ��� �
������
�
������

����� � ������ ����� �� � ���� z0 ∈ R ���� �� ������� ���� ��� ���� �������� 
���� ��

���� �����
���� z0 ���� ������ ��� ������ �� 	��������	� �� G(s) ��� ��������� �� ���

������������� �� g(t)

G(z0) =

∫ ∞

0

g(t)e−z0tdt > 0,

���	� �� � 	�������	����� ����� ����� 	����� �
��� ��� ����� ���� �� ������� �� ����� �� ���

���� �������� 
����



� ���� ������	�	
 ���� 


���


��� �������� �	
������� �� �� ���� ������ �� ����� ������� � ������ �� ����������  �����!�
�� ��� "��� ������� ��#$� �����%��� �� ���� &��� ���� �% ��� ��������� �� ���� ����� �%
������� ��& �����&��� ���� ���� ��� ���� &�'�������

��������� �	
 ����������� 	
����
� ������ �������

� ������ �	�
�� (A,B,C,D) �� �����
 ������������ �
����
� �� ��
 ���	 �� �
� �
�
�
��
 ��
��
 ��� �������
��� ��� ����	 �������
��� ����
 ��
 ����	 �������
��� ���
���
�
�
�����

��� &�(������ )������ �������� ��& ��������  �����!��� �� �)!������ ��� �&&������� ���&�����
�% ��� �����*���!��� �% ��� ����� !����� ��& ����� �!���  �����!� ������ ������ �� ����������
 �����!�� ��� &�'������ ��+����� �� ������� � �����*���!� ��� �� %�� ����� �����*���!�
������ ����� ��& �����*���!� �� ��� ���� �� ��,��� �� �����&�� ���  ���������  ���
-x(0) = ei. u(0) = 0/ %�� ��� �������� �% (A,B,C,D) -0/. ����� ei &������ ��� �1��
���� !����� �� R

n�

2�����* �� ��� �����1� ���1�� ����������� �% � "�����$ ������ ������ "3��$. �� )������
�����. ���� C � 0 ��� �� ���& �� ��&�� ��  ��!�&� ��������  �����!���4 �% x(0) = ei. u(0) = 0
��& cij < 0 %�� �� ����� ��� j. �� ���� ���& ����&������ �� � ��*���!� ��� �� ��& �����%���
C � 0 �� � ��������� ���&����� %�� "��������$  �����!����

5 ������� �����&������� ��� )� &��� %�� D )� ��������* ��� ����� �% x(0) ��& u(0)�
��*����� C,D � 0 ��� ��,����� ��& ��������� ���&������ %�� � �����*���!� ��� ��
��&�� ��� ����� ���� �% � �����*���!� ����� ��& �� ���

5�� ���� ������� �� ��� �������� �% ��� �����1�+������4

ẋ(t) = Ax(t) +Bu(t) "��6$

��� ����  �� ��� �� ����� ���� ���� �� ������ &�'������� ��& ������� %�� � ������� �����
�% ��������. ��� �� �����& ���7��� �������� "�� ��������� −Z1��������$ -6/�

��������� �	
 ��������� ��� ���������

�� A + αI � 0 ��
� α ∈ R
n� 
��� A �� �����
 � ������� ����	
 �� ������	���


��������	��� ����
 A
e

� 0�

A �� �����
 � ������	
 �� −A
e

� 0 ��
 ����� � ������� ����	
 �� ���� �����
 �
�������	
�

5 
������ ������ �� �� � ������ �% � �����* � ������ ���� �����*���!� �(1&��*����
��������



���� ���������	 ��
� 	�	��
	 


������� �� A + αI � 0� ���� �� ������� � ��� ������ ��!����������� �� ��� �"!��������
�#�$�����

0 � eA+αI = eAeαI ⇔ eA � 0 %��&'

��#� ��� �����" �"!�������� �� � −Z(�����" �� ���� � �����)���*� ��+ ��������� eAt � 0
��� ��� t ≥ 0�

,� ��!������ �#�$���� �� 
��-��� �����$�� ��� ��� �� $����+ −M (�����$�� ./0�

��������� �	
 ����������

� ������ A ∈ R
n �� 	�

�� �
 ��������� �� −A

e

� 0 �
� �(λ) ≥ 0� ∀λ ∈ σ(A)� �����
�(λ) ��
���� ��� ���
 ���� �� λ�

�
�
������ A �� � ��������� �� A
e

� 0 �
� �(λ) ≤ 0� ∀λ ∈ σ(A)�

���� ��� ��� ��� ��)��*��#�� �� � −M (�����" ��� �#���+ �� ��� ���� $��!��" !���� ��+ ���
�����" �� ������� ��� ���� ��!������ ���#��� ���#� �� �!����$��� ������ −M (�����$��
��� �#�����-�+ �� ��� ��������) ��������


������ �	� �	
����
������� 
����� −M��������

��� A �� � −Z�������� ���
 ��� ��

���
� �������
�� ��� ������
�
� ����

 �! A �� � 
�
��
��
�� −M �������

 ��! �(λ) < 0, ∀λ ∈ σ(A)

 ���! "� A = B − αI ���� B � 0� ���
 ρ(B) < α�

 ��! (−A)−1 � 0

 �! ∃D > 0 diagonal : AD +DAT < 0�

����� � ��� ⇒ ����� �� ��	 
�
��

������� �� � �� �������� ���� ��� �	�	���
�
�

det(A) =
n∏

i=1

λi �= 0 ���� λi ∈ σ(A).

�	
�	� �� �	�
����
 �� � −M ������� �	 ��
 ��
����	� ���� ��� �	�� 	�
	
����	� �� A ���	
�� �	 �������� 
	
����	 �
� �
�� �������� ���
�
��� 	�
	
����	� ��
 ����� �(λ) = 0�
 	� α > 0 �	 ��!��	
��� ���
	� ���� ���� A+ αI � 0� ��	
 λ+ α ∈ σ(A+ αI)� ∀λ ∈ σ(A)�
"�
�	#�	
���� �� A $���	��	� � �������� ���
�
��� 	�
	
����	 λ̃� ��	
 �(λ̃ + α) > λ0� ∀λ0 ∈
σ(A) ∩ R �
� ��	�	���	 |λ̃+ α| > |λ0|� ��� ���� ��
�������� ��	 %���	
����&	���
�'�	��	�
�'�	��	� (�)��



� ���� ������	�	
 ���� 


���


���� ⇒ ���� ����	 
� ���� ⇒ �����


���� ⇒ ������ ����� 
� ����	�� �
� ���	� ������ � λ0 ∈ σ(B)� ���� ���� λ0 = ρ(B) ≥ 0

����� λ0 = λ + α ��	 � λ ∈ σ(A) ��� �(λ) < 0 
� ����� ����� !� �������� α > 0 ���
�����"������ 
� #������	�� |λ+ α|2 < α2


����� ⇒ ����� $� ��� ���� !�� �� ����� ⇒ ������


����� ⇒ ��%�� ����� ���� ��� ����� �	� �"��%������ �� �����!� �	�� ����� ⇒ ����� ���� A = B − αI

�� ��%�	��
��
 &� ����� ���� A−1 = (B − αI)−1 =
1

α
(
1

α
B − I)−1 ��� ρ(

1

α
B) < 1


&� ��� !���'(��!� )������ ��	��� ����	�� *�+, !� ��������

(−A)−1 =
∞∑
i=0

1

αi+1
Bi � 0.

��%� ⇒ �%�� -�� x := (−A)−1e� !��� e =
(
1, . . . , 1

)T



���� 
� ����� ����

Dx := diag
(
x1, . . . , xn

)
:=

⎛
⎜⎝
x1


 
 


xn

⎞
⎟⎠ > 0

��� ����
ADxe = Ax = −e � 0 ��
.�

/
��	%�� ����� (−A)−1A = −I ��� A �� −Z'���	��� �� �����!� 
� ����� ���� ���� aii < 0

&� ��
.� !� �������� ����� ���� AD �� ��	����� ���������� ��������
 ��� ���� ��� 
� ����
��	 AT � ��� y := (−A)−T e� ���� Dy := diag

(
y1, . . . , yn

)
> 0 ��� ATDye = Ay = e � 0


�����"������� eTDyADx = Dxe � 0 ��� DyADxe = Dye � 0 ��� ���	���	� DyADx ��
	�! ��� ������ ���������� ��������

0��� ��� ��� �� 1�	����	���� ��	��� ����	�� *2, !� 	����%�

P := DyADx +DxA
TDy < 0,


������ P �� ��	����� ���������� �������� !��� pii < 0
 3���� ����� �	�� 
��� ����� !���
D−1

y = D−T
y ����� ��

ADxD
−1
y +D−1

y DxA
T = D−T

y PD−1
y < 0.

4����� D := DxD
−1
y ��������� ���  	���


�%� ⇒ ����� 5����!� ��	����� 
� -���� 2
�


��� �� ��� ����� �� ���� ���� �� �������� ����� ��� �� ����� �!� "��"����� �# (A,B)
�� ����� ��  ��� #� �!� ��������� �# � �����$���%�  ���� %������ &� '��� � ��� ���������
 �'�(�� �� �!�� !� ���� ���� �� )��* �� )�*� +�� �  ���� ���! �!� �� � u(t) = 0,

ẋ(t) = Ax(t).



���� �����	
	 
��	 ���
	�� 


�� x(t) ���� �� ��� �������� �� ��� �������� ������� Rn
+� ��� �� x(t)  ������� �� ���!��� xi

�"��� �� #���� ���� ���  �����������$ ���������� ẋi(t) ��� �� �� �����$����� �� ����� ��
%��� xi �����$������ 
��� �� ��������� �"�������� �� ��� �� � ���� ��� �&'���$���� �������
���� �� �� �����$����� ��� ��� � A ��� �� �� � ���#��� !����(� ��� � )� ����  �������
���!����� ���� ������ �����!�� )�  ��  �� ���� )��� ��� ���� �� 
�����! ���� ���� A
��� �� �� � ������$���� −M '!����( ��� ��� � ��� ���$���� ������� ���� �� �� ���� ���
��$����� �� ���� �� ��� ����� �� 
�����! ����
*� ��� D� � ��$����� ����� �� B ��� �  �����������$ u(t) � 0 )���� ���� �� � ���������
�� ẋi(t) � 0 � )�� � �� )�� )�  ��  �� ���� ���� B ��� �� �� �����$������
��  �� ������ )� ���� ���)� ���� A ����$ � ���#��� !����( ��� B � 0 ��� ��+ ���� ���
�� ������  ��������� �� ������ � �����$����� ����� �� ���� *���$����� )� ��!!���#� ���
�����)��$  ���� ����#����� �� �������� ������ �����!��

������� ��	 
���������� ������	
 ���
�
 ����
��

� ������� 	
���
 ������ (A,B,C,D) 
� ���
�
�� 
� ��� ��	� 
� A 
� � −M ����

� ���

B,C,D � 0�

���� �����	
	 ���	 
��
	��

,�� ��� ���� ��!� �����!� ��� ��-������� �� �(������ ��� �������� ���������� ��!��� ���
��!�� 
�� ��&���� �  �!����� ��  ��������� ��!� �����!� ��� ���� � ��� ���� �����!
���������� ��� �)� �� ������ �������� ��$�����! .�/0� 
�� �������� �� ��� �����  �� ��
$���� �(��� ���� �� ��� �� ������

x(t) = At−t0x(t0) +
t−1∑
k=t0

At−k−1Bu(k). 1��23

)��� �� ������� ����� x(t0) �� ��!� t0� �����"������� )�  ��  ������� �!!�������� x(t+1)�
������� �� ẋ(t)� *����$��� �� ��� �����'���� �!������ � ����� �� ��� ���� ��!� �� ��-���
��

δd(t) :=

{
1 ��� t = 0

0 ��� t > 0
1��43

��� ���� ��� ��� ���� ��!� ��� �!����� �������� 1x(0) = 03� �� $���� ��

gd(t) = C

t−1∑
k=0

At−k−1Bδd(k) +Dδd(t) =

{
D ��� t = 0

CAt−1B ��� t > 0
1��
3

5��������� ��� �� �������� �����	
��� 
������� �����! �� �� �� ������ ����

CAt−1B � 0 ��� t > 0 ��� D � 0.



� ���� ����	
�
 ���
 �
��
��

�� ��������� ����� ���� �� ���� � �������� ��� �����! ��� ������" ��� �� #��� ��  �������
��"�! ���� �� ��� ��"� $��! �� �� ��� ���������� ����! ��� �����%�� %������� �% �  �������
�����" �� &�#�� '� ��� Z (�����%��"����� �% ��� �")���� ���)����! ����

G(z) = C(zI −A)−1B +D = Z [gd(t)] =
∞∑
t=0

gd(t)

zt
.

*�����! '� ������& gt := gd(t)! ��� ������ �+)������ �% ��� ���������� ��"� �")����
���)���� ��� '� $������ ��

CeAtB +Dδ(t) = C

∞∑
i=0

Aiti

i!
B +Dδ(t) =

∞∑
i=1

gi
t(i−1)

(i− 1)!
+Dδ(t), �����

�� gt �� ���� ,��$� �� ������ ���	�
���
�

-�� � �

����� 
��������� ��

�
�� �����" �� �� �����! ���� A,B,C,D � 0 �� ���������
��� ��������� �% ���� ��� ����� ��� '� ��� ��� ���� '� ����� ����& x(t + 1) ������ �%
ẋ(t) �� ��� )���% �� ������" ��.� ���� �� ���� ���� x(t) �� �� ��� '��� ��� �% Rn

+! ��&�
x(t) = ei! x(t+1)i = aii ��� �� ��"��� )�����#�� ���� $� ��� ����� ���  ������� �����&���
�% ������" ��. �� %����$��

������� ��	 
�������� �	����
� ����
� �������

� �������� 	�
��� �����
 (A,B,C,D) �� �������� �� �
� �
	� �� A,B,C,D � 0�

�� /�""� ��� $� ��#�  ����#��� ���� %�� � ������� )�����#� �����"! A "��� ��#� � ����
 �"����� )���� 0��� �� �+������� �% ��� ��(����� ������
�
��������������� 1�23 1��3
��� ��� "�,� ��� ��"� ���������� %�� ���  ������� �����

������� ��� 
��	�����������	� �������	��

��� A � 0� ���
 ����� ������ � ���	 λ0 > 0 �
� � x0 � 0 ���� ����

��� Ax0 = λ0x0

���� λ0 > |λ|, ∀λ ∈ σ(A) \ {λ0}�
�
 ���� �� A � 0� ��� ��
� �����
�
�� ��
 �� 
��� �� ���	���
� ��� ������ ��	����
�

���� ≥ �
� �� ����������	��

����� � � �� ����� ���	 �	� 
��� A � 0�
��� λ0 
����� �	� ������� ����� ��� �	�
	 Ax − λx � 0� ��� ���� x ∈ R

n
+ \ {0}� �� ��

�������� �	�� � ����� ����
 ��� λ0 �� �����
�
 �� λ = 0� ��� �� �� ���� �������� �� ��
 ��

����� ����
� ��� ‖A‖∞ := maxi
n∑

j=1

|aij |� ����

‖Ax‖∞ ≤ ‖A‖∞‖x‖∞ ⇒ (Ax)i ≤ ‖A‖∞ max
i

{xi}, ∀x ≥ 0



���� �����	
	 
��	 ���
	�� 


��� ‖A‖∞ �� �� ����	 
���� ��	 λ

��� x0 ∈ R

n
+ \ {0} 
� � �����	 ��������� Ax0 − λ0x0 � 0� ���� 
� A � 0 �� ������� ����

λ0 > 0 ��� Ax > 0 ��	 ��� x ∈ R
n
+ \ {0}
 ������������� A(Ax0 − λ0x0) > 0 ��� ����� ��

��	� �� ��� ���� �� Ax0 = λ0x0
 �� ������� ��

0 < A(Ax0 − λ0x0) = A(Ax0)− λ0(Ax0),

�� �
��	��� ���� λ0 �� ��� ������� 	���	���� ��� �����	 Ax0 � 0 ��� ���� � ����	��������
�� ��� ���������� �� λ0
  ��� Ax0 = λ0x0 � 0� ����� ��������� ��� �	��� �� !�" ��	 A � 0

�������	��� ��� ����	 ���������� λ ∈ σ(A) \ {λ0} ���� ����������	 y� �� �� ���� �� ��� ����

A|y| − |Ay| ≥ 0

��� ������������
A|y| − |λ||y| ≥ 0.

 ��� 
� ��������� �� λ0 �� ���� ���� λ0 ≥ |λ|
  �� ��	��� ���������� �� 	������ ���� 
� ��
��#������� ����� ���������� ����� α > 0� ���� ���� A − αI � 0
 $���� ��� �	�� ��	� ��
��������

|λ− α| ≤ λ0 − α.

%� ���	� ������� � ������� λ ∈ σ(A) \ {λ0} ���� ���� |λ| = λ0� ���� 
� &������	��
|λ − α|2 > (λ0 − α)2 ��� �� ���� � ����	�������� �� ��� ���������� �� λ0 − α
  ���
��������� ��� ����� �	��� ��	 A � 0


� '�� �� �	��� ��� ���� A � 0(

��� Δ 
� � ��	����� �������� ���	��
  ��� Ak := A+
1

k
Δ ���� k ≥ 1 ������ � �������� ��

��	����� �������� ���	���� �����	���� ����	�� A

 ���� 
� ��� �	�� ��	� �� ��� �	���� �� ���� ���	� ������ � ��	����� �������� ����������
λk > 0 �� Ak
 �� )�	����	��*� ��	��� ����	�� +,- �� ������� �	�� ��� ��������� �� Ak� ����
λ1 ≥ λ2 ≥ · · · ≥ r� ���	� r ������� ��� �����	�� 	����� �� A
  ��	���	� {λk}k≥1 ������ �
������������� ���	������ �����	���� ��������

.���� {vk}k≥1 ������ � 
������ �������� ������ ��� ������� ����/
���� �� ��� ���	��� �
�����	���� ��
�������� {vki}ki≥1� ����	���� �� ��� ����/����� ����	�� �� �������/0���	��	�1

������������� 
� ��� ���������� �� vk ��� λk �� ��������

lim
i→∞

vki = v∗ � 0 ���� ‖v∗‖ = 1 ��� lim
i→∞

λki = λ∗ ≥ r.

%� ��� ��� �� ���
Av∗ = lim

i→∞
Akivki = lim

i→∞
λkivki = λ∗v∗

��� ���	���	� λ0 := λ∗ = r ��� v0 := v∗


������� ���� �� Amx0 = λ0x0 ��� ���� m > 0� ���� Ax0 = m
√
λ0x0� ������ �� Am � 0 �

�� ��� ���� 
������ ��! ��" #�� ��� ���� ���������� �� ��� A � 0�

��������� ���

��� A � 0 ��� ����	� Am � 0 
�� ��	� m > 0
 ���� �� ��� 	��� 
�� A ��� ��	�

����������� �� 
�� � �������� 	����� �� ������	 �
�




�� ���� ����	
�
 ���
 �
��
��

�� ����� �� ��� �� ������� ���� ���� �� m > 0 ������� �� ���� �� ���� �� � ������� �����
� !�������� ������ ����������� 	
������ "�#$�

��������� �	
 ���������� 	
���
�

��� A ∈ R
n×n� ���� A �� 	
���� ��������� �
 ����� ������ 
 ������
���� �
���� π� ��	�

��
�

πTAπ =

(
B1 ∗

B2

)

���� ���
�� �
���	�� B1 
�� B2� �
 A �� ��� ����	����� ���� �� �� 	
���� ������������

����������% &��&���' � ��� ���%��� ��%��(����  �� ��������)�� �����%���(� !������� �� %�(��
)' ���  �������% ��!!� ��� ������!�


���� �	�

�
 A �� ������	���� ������
���� �
���� ���� 
 �������� �����
�� ������
���� ����
tr(A) = 0� ����

������� �	�

A �� 
 ������	���� ������
���� �
���� ���� ������ �
����� ������
��� �
 
�� ���� �

Am � 0 
�� ���� m > 0� ����

*�� ������)�� �����%���(� !������� ���� �����!���� ���� %�������' ��� ����� ���� ��
��� ���  �� ���!&�� � �� ����!� A �� )� ��� �������'� +���(��� ������)�� �����%���(�
!������� ��(� ��� &��&���' � ��(��% !����&�� �����%���(� ��%��(������ ����� �� ���
��������  ��! ���  �������% ��!!��


���� �	


��� A �� 
 ����	���� ������
���� �
����� ���� ����� ������ 
 ������
���� �
���� π
��	� ��
�

πTAπ =

⎛
⎜⎜⎜⎝
B1 ∗ ∗ ∗

B2 ∗ ∗
� � � ∗

Bk

⎞
⎟⎟⎟⎠ ,

����� �
	� Bi �� ������	���� �� ���
� ��  ���� ����

���� !����� ��� ��%��(����� � A � 0 ��� %�(�� )' ��� ��%��(����� � Bi � 0 ��� �� ��
&����)�� �� ���%�����,� πTAπ )' � )�������%���� !������ +����� ��������% �� ������!
��-� ����� !��� ������ �� ����� ��� �����%���(� ��%��(����� �� ���� Bi ������&�����% ��
��� ���%��� ��%��(���� � Bi�



�� �������	 
	���
�����

� ����� ����	��
 �� 
������ ��� �� ��� ����� ���� � ������ ����������� �������������� ���

������� ������� ��� ������������� �� (B,C,D) ��� ��� ������� ������ �������� �� A�  �

���� ���� ��� ���� �� ���� �� ��� ������������� �� ��� ���!��� ��������� "� ��� ����� �����

�� �� ����������� �� #������ $��� ��� ������������� �� ��� ���!��� �������� ���� ���

�!������� � ������� �������� ������������ 
��� ������� ���� ����� ��� ���	��� �� ��������

�������	������

%�� � &��� ����� ������ ���� �������� �!������

G(s) =
1

s+ α1
M ���� M ∈ R

k×m '$��(

�� ��� 	� ����� ���� ��� ������������� �� ��� ���!��� �������� g(t) ������� ��� ����������

�� ��� ������� ����������� �� G(s)� )� ��� ������������ �� g(t) �� ������� M � 0 ��� ���

���
 rk(M) �� � �!�� 	� �*!�� �� ���� �!� �� ��� ���� ���� G(s) �� � ������ �� &���

������ %�� �������� 	� �������� +���!��� ,��!� �������������� �� ��� ��������� M
���� ��� �������� ������� C ∈ R

k ��� BT ∈ R
m- ��� M = UΣV T ����

Σ =

(
σ1

0

)
∈ R

k×m, U ∈ R
k×k ��� V ∈ R

m×m.

���� MMT = UΣ2UT � 0 ��� MTM = V Σ2V T � 0� .� �����!�� ���� �� ���� ����

��� &��� ���!�� u1 �� U ��� v1 �� V �� �� ����������� �� ��� ������� ��������!� σ1�
/����*!������ 	� 
������ ��0� u1, v1 � 0 !� �� � �������	�� ����������� ��� ���������

�� ��� ��&��

A := −α1, B :=
√
σ1|v1|T , C :=

√
σ1|u1|, '$�$(

����� �� � �������� ������� ����������� �� G(s)�


��� ����������� ���� ��� ���� ��� ������� �� ������ ������ �� ������� ��� ������ ���

������� ����������� �� � �������� ������ ���� ��� ���� �� 	� 1!�� � �������������� �� �

�������� ������������  � ����� �� ��� ��� �������� ����������� �� �� '����������( ��������

������� �� ��� ���� �� �������� ��� ����������� ����������

������� �	
 '2���������� ������� �����������(

3�� !� �������� ��� ������ (A, b, c) ����

A :=

⎛
⎜⎜⎝
−2 0 0 1
1 −2 0 0
0 1 −2 0
0 0 1 −2

⎞
⎟⎟⎠ , b := cT :=

⎛
⎜⎜⎝
1
0
0
1

⎞
⎟⎟⎠ .

��



�� ���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�


��� �������� ������ �  � ���� �!���" �� #�$�� %!

G(s) =
2s2 + 7s+ 7

(s+ 1)(s2 + 4s+ 5)
=

2s2 + 7s+ 7

s3 + 5s2 + 9s+ 5
,

&���� ��� ' (�� �� −1 ��) −2 ± i� � &�$��� %! � �����#�� � �&��) ��(��(��� �  � ���
�������������� ' (!� "��(  � � 3×3*+��,(�� "����- Ã ��) � � "'���� �  � ��� � �.������
&��� s3 + 5s2 + 9s+ 5� �� � (( &�

−ã11 − ã22 − ã33 = 5 ��) ã11ã22 + ã11ã33 + ã22ã33 ≥ 9.

���� #�$��
(−4− ã22 − ã33)(ã22 + ã33) ≥ 9

 � �/��$�(���(!
(ã22 + ã33 + 2)2 ≤ −5.

������ ��� �!���" ) �� � � ��$� � "���"�( ���(�,��� �� &���� �� ' ����$��

���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�



� ��� � (( &��# &� &��� � ��$����#��� &���� ��� ���� �� (��� ���� � � �$��! �-�����((!
' ����$� �
��*�!���"� �!���" ��� � ' ����$� "���"�( ���(�,��� �� 0������" ��� &� &�((
�� & ���� � � ��� �)* �)�� �!���"�� �-�����( ' ����$��! �� �/��$�(��� � �������( ' ����$��!�
0 � ���� '��' �� &� ����� &��� ��� )�1���� ��  � ������%(� ��)  %���$�%(� ���� &��� ���'���
� � � ���#���$� ��'���

��� �� � ���)�� ��� (����� ��"�*��$������ �
��*�!���" (A, b, cT )

ẋ = Ax+ bu,

y = cTx, 2��34

����� �� �� 5�6 576 5�86� ��� ������%(� ��)  %���$�%(� ����� &��� ���'��� � � ���#���$�
���'��� ��� )�1��) �� � (( &��

��������� �	
 ���������� ��	�

��� X∞(A, b) �� ��� ��� �� 	

 ���
�� ��	� �	
 �� ��	���� �����
 �
��� ���� ���� ���

�����
 �� 
�

��	���� �
����� ����

X∞(A, b) := {x | x =

∫ t

0
eA(t−τ)bu(τ)dτ, t ≥ 0, u ≥ 0 �
����	�
�}.

���
 �� ���
� ��� ��	��	�
� ��� Xr 	�

Xr := Xr(A, b) := X∞(A, b).



���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�
 ��

��������� �	� 
���������� ��	�

��� Xo(c
T , A) �� ��� ��� �� 	

 ��	���� ��	� �	
�� 	 ������	���� �
��
� ��� 	

 t ≥ 0 ��

u(t) = 0� ����
Xo := Xo(c

T , A) := {x | 〈c, eAtx〉 ≥ 0, ∀t ≥ 0},
����� 〈·, ·〉 ������� ��� ��	
	� ����
��� ���� Xo �� �	

�� ��� ������	�
� ����

����� �� ��� ������� Xr ��� Xo  !�" �"� #���"�$%� ��� �$��#&�$%� ��$�'���� �� � �(���)�
 "!�" �#� *!&�� $( �"� #��*�� �� P ��� Q !� +���, ��� +��-,� '#������� !� �"� ��.� �"�'��#�

	( %��/!�* �� �"� ��0�!�!�� �� X∞(A, b) !� !� ���( �� ��� �"�� X∞(A, b) !� � ���&�.
���� $������ �� �"� %!���#!�( �� �"� �(���) +��� �''���!.,1 ����)� x1� x2 ∈ X∞(A, b)
�#� � � ������ ����#�� $( u1 ��� u2 !� �!)� t1 ≥ t2� �"�� $( ����!�*

ũ2(τ) :=

{
0, 0 ≥ τ < t1 − t2

u2(τ), t1 − t2 ≤ τ ≤ t1

 � ��� ����# �"� �(���) �#�) �"� �#!*!� ��

x0 := αx1 + βx2, α, β ≥ 0

$( �"� '��!�!&� !�'��

u0 := αu1 + βũ2.

�!��� Xo !� �"� ���% ��� �� {eAT tc, ∀t ≥ 0}� !� !� �%���� ��� ���&�. +��))� ���,� 2�
��� ����%��� �"� ��)� $( !�� '#�'�#�( �� $�!�* �"� ���% ���� �� Xr� 
� �#��# �� �� �"!�
 � ���� �� �"� � �"�� �&�#( x ∈ Xr ��� $� �''#�.!)���� �!)!%�# �� �"� '�!��� !� Xo�3�4
3�54

��

� �	�

�� Cr ������� ��� ��	

��� ������ ���� ����	����� ��� ���

{x | x = eAtb, t ≥ 0}
����

Xr = Cr�

����� � ��� � ��������	�
 ��
����� [0, t] ⊂ R� �
 ���
�

∫ t

0

eA(t−τ)bδ(τ − τ0)dτ =

⎧⎪⎨
⎪⎩
eA(t−τ0)b, τ0 ∈]0, t[
1
2e

A(t−τ0)b, τ0 = 0 �� τ = b ��� t > 0

0, �
�������.

�����



�� ���� ����	�
���
�� �
�����
���
� ��� �������
���
�

��� v ∈ {x | x = eAtb, ∀ t ≥ 0}� ���� �� �	
���
� ����� �� ��� ���� u(τ) := 2δ(τ) �
�
��������� ���
� �
�� ���� v ∈ X∞(A, b)� ����� Cr ��� Xr ��� �
�� �
����� �� �
���
��
Cr ⊂ Xr�

�
��
�� x ∈ X∞(A, b)� ����� eAtb ∈ Cr ∀t ≥ 0 �� ��� ����
�� 
� ��� �
�� ��
�����
eA(t−τ)bu(τ)Δ ∈ Xr ���� 0 ≤ τ ≤ t ��� Δ ≥ 0�  
���	
����� �� �� ����
��!���

x =

∫ t

0

eA(t−τ)bu(τ)dτ

�� ��� "��!���#�
! SN � �� ��� �� �
������� 
� Cr

x ≈ SN :=
N∑
i=1

eA(t−τi)bu(τi)(τi − τi−1) ∈ Cr ���� τ0 = 0 < τ1 < · · · < τN = t.

����� SN ������ � �
�������� ������ 
� Cr� ��� ��!�� ���� �� Cr ��� ������
��

x = lim
N→∞

SN ∈ Cr.

������� ��� ����� ���! ���"��# Xo  #$ Cr� 
! $�%#���&# &' ��� $( � )&#�  #$ ��� ' )�

�� � ����! $( � )&#� �� )�&��$� �� �&�$�

Xr(A, b)
∗ = C∗

r = {y | 〈eAtb, y〉 ≥ 0, ∀t ≥ 0}
= {y | 〈b, eAT ty〉 ≥ 0, ∀t ≥ 0}
= Xo(b

T , AT ).

��#)� Xr �� )�&��$  #$ )&#��*� "� +�� �! 
��&��� ���� X∗∗
r = Xr�

����� ��� ����� �����

Xr(A, b)
∗ = Xo(b

T , AT ) ��� Xo(c
T , A)∗ = Xr(A

T , c)� ����

�# ��� '&��&"�#+ "� " #� �& %#$ &(� �&��  �&(� ��� +�&�����) ���()�(�� &' Xr  #$ Xo �#

) �� &' �*���# � ,&�������!  #$ ��� �� ���� �& -�*���# ��! ,&������. ��#�� � �� ��/ ��&#��

����� ��	

	
� (A, b, cT ) �
 �� 

�
������ �������
 ����
�� ��
� Xr ⊆ Xo�����

����� � $� ��!!� ��% ��� ��� ��

� �� &�
�� ���� � ����
� x ∈ Xr ��� �� ����������� ��
��
����
��!���� �� � �
��������� ����� ������ �
!������
� 
� Cr

x =
N∑
i=1

eAtibΔi.



���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�
 ��

��������� 	� 
�����
 ���

cT eAtb ≥ 0 ∀t ≥ 0

��� 	��������

cT eAtx =

N∑
i=1

cT eA(t+ti)bΔi ≥ 0, ∀t ≥ 0 ⇒ x ∈ Xo.

������� ��	 
������� �����	�
����

(A, b, cT ) �� � ������� �����	�
��� �� ��
 ���� �� Xr(A, b) �� ����
 ��
 Xo(c
T , A) ��

����
�
�����

����� � �� ��

� ��� ��� 
�����
 ��� �� ���� ���� 	� ���� 	�� �	�	�
��	 ��� ��	��� Xr ��

Xo ��� 	�� �	��� ������� �� �����	�� ��	���� �� ���	 �� ���� ��������� ��� 	�� ��
� ����
��	�

�� 	� ����� 
�����
 ����

������� Xo �� ��	 ����	��� 	��� �� �� 	�� ����� �� 
�����
 ��� 	���� 
��	 �� � ����

αv ∈ Xo ∀α ∈ R ��� v ∈ R
n
+ \ {0} ��� ����� cT eAtαv ≥ 0 ������

 ����!���	���

cTAv = 0 ∀t ≥ 0,

��� 	��� Qv = 0� ����� 
���� 	��	 v ��� �� ��"����� �� 	�� ��	��	 ��� �����	 �� ���������

��� ���	�����	� 	�� 
���
���	� �� 	�� �����#�	����

$� 	�� �	��� ����� �� 	�� �����#�	��� �� ��	 ����������� 	���� 
��	 �%��	 � ���#��� ���	��

w ∈ R
n ���� 	��	

cT eAtw = 0 ∀t ≥ 0,

��� �� ������ 	���� ����� �%��	 � ���� �� Xo� ���� 	��	 αw ∈ Xo ∀α ∈ R� ����� ���	�����	�

	�� ����	�������

� ������ ������ ���� �! ��""# ��$ #�� �%����" ��� �� �%� !�&&�'��( ��� &� #)� � "���"#&
��#&�*#����� �! �+����#&&, -�����.� �,���"�� �%� �#"� !�&&�'� !��" �%� ��� &�� �� /�01� ) �
), #�� "��( �+����#& -�����.��,� '� �#� (�.� # " �% �%����� -���! %����

������� ���

��
 (A, b, cT ) �� � ������� �����	�
��� �� �� ��
������� ����
��� ���
��� ���� Xr ��

Xo ��� ������ ������

����� � �� 
�����
 ��� �� ���� ���� 	� ���� 	�� ����	������ �� Xr ��� ��������� �� Xo�

��	 �� ����
� Xr �� ��	 ����	��� 
���

∃x ∈ R
n : x ∈ Xr ∩ −Xr.



�� ���� ����	�
���
�� �
�����
���
� ��� �������
���
�

��������� 	� 
���
 ���� Xr ⊆ Xo 
�� �����

x ∈ Xo ∩ −Xo,

����� ��
�� Xo ����� �� ����	��� ����� �� �
�� 
������ 	� �
�� 
 �����
� ��
���
	���
	��� �� 
 ���	�
���	��� 	� ������� ���� ��
��� 	�� �
�� �	
	����	 ��� Xo ������� �� 	��
��
��	� �� Xr 
�� Xo�


���� ������� ���� ��� � ���� � ��!����"�#�� �$%� �� &� '��(���) '�� $ "�#�"$� ��$��*$���#

�' $ +�����%� �,���"� 
�� !������#� �� #��� &, ���-�#. $� Xr $#) Xo� ��$� �� ���

)����# ���# &�����# �#���#$� $#) �/���#$� +�����%��, �' $ "�#�"$� ��$��*$���#�

������� ��	 
������� ��	�
��� 
������
����

��� (A, b, cT ) �� � ������	 
��	������� �
 � ��
���	� �
���
 �
���
�
 
������� G(s)� ����
G(s) ��������� � �������� 
��	������� �
 ��� ��	� �
 ���
� ������ � ��	����
�	 ���� Xp�
���� ����

��� (A+ λI)Xp ⊂ Xp 
�
 ���� λ ≥ 0�

���� Xr ⊂ Xp ⊂ Xo�����

�# ��� +���' �' ��� ������" $� ���� $� �# ��� ��&��!��#�  �# �����#� �� ���� #��) ���

'������#. ��""$�

����
 ���

��� Xr(A, b) = Xr(A+ λI, b), Xo(c, A) = Xo(c, A+ λI), ∀λ ∈ R

���� eAtXr ⊂ Xr, eAtXo ⊂ Xo, ∀t ≥ 0�����

����� � ���  ��	 �	
	����	 ������� �� cT e(A+λI)tx = eλtcT eAtx� 	�� �� ��	��� 
�� ����
������	� �� Xo 
�� 
���
 ����
!�� 	�� ������ �	
	����	 �� "��	 ���� 	� ��	���� 	�
	 eAteAt̃ = eA(t+t̃) 
�� 
���� �	 	� 	��
�� ��	��� �� Xr 
�� Xo�

��� �� $�� ��$), �� +��%� ��� "$�# ������" �' ����  �$+����

����� �� ��	��	
 ��
 � � ��#������$ %� �� ��	��� �� 
 ��������
� ���� �� �
� ���	� Xp


� Xp = PR
k
+ ��	� P ∈ R

n×k� &����'���	�� ���� 
�����	��� (�) �� ��������

(A+ λI)P = PKA, ��	� KA ∈ R
k×k
+ ,


�� �� ��

Ap := KA − λI
e

� 0.



���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�
 ��

�� ��� ����	�	
� 
� Cr ��� �

����	
� �		�� b ∈ Xr ⊂ Xp� ������ ����� ��	
�
 � ����
�
bp ∈ R

k
+ 
��� ����

Pbp = b.

���	�� �	�� ��� 
��� ��������
 	� �
��
 c ∈ Xr(A
T , c) = Xo(c

T , A)� �	��� Xp ⊂ Xo 	�
�
��
�
 �� ��� ����	�	
� 
� � ���� 
��� ���� X∗

o ⊂ X∗
p ��� �
�
� ������ c ∈ X∗

p � !��� ��

��� ����	�	
� 
� ��� ���� 
��� ����� ��
� ��	
� � ����
� cp ∈ R
k
+ 
��� ����

cp = PT c.

"
�	�	�� ���� AP = PAp ��� ���
 AkP = Ak−1(AP ) = Ak−1PAp = · · · = PAk
p �� ���

�
����� ��� 	����
� ��
�
�
�
 
� ��� 
�
��� (A, b, cT ) ��� (Ap, bp, c
T
p ) �
 �
��
�


cT eAtb = cT
∞∑
k=0

Aktk

k!
Pbp = cTP

∞∑
k=0

Ak
pt

k

k!
b = cTp e

Aptbp.

������ 	� �
��
 �
� ��� ����
��� �����	
�


cTp (sI −Ap)
−1bp = cT (sI −A)−1b,

��� (Ap, bp, c
T
p ) 	
 � �

	�	�� ����	#��	
� 
� G(s)�

� "���

	��$ �

��� (Ap, bp, c
T
p ) 	
 � �

	�	�� ����	#��	
� 
� G(s) 
� �	���
	
� "�

�� 
���	�� λ := maxi=1,...,n{−apii} �� ����� � �
������	�� ����	� Ãp ��

Ãp := Ap + λI ��� Ã := A+ λI.

%� 	
 ����	�� �
���� ���� (Ãp, bp, c
T
p ) ��� (Ã, b, cT ) ��� �
�� ����	#��	
� 
� G(s − λ)� �����

(Ã, b, cT ) 	
 � �	�	��� ����	#��	
�� &	�� ��� ���� 
� '���� (�) �	� �� ���

Xr(A, b) = Xr(Ã, b) ��� Xo(c
T , A) = Xo(c

T , Ã),

��� ���
 	� 
���� �
 �
������ ��� ��
�� 	� 	
 
�*�	��� �
 
�
� ���� ����� ��	
�
 � �
��������
�
�� Xp ⊂ R

n 
��� ����

�	� ÃXp ⊂ Xp�

�		� Xr(Ã, b) ⊂ Xp ⊂ Xo(c
T , Ã)�

&� �	�� ��� 
��� � �
�������� �
�� �� �
	�� 

 �
� ��� 
�
������� ���� 
� (Ãp, bp, c
T
p )�

'�� �
 ����
�
�� ��� 
�
��� (Ãp, bp, c
T
p ) 	��
 ��� 
�
������� ���
�	��� �
��$

T−1
o ÃpTo =

(
A11 0
∗ ∗

)
, T−1

o bp =

(
b1
∗
)
, cTp To =

(
cT1 0

)
.

�	��� (A11, b1, c1) 	
 
�
�������� �� ��� ����
�
�� 	� 	��
 ��� �
���
������ ���
�	��� �
��

Aaa := T−1
c A11Tc =

(
ÃT ∗
0 ∗

)
, ba := T−1

c b1 =

(
c
0

)
, ca := cT1 Tc =

(
bT ∗) .

��� ����	��� ��� �	�	��� ����	#��	
� (ÃT , c, bT )� !�� ���

� ��� �� �
� ��	
 �
�� 	�
����

� (Ã, b, cT )� 	
 ���� �� ����
�

	�� �� ��� ��� 
��� ����	� 
�������� �
 �
� ��� 
�
�������
�
��� "
�	��� ��	
 	
 
��� �


	��� �
� �%�+,
�
���
� !���� �� ����	��

T :=

(
Tc

I

)
To,



�� ���� ����	�
���
�� �
�����
���
� ��� �������
���
�

�� ��� � ������

T−1ÃpT =

(
Aaa 0
∗ ∗

)
, T−1bp =

(
ba
∗
)
, cTp T =

(
cTa 0

)
�	
 T−1 =

(
(T−1)a

∗
)
.

�� ��
� ��������	�
 ��� ������ �	 ������� ���� ��� ������� �� ��� ������������� ���� ��
���� 	��
 �	 ��� �������	� �	
 ��� ����� ���� �� ��	 ������� (Ãp, bp, cp) �	 ����� �� (Ã, b, c)�
��
�	 � ������ Q� �� 
��	� �� cone{Q} ��� ������
��� ��	� ��	�����
 �� ��� �����	� �� ��
�� �� ��� Xk := (cone{(T−1)a})∗ ���	 X∗

k = cone{(T−1)a} �	
 AaaX
∗
k = cone{Aaa(T

−1)a}�
 � ���!�	� ��

(
(T−1)a

∗
)
Ãp =

(
(T−1)aÃp

∗
)

=

(
Aaa 0
∗ ∗

)(
(T−1)a

∗
)

�� �����
�

(T−1)aÃp = Aaa(T
−1)a.

"�	���

AaaX
∗
k = cone{(T−1)aÃp} ⊂ cone{(T−1)a} = X∗

k ,

����� ��� �	������	 ������� �� Ãp � 0� #�	��$��	���� �� ��� 
��	����	 �� � 
��� ��	�
AT

aaXk ⊂ Xk�  ������ b �	
 c ��� 	�		�����
� �� ���

ba = (T−1)ab ∈ X∗
k �	
 ������� c

T
a (T

−1)a = c, ca ∈ Xk.

%�� �� ����� ��� ������
��� ��	� Xk ��

Xk = cone

{(
P
∗
)}

�	
 
��	� Xp := cone{P},

����� P 
�	���� ��� ������ �� ��� ���� 	 ����� ��������	
�	� �� Ã �	 AT
aa� &��	 ��

��	��
���	� ��� ��������	
�	� ����� �� P �	 ba �	
 ca� �� �� ��������������
 �� ��� ����

ÃXp ⊂ Xp, b ∈ Xp �	
 cT ∈ X∗
p . '(�)*

&��� ��	
����	 '�* �� 
�����
 �	
 �� �� ���� �� ���� ��	
����	 '��*�

 � '(�)* �� ��� Ãib ∈ Xp, ∀i ≥ 0 �	
 ��������� �� %���� +�( eÃtb =
∞∑
i=0

Ãib ∈ Xp, ∀t ≥ 0�

&������� ���� %���� (�, �� ��� ��	���
� Xr(Ã, b) ⊂ Xp�

�	 ��� ���� ��� �� ��	 ���� ��� ����	
 �	������	�  � ��� Ã��	
����	�� �� Xp �� �������

����	 ÃTX∗
p ⊂ X∗

p �	
 ��	�� �� ������ Xr(Ã
T , c) ⊂ X∗

p � -��� ��� 
��	����	 �� � 
��� ��	��

&������ +�, �	
 %���� (�( �� ��� X∗∗
p = Xp ⊂ Xr(Ã

T , c)∗ = Xo(c
T , Ã)�

�� ����� ��� �� ���� ���� Xr  ! � !"#!�� �$ Xo ��% ���&�  � ��"'% #� � (�)$�&� &��% %���

$�) Xp� *�$�)�"����'+ �� ,���� ��� �-�)+ �.��)��''+ (�! � -� !+!��� ��! � (�! � -�

)��' /�� �� �$ % ���! �� �0"�' �� ��� �)%�)� �� �� ! &�!� Xr  ! � ���) ��� (�'+��%)�'

�) ��� (A + λI)1 �-�) ���� 
�� ��.� '���� � '' !��� ��� )�'�� �� #������ ���!� ���

()�(�)� �!�



���� ������	
�
�
� �	�����	
�
�
 ��� ����
��	
�
�
 ��

����� ���

��� Xp ⊆ R
n ��� A ∈ R

n×n� �	�� eAtXp ⊂ Xp ∀t ≥ 0 
� ��� ��
� 
� �	��� ��
��� �
λ ≥ 0� ���	 �	�� (A+ λI)Xp ⊂ Xp�����

����� � � ���������	 
�� �� 
����� ����� ������ 
� x ∈ eAtXp \ Xp� ���� �� ��� ����
�������� �� Xp

eηteAt = e(A+ηI)t /∈ Xp, ∀η.
������������� �� ������ ���
����� �� �����

e(A+ηI)t =

∞∑
i=0

(A+ ηI)ix

i!
ti /∈ Xp, ∀η, ∀t ≥ 0

�������� ���� 
���
 �� ���� �� 
 �����
������� �� (A + λI)Xp ∈ Xp� !����"� ��� ����
��������� 
 ������ ���"�� ���� Xp ����� �
"� ���� ���������

� #��������	 
�� Xp �� �����
��� �� ��� ��� {p1, . . . , pN} 
�� X∗
p �� {q1, . . . , qN ′}� $����

�� ��%������ �� ��� ��
� ���� 
�� �� 
���������

〈qj , pi〉 ≥ 0 
�� 〈qj , eAtpi〉 ≥ 0, ∀t ≥ 0, 1 ≤ i ≤ N, 1 ≤ j ≤ N ′ & �'(

��
�� �� ��%������ �� X∗
p � ��� ��������� �� 
 λ ≥ 0 ���� ��
� (A+λ)Xp ⊂ Xp� �� ����"
����

��

∃λ ≥ 0 : 〈(A+ λI)pi, qj〉 = 〈qj , (A+ λI)pi〉 ≥ 0, 1 ≤ i ≤ N, 1 ≤ j ≤ N ′.

)� 〈qj , Api〉 ≥ 0 ���� �� �� ��"���� �� & �'(� ��
�

〈qj , (A+ λijI)pi〉 ≥ 0, ∀λij ≥ 0,


�� �� ��� λij = 0� )� 〈qj , Api〉 < 0 
�� 〈qj , pi〉 > 0 �� �
� ��%��

λij := −〈qj , Api〉
〈qj , pi〉 > 0,


�� �� ����� 〈qj , (A + λijpi〉 ≥ 0� *�� ��� �
�� 〈qj , pi〉 = 0� �� �
"� �� �
+� 
 ���+ 
� ���
������ ���
����� �� 〈qj , eAtpi〉

0 ≤ 〈qj , eAtpi〉 = 〈qj , pi〉+ 〈qj , Api〉t+R(t) = 〈qj , Api〉t+R(t), ∀t ≥ 0 
�� R(t) ∈ O(t2).

$����� �� ��"����� �� t ≥ 0 ������

〈qj , Api〉+ R̃(t), ∀t ≥ 0 ���� R̃(t) ∈ O(t),


�� �� �
� �������� 〈qj , Api〉 ≥ 0� ���
��� ��� ���������� ��
�� t ≥ 0 �� �����

|R̃(t)| ≤ |〈qj , Api〉|.

������� λ := maxi,j λij ��������� ��� ������



�� ���� �����	
��	�� ���
������� ��	 ������
 �����

�� � ����������� �� 
���� ��� ���� �� 
���� ��! �" ��##�$�% "&�" �� Xr �� '�#(&� )�#
"&�� �" �� �#�� (A − λI)
��*�)���"� +���)"���"�#(% ���"&�) "&� #���"��� �� � '�#(&� )�#
���� Xp ��) "&�  �"�)����"��� �� Xr �� '�#(&� )�#% �� �� ���( ��#*�,#� ')�,#�� �� "�
"&� ��"&�)� -��$#� .� "&�)� �/��"� �� �(�"���"�� $�(�

�� �/��'"��� �� "&� ���� �� � ����� 
�) �) �(�"��� �� "&�� ���� $� -��$ �)�� 
����
��0 �� �&��)�� ��� "&�" Xr �� �#$�(� '�#(&� )�#�

��������� ��	 
������ ��	 
��
�	 ��	�� ��������������

����� ����	 
�� ��
���	����� ������
��� �������� ������ �
� 
 �������� ��
���
�����

�"�##% �� "&� *��$ �� '���"�*�"( ')���)*��. �� �# �) �) )� ��"���% "&� ���� ')�,#��� $�##
)����� �� "&�� �" �� ��)� � *���,#� "� �"��- "� "&� ')���)*�"��� �� "&� ��")�/ ')�'�)"���%
�� $� $�##  � ��$ "� .�" �� �/'#���" �/')������ �� � ����� 
�) �) �(�"���

���� ������	
���� ��
���
���� 
�� �����
� �
���

�� "&� ��##�$��. $� $�## �&�$ �� ���( $�( "� .�" � ����� 
�) �) '���"�*� )��#�1�"��� �� 
 ������ ���� �'����# ����� �� &�.&�)  ���������# '���"�*� )��#�1�"�����
2( ����"��� �3�4� �� "&� )�#�� ��) 
�'#��� ")�����)��"��� $� -��$ "&�" $� ��� $)�"�
��( � ���)�"�
 �� ���"������
"���� ")�����) ����"���%

G(p) =
β1p

n−1 + β2p
n−2 + · · ·+ βn

pn + α1pn−1 + · · ·+ αn
,

�� � ��)��� �� 5�)-�* ���6����"�

G(p) =

∞∑
i=1

gi
pi
. ���7�

�''#(��. '�#(�����# #��.  �*����� �� G(p) �� ���'�)��. "&� ���6����"� $�"& ����"���
���7� (��# � "&�" ��) "&� 8)�" � 5�)-�* ���6����"�9:;

βi = gi +
i−1∑
k=1

αkgi−k, i = 1, . . . , n. ���4�

����. ���( ��������# )��#�1�"���� �� � ����
")����) ����"��� G(s)% "&� ���" $�##
-��$�
�)� "&� ���������� 	�
�
�	�� ���


Ao =

⎛
⎜⎜⎜⎜⎜⎝

0 0 · · · 0 −αn

1 0 · · · 0 −αn−1

0 1 · · · 0 −αn−2
���

���
���

���
0 0 · · · 1 −α1

⎞
⎟⎟⎟⎟⎟⎠ bo =

⎛
⎜⎜⎜⎜⎜⎝

βn
βn−1

βn−2
���
β1

⎞
⎟⎟⎟⎟⎟⎠ , co =

(
0 0 · · · 0 1

)
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��� ��� �����������	 �����
��� ����

Ac = AT
o , bc = cTo , cc = bTo .

������ ����� ��� ��������� �� !�" ��� � �#��� ��� �$ ��� ���� �����%  ����&������ ������

����� ���� ��� ���� 
����� ���� '()" ����� ������ �� ����* � �! ��� + �� ��� ,*
������� ����� �� �-$����� .��/0�
��� 1� 2�3 �� ! �� %�3�� ,*

AM = Ao, bM =

⎛
⎜⎜⎜⎜⎜⎝

1
0
0
���
0

⎞
⎟⎟⎟⎟⎟⎠ , cTM =

(
g1 g2 · · · gn−1 gn

)

��� ��� �$�� ,*

AM∗ = AT
M , bM∗ = cM , cTM∗ = bTM .

�,�� 3�" ,* ��� 4 ��� �� ���� �! ��� ���� �� �����  ����&������ �� �$���,�� �� � ������$�$�	��!�
4�����3� �*���!" ����� �� ���� ���� ��� ��� ���%���� ��� ��� ��3� �� ,� �!���� ���� 5�
6� �$�����* �� � ���� ��� �*���! �� ���* ���� A � 0�

������� ��	

��� G(z) �� ��� ����	
�� 
����
�� �
 � �
	����� ���������� ��	
�
�� 	�	��� �
�� αi ≤ 0�
i = 1, ..., n� ���� ��� 	�	��� 
	 ��	
�
���� ����
����� �
�� �
���	
�� � �� ��� ������

��� ��� 
�	 ��������

6� � 4�����3� ������$�$�	��!� �*���! (A, b, cT ) �� ������� ,* ��� ��+������ �� � −M 	!�� �#"
���� ��� � !$�� �#��� �� γ > 0" �$�� ���� A+ γI � 0� 7����" ��� �*���! (A+ γI, b, cT )
4�������� �����%���3� 1� 2�3 ���8������ ��� ��� � ����� �$������ �� %�3�� ,*

Gα(s) = cT (sI −A+ γI)−1b = cT ((s− γ)I −A)−1b = G(s− γ).

�44�*��% ��!!� ��9 ����� �� ��� ��������% ���� �!�

������� ��


��� G(s) �� ��� ����	
�� 
����
�� �
 � ����
����	��
�� ���������� ��	
�
�� 	�	����  

����� ��
	�	 �� γ > 0� 	��� ���� ��� ������ ���!�
���	 gγi �
 G(s−γ) ��� �����"��
��
��� ��� �����	����
�" αγi ��� �����	
�
��� ���� ����� ��
	�	 � ��	
�
�� ����
���
�� �

�
���	
�� �����
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���
���
�� ��� ����
�� �����

�������� γ ������ �� ������ ����������� ���!"� #� ���� ���� � $��%�� &��" '�������

�����(����� (AM , bM , cTM ) �& G(z − γ)� ���� ��� '������� ������!�!�	��"� �����(����� ��

)���� �� (AM − γI, bM , cTM )� *� ���%��) �� ��� $��%�� &��" #� ������� ���� ��� ����� �&

AM − γ �� )���� ��

tr(AM − γ) = −(n− 1)γ + (−γ − α1) #��� α1 ≤ 0.

�����+!������

γ = − tr(AM + γ) + α1

n
≥ − tr(AM + γ)

n

��, #� ���� &�!�, � ��#�� ��!�,� ����� ��� ����� �& � "����- �� ��������� !�,�� ��"�������

�����&��"������ ��, �+!�� �� ��� �!" �& ��� ��)�����!��� #� ��� �����!,� ��� &����#��)

���!���

������� ��	

������ G(s) �� ��� �	
����	 ���
���� �� 
 
�������������� ����	�
��� �������� ������


�� ���	� ������ 
 γ > 0� ��
� ��
� ��� �
	��� 
���
����� gγi �� G(s − γ) 
	�

������
���� 
�� ��� 
�		��������� αγi 
	� ������������ ���� �� �
� �� ����

γ ≥ − 1

n

n∑
i=1

pi,

���	� pi ������ ��� ����� �� G(s)�

��# ��� !� �����,�� ��� �����,	��,�� ����� ��������� ��. ����� !�� ���� ���� �-��������

'������� �����&�� &!������

G(s) =
β1s+ β2

s2 + α1s+ α2
/��01

��� �� '��������� �����(�, #��� � �����	�'��� ,�"������ �+!�� �� �� *� ��""� .�� #�

%��# ���� ��� ,�"����� '��� �& G(s) ��� �� �� ���� ��, �����&��� G(s) �������� �& �#�

���� '���� p1, p2 < 0� ����� G(s− γ) ��� ���� �� #������ ��

G(s− γ) =
β1(s− γ) + β2

(s− (γ + p1))(s− (γ + p2))

�� &����#� &�� αγ1 ��, αγ2 ����

αγ1 = −(γ + p1)− (γ + p2) = −2γ − (p1 + p2) ��, αγ2 = (γ + p1)(γ + p2).

�������� ����� αγ1 , αγ2 ≤ 0� αγ1 )���� ��� ��"� ���,����� �� ������" ��2�

��� γ := −p1 + p2
2

����

αγ2 = (−p1 + p2
2

+ p1)(−p1 + p2
2

+ p2) = (
p1 − p2

2
)(
p2 − p1

2
) = −(p1 − p2)

2

4
≤ 0,
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�� ����� ��

��� ���� �� ����� � �������� ��� �!����� "�#�� $%

AM =

(
0 (p1−p2)2

4
1 0

)
, bM =

(
1
0

)
, cTM =

(
gγ1 gγ2

)
.

��"����� ���� �&������ '��() �� "�� ��� ��  ����" ����������	��*� +�����#� ��� �	!�����

Ap =

⎛
⎝p1 + p2

2
(p1−p2)2

4

1
p1 + p2

2

⎞
⎠ , bp =

(
1
0

)
, cTp =

(
β1 β2 − β1

p1 + p2
2

)
. '��,-)


� ���% �� ���� ���� ������� ��� �!����� �� G(s) �� "�#�� $%

Ap =

(
p2 0

β2 + β1p1 p1

)
, bp =

(
1
0

)
, cTp =

(
β1 1

)
.[.] '��,,)

����� β1 > 0 $% �&������ '��() ��� p2 ≤ p1 < 0/ �  �� ���� �� #����% ��� ������� 

+�����#��% �� ����

β2 + β1p1 > 0.

���� �� �&��#� ��� �� ���� ���� p1 > −β2

β1
� ����� −β2

β1
��+������� � ��� !��� �� ��� �%���*/

��� ������� +�����#��% ��  ��� $% ��**� ,���

������/ ��� $��� ��� �!������ �� �#��� �� ���� ��� �����"���#��% �� ��� �*+� �� ���+�����


� ��*+������ �� ������* ���/ �� � �� �� ��� ���� �� 0�� ��� $��������� �� Xr� ����/

�� ����� �� ������� ��� *��� �++ ���$ � +���� ��� ��� �&��#� ���� �� �1����� ��� ������� 

+�����#��% ��� ������	����� ����������	��*� �%���*��

������� ��	 
������ ����� 	�
���
� ������������

��� G(s) �� � ����	
���
�� ���	�
�� 
�	����	 ����	 �� �������	 ������ ���	 G(s) ��

�����	���� �������� �
 �	
 �	�� �
 β1 > 0 �	
 ��� ������ ��������� � ���� 
���	�	� ����

p1 ���� ���� β2 + β1p1 > 0�

�
 G(s) �� �����	���� �������� ���	 �� ��������� �	 �	���	���� �������� �����!����	 ����	

�	 ���"#� �� ���""��

�  ����� +��$ �*� �� +�����#� ��� �!�$� ��%/ ���� �� ��#� ����������� �� ���� ������� ���

��� ������� $�����/ ��� $�����  % ��� *��� ��2�� ���� �� ��#� �� ��� ����/ ���� �� ����

�� +�����#� ��� '������� ) +�����#��% �� � �%���* ����� +�����*��" *��� ����� ����������

��+����  % +��$ �*���� ��/ ���� �#�� �� �� ��#� �� �1�����  % +�����#� ������� �%���*/ ��

������ ����*��� ���  ��"� ��� +�����#� ��� �!����� "���/ �� ���� �� �1�*+ � ��,�
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	��������� �� ��	 H∞���
��

��	 	���	�� ��� �� �	
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� ��
	� �

	
 
	
������ �� �� 
	���	 ����	����	�� ������
������	
��
 �����	
����	 ����	� �� �

	
 �� ���� � ������� 
	���������� �� ����� ���� �	���
������� 	��	 ���� �	����� � 
	��������� ���� �
	������ 
	������	 ��
 ���	
����	 ����	�
���� �
	� ��� �	 ���	
�
	�	
 ��
 �	�	
����	
 ���� ��	 �	�� �� 	�	
�� ��������� ��

 ������ 	!��������

�� �� � �	���"���� 
	����� �� �	 
	#�	 P ��

AP + PAT = −BBT , σ(A) ⊂ C
− $%�&'

P =

∫ ∞

0
eAtBBT eA

T tdt, $%�('

��	 
���	 rg(P ) �� P �� 	!��� �� ��	 
	������	 �������	� P �� ����	
 ��	 ����������	�	�

����	��� ��	 ���	 �����
	
����� ��� �	 
��	 ��
 ��	 ���	
����	 �������	�

 	� Q �	 
	#�	
 ��

ATP + PA = −CTC, σ(A) ⊂ C
− $%�%'

Q =

∫ ∞

0
eA

T tCTCeAtdt, $%�)'

��	� rg(Q) �� ����� 	!��� �� ��	 ���	
����	 �������	 ��
 Q �� ����	
 ��	 
�������	�	�


����	���

��	 	!������� $%�&' ��
 $%�%' ���	 ��������� �� ��
�
	�� ��� �� �	������ ��	��	
 �
����	� �� ����
������	*���	
����	 ��
 �
	 ���	
 ���	
 ��� 
�����	
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	 	��	������ ����
���� �� ��	 ����	+� �� ���������� ����� �	 ����
�� 	+����� ���� ��	 �	+�  	����

()



�������� �	
�����
� ��

����� ���

��� P �� ��� ���	�
�� ��

AP + PAT = −H, �����

����

�
 �(λi(A)) ≤ 0 
� P > 0 ��� H ≥ 0

�
 �(λi(A)) < 0 
� P > 0 ��� H > 0�

����� λi(A) ������� ��� i��� �
������	� �� A
����

����� � ��� v �� �� �����	�
��� �� �
� �����	���� λ �� AT � ���� AT v = λv� �
�� �� ����������

v̄T (AP + PAT )v = 2(λ̄+ λ)v̄TPv = −v̄THv ≤ 0

��� ���
� P > 0 �� ������� �
�� λ̄+ λ = �(λ) ≤ 0�

������� ��� �����	�
 �� � �
���
�� �����	�
 �� 	
 ����� 	� �
	��� 	� �
� �
�
 	�
λi(A) + λ̄j(A) �= 0, ∀i, j� ��
��� ��� �����	�
 ��
 �� ����	
�� �
 ����	
� � �
���� ��
�����	�
� �
� 	� 	� 
�� ����	��� �� ����� ��� 	
������ ����	�	��
� �!"

��� �� ������ ��� �	����	�
 �� �
 �
��
��������� �
���� (A,B,C,D) #	�� $�
�������	�	�


%���	�
 P =

(
P1

0

)
� P1 > 0� &
����	
� P 	
�� �����	�
 ���'� �
� ����	�	�
	
� ���

�
���� ����	��� A� B �
� C� ����� ��

0 = AP + PAT +BBT =

(
A11P1 + P1A

T
11 +B1B

T
1 P1A

T
21 +B1B

T
2

A21P1 +B2B
T
1 B2B

T
2

)
⇒ B2 = 0, A21 = 0.

$�
�����
��
� ��� ���
���� ��
��	�
 G(s) = C(sI −A)−1B +D = C1(sI −A11)
−1B1�

��� ������ 	� 
�� �����	�	
�� ��� #� ��
 ��� ��# �	���� 	� 	� �� ������ �
��
���������
������ �� � �
���� #	�� ��� ���� �� �
���
�� �����	�
�� (	
�� ��	� #	�� �� ��� ����
�	��
	��� �� ��	� �������� #� ������	)� 	� 	
 ��� �����#	
� ������



�� �������	 
�����
���

����� ���

��� (A,B,C,D) �� ��� �������	�
� ����
���
�� �� � ������ ������ �
�� �������� ���
�
��

G(s) ��� ����������
�
�� ����
�� P =

(
P1

0

)
� P1 > 0� ����
�
��
�� ��� ������

�

���
�� �� � 
���

A =

(
A11 A12

A21 A22

)
, B =

(
B1

B2

)
, C =

(
C1 C2

)
,

��
� ����

A11P1 + P1A
T
11 = −B1B

T
1 ,

AT
11P1 + P1A11 = −CT

1 C1,

������� 
� � 
����������� �������	�
� ������ (A11, B1, C1, D)� ��

� 
� ���� � ����
���
��
�� G(s)���� 

������� �� ���
����� 
�� ����� �� P ��	 Q =

(
Q1

0

)

�� ���� ��� �� 	���� �����

���	� 
� �� ���������� �
�
������� �������
��� (A11, B1, C1, D) �� G(s)�

����	� 
�� ����� �� P � 
�� ��
����
��� ������
� �� 
�� ���
���������
� �������� �� 
��
��
�����
�
���� 
��
 �
 �������� ��� 	� ���
 �
 �� 
� ����� � ���
��� �
�
� �� � �
����

���
���

����� ��� �������� �� �	�	
�� ��
���	

��� x0 �� � ���
����� ������ 
��� x0 ∈ rg(P )� !���� ��� 
������� �� �����
�� ��� ������

���� � �� x(0) = x0 �"�� ��� 
����"�� ] − ∞, 0]� u(t) = BT e−AT tP �x0 �
�
�
��� ���
������ Ec(u) =

∫ 0
−∞ ‖ u(τ) ‖2 dτ = x0P

�x0��#$ 


�� ��������
��� �� 	��� ���� 
�� ��
����� ]−∞, 0] ��	 
��� ��� �������� ���
���� �
������

�� ���
�� 
� x0 ���� �� ��
����� [t1, 0]� ��
� t1 < 0� ��� �����	���	�
!��
���� P � 	���
�� 
�� "�����#������ ����	�������� �� P � ����� �����
� ���� �
� $�������
%���� &��������
��� ��

P = UT

(
Σ 0
0 0

)
U, Σ = diag

(
s1, . . . , sn

)
, s1 ≥ s2 ≥ · · · sn > 0, U−1 = UT

��	

P � := UT

(
Σ−1 0
0 0

)
U.



�������� �	
�����
� ��

������ ��������� 
� ��� ��������
�� 
� P � ���	� �	� ������ 	��
�	��� �
	� ���	�� �
���	��
�
 
���	� �
 	���� ����� �
�� ��� ���� �

�� �� �
 �	����
	� ��� ������ ���� x = Uξ�
	��
����� �� ��� ������ (Ã, B̃, C̃, D̃) := (UTAU,UTB,CU,D)

{
ξ̇(t) = Ãξ(t) + B̃u(t),

y(t) = C̃ξ(t) + D̃u(t),

���� ����
��� �
��	
���������  	����� P̃ = UPUT =

(
Σ 0
0 0

)
�

���� P̃ � =

(
Σ−1 0
0 0

)
��� Ec(u) = ξT0 P̃

�ξ0 =
1

si
�
	 ξ0 = ei� ���	��
	� ��� ��!��
� ��

�������� ��
1

sn
� "� ��� �
���
�� �
 �	
���� �� �
	 
��
��	
������ ������ ��� �
��	���

��
�� ������ ξi� ���� �
		���
�� �
 ����� ���
�� �� P̃ � ���� �

�� ���� �
 � ������ ������
#$���� %�&'� �
� �� ���� ����� ���
 �
 � ��	� ��� H∞(�		
	 ������� ��� 
	������ ���
��� �	
������ �������)%*+

��� ���� �
�����	���
� �� ����� �
	 ��� 
���	�������� 
� � ������ ��� �
	� ��,
����
� ����� ��� 
� ��� ������ 

��
�� ��� �����	 �� �� �
 
���	��� -� x(0) = x0 ���
��� ���
����� �
 
���	�� ��� �� ��� ��� ���
� u ≡ 0� ���� ��� 

��
� 
� ��� ������ �� ����� ��
y(t) = CeAtx0� .� ���
	� �
	 u �� �
�����	 ��� ���	�� Eo(y) 
� y�

Eo(y) =

∫ ∞

0
y(τ)T y(τ)dτ =

∫ ∞

0
xT0 e

AT τCTCeAτx0dτ = xT0 Qx0

��� �
��� ��� ������	 xT0 Qx0� ��� ��	��	 �� �� �
 
���	�� x0�

.���
�

� �
 P � �� �

�� ����� ����
����/� Q = UT

(
Σ 0
0 0

)
U ��� �	����
	� ���

������ �� x = UT ξ ���� ��� 0���	��������  	����� Q̃ =

(
Σ 0
0 0

)
� 1��
	�
������� ���

��������
� 
� ������� ����� �	� ��	� �
 
���	�� #����� Eo'� ��� ���� �
 � ��� H∞(�		
	 ��
�����)%*+

������� �	
 #���� �	
�����
� 2		
	'
$��

G(s) :=

⎛
⎜⎝

4

s+ 1
0

0
4

s+ 1

⎞
⎟⎠

�� � ������ ���� � �����(����� 	��	��������
�

A :=

(−2 0
0 −2

)
, B :=

(
2 0
0 2

α

)
, C :=

(
2 0
0 2α

)
.



�� �������	 
�����
���


��� �
 �� ���� 
� ���� 
��
 
�� �������� ��� ����� ��

P =

(
1

1

α2

)
, Q =

(
1

α2

)
.

���������
��� 
�� ������ 
�� �����	 �
�
� 
� ������������� 
�� ������ �
 �� 
� ��������������

�����
��� 
��� �
�
� ���	� 
� � ���
��

A := −2, B :=
(
2 0

)
, C :=

(
2
0

)
,

��
� 
������� ����
���

G1(s) :=

⎛
⎝ 4

s+ 1
0

0 0

⎞
⎠ .


��� �� 
������  � �
 �������� 
��
 ‖G‖∞ = ‖G − G1‖∞ = 4� ����� ����� � ����
���
����� ��  !! "�

#�
���� Eo(y) =
∫∞
0 y(τ)T y(τ)dτ �� ��
���� ���� 
��� 
�� ������ $��	��
 �� 
�� ����%�����

&�����
 '$��� L2 ()!*� �� +�������� ������� (� * �� ��� 	������� 
��� �� 
�� ���������
	����� ��

‖y‖22 =
∫ ∞

0
ȳT (τ)y(τ)dτ =

1

2π

∫ ∞

−∞
Y

T
(iω)Y (iω)dω =

1

2π

∫ ∞

−∞
‖Y (iω)‖22dω,

����� Y (iω) = F [y(t)] 	���
�� 
�� ,������%
���������
��� �� y(t)� -� ���	� 
�� ����
����
����� 
��
 
�� 
�
�� ������ �� � ������ �� 
���%	����� �� ����� 
� �
� 
�
�� ������ ��
��������� 	������
.���� 
��
 Y (iω) = G(iω)U(iω)� �� ��� ������	� 
�� ��������� ��������
�

‖y‖22 =
1

2π

∫ ∞

−∞
‖Y (iω)‖22dω ≤ 1

2π

∫ ∞

−∞
‖G(iω)‖22‖U(iω)‖22dω ≤ ‖G‖2∞‖u‖22.

/������� �� ������� �
 
�� ,������ 
���������
��� �� � �������	

F (sin(ω0t)) =
√
2π

δ(ω − ω0)− δ(ω + ω0)

2i

��	 
�� ����%����� $��$��
��� �� δ(t) �� �� ����
��� ��0� �� 1�	 �� ��$�
 
� ���� ������
�
�
 
�� ��2���3��� ��������� ω0 �� � '-'/%���
��� -� 
�� 4-4/%���� ���� �� ��$�
 ���
���� �� ����
���
�	 �� �����	����� 
�� '������� 5���� 6����$���
��� �� G(iω) �� 	���
�� ()!*� 
���

‖G‖∞ = sup
‖u‖2 �=0

‖y‖2
‖u‖2 . 7)�89

'���� 
��� ���
 ���� �� ���� ��$��
��
 
� $���� 
�� �����%����	 �� � 
�����
�	 ���
���



���� ������	� 
�����
� �	�������� ��

���� ������	� 
�����
� �	��������

��� ������� ���� ��� ��� �!���! ��"��#���� #����#��� � ��$��" �%& ��#� #  �#�� �����

� �#�! �� �� ��$� !�� ��� ���! �� �� �#�! �� ��#�� #�! $��� $�� #� ��� �'"����% ���

��(������� �)  �#�� & ����� #�� �#�! �� �� ��$� #�! �� ��#�� #� ���  #�� ����& � ��� ���%

)�# ���� �#%� ��� ��#! " �� ��� ������� �) ��������� #  % ���& ����� � �# �! �� ���

)�������( ��������

������� ��	 
��������� �	��
��	
����� ���	�� �

��� � ��� � 	� �
� ���
 �������� ������������ ��������� ���� ����� ������ �
���������
�� ������ � ���� ����

Pb := T−1PT−T = diag
(
Σ,Σp, 0, 0

)
, Qb := T TQT = diag

(
Σ, 0,Σq, 0

)
,


��� �������
 Σ� Σp� Σq > 0 ��� 

����� � �� ���� ���	 
�� ����
 
�� 
�� ���� P,Q > 0 ��� ��
�� �
���	��� 
� �����
��
 P �� ���������� �� �������� ����� ���������
��� ��
�

P = UΣPU
T ,

��� �����
L := UΣ

1
2

P .

 � ���
��� �������� ����� ���������
��� �
 LTQL ��
�

LTQL = V Σ2V T ,

��� 	� �����
T := LV Σ− 1

2 .

!��� �
 �
 �
�����

��	��� 
� "���
� 
��


T−1PT−1 = Σ
1
2V TL−1LLTL−TV Σ

1
2 = Σ

���
TTQT = Σ− 1

2V TLTQLV Σ
1
2 = Σ

��� P #�! Q �� ��� *�#��#� �) # ����#�  % ��� (A,B,C,D) #�! T ��� ����� ���!��(

�#���+ (�$�� �� ������� ���� ��#� )�����( ���  % ��� �% ��� �'"#���� x = Tξ �� "�� 

�� ��� ���  �#��, �#�� ����� ���#����

(Ab, Bb, Cb, Db) := (T−1AT, T−1B,CT,D), -��./

���� ��� *�#��#� Pb #�! Qb # !�0��! �� ������� ���� ��� 1��� �#����� �� Pb #�! Qb

����� ���! �� "���������#��� #�! "��� ��$#���  �#�� & ����� �#� �� ��(�����! �����"�

�#" ��( #� ����� -2���� ����� ���/� ��" ��� ������#�� ��)���#���� � ��������! ��

Σ = diag
(
σ1Ik1 , . . . , σNIkN

)
, σ1 > σ2 > · · · > σN > 0, ki > 0, i = 1 . . . N -��3/



�� ���� ����	�
	 �����
�	 �
��
�����

��� {σ1, . . . , σN} ��� ������ ��� ������ ��������  ����! "# (Ab, Bb, Cb, Db)�

�$!��%�&

PbQb = T−1PQT =

(
Σ2
1

0

)
⇒ {σ2

1, . . . , σ
2
N} = σ(PQ) \ {0} '��()

��� ��� �"��*�! "# T ��%� �" $� �����%���"�! "# PQ�

+�����, -� ��� �$�� �" ������#, !����!& -���� ��� $"�� ���� �" ����� ��� �" "$!��%��
� !����.!/��� �����0���"� (Ab, Bb, Cb, Db)& /"!!�!!��� ��� ��������� 
"���"���$����, ���
�$!��%�$����, 1��*���! �! ���� ������ � �������� ����	
��	���

��� 2��� !��/ �! �" ������ -���� !����! �" �������� ��� �" /������"� ��� !,!��* ���"�����
�" ��"!��

�# "�� $������� !����.!/��� !,!��* �! ��%�� $,{
ξ̇(t) = Abξ(t) +Bbu(t),

y(t) = Cbξ(t) +Dbu(t),

-� ��"-& !����! ���� �"���!/"�� �" !*��� ������ ��������  ����! ��%� ��� ���!� ��3�����
��� ���!� ��� !*����!� ���"� -��� ���������� �����& ��� 4��!��"� ���� �! ��#� �!& �"- $��
��� ���"� *���� $��"*�� �� ��!-�� �" ���! ��! $��� ��%�� ���� �� 5678 ��� 5��8�

������� ��	 
�������� �	
�����
� ��� �		
	 �

���

������� (Ab, Bb, Cb, Db) �� �	� 
���
��� ����������
 �� �
 �������������� ���
�� ������

���	 ���
���� ��
����
 G(s)� ������
� Σ = diag
(
Σ1,Σ2

)
�

Σ1 = diag
(
σ1Ik1 , . . . , σrIkr

)
,Σ2 = diag

(
σr+1Ikr+1 , . . . , σNIkN

)
�
� 
����� �	������ ������ σ1 > · · · > σr > σr+1 > · · · > σN > 0�

��������
�
� �	� ������ �������� Ab� Bb �
� Cb �������
��� �� Σ1 ������� �
 �

���
����� ������ (Ar, Br, Cr, Dr) := (A11, B1, C1, D) ���	 ���
���� ��
����
 Gr(s)
�	��	 �� 
���
���� ��
������
��� �
�����
�� �
� �������������� ���
���

��������� �� 	���� ��� �	� H∞������

‖G(s)−Gr(s)‖∞ ≤ 2

N∑
i=r+1

σi. '����)



���� ������	� 
�����
� �	�������� ��

����� � ����� ���	� A �� 
���
����	
��� ��
��� 
�� Σ > 0� �� 
����� ��
��	����� ��
� (A,B)
�� 	�������
��� 
�� (A,C) ������
���� �		������ �� ����
 ���� ���� �� ��� 
 ������	�����
�
���������� ��� ������ ����(

ξ̇1
ξ̇2

)
=

(
A11 A12

A21 A22

)(
ξ1
ξ2

)
+

(
B1

B2

)
u,

y =
(
C1 C2

)(ξ1
ξ2

)
+Du,

����� ��� ����	�� ������

ξ̇r = A11ξr +B1u,

yr = C1ξr +Du,


�� ��� ��������� ��

���� ���
�����

A11Σ1 +Σ1A
T
11 = −B1B

T
1 , ���  !

AT
11Σ1 +Σ1A11 = −CT

1 C1, ��� �!

A21Σ1 +Σ2A
T
12 = −B2B

T
1 , ��� �!

AT
12Σ1 +Σ2A21 = −CT

2 C1. ��� "!

#��	� B1B
T
1 ≥ 0 �� ������� �� ����
 �� ��
� A11 �� 
 ��
��� �
���$� ��� ��� �� 
�����

����� �$���� 
 
����� ��
���
�� ������
��� iω �� A11 ���� 
� ������
��� 	����	��� �� ���
�
���$ V � ����

A11 = iωV 
�� V
T
AT

11 = −iωV
T
.

%� �����
����� ���
���� ��� �! ���� ��� ���� ���� V
T

�� ���� ��� ����� ���� V �� ���

iωV
T
Σ1V − iωV

T
Σ1V = −V

T
CT

1 C1V ⇔ V
T
CT

1 C1V = 0


�� ���	�
C1V = 0. ��� &!

'���� �����
����� ��� �! ���� V ���� ���� ��� ����� ���� ������

AT
11Σ1V = −iωΣ1V 
�� V

T
Σ1A11 = iωV

T
Σ1. ��� (!

)���� ����� ���
����� 
���� �����
����� ���
���� ���  ! ���� ��� ���� ���� V
T
Σ1 
�� ����

��� ����� ���� Σ1V ��
�� ��

iωV
T
Σ2

1V − iωV
T
Σ2

1V = −V
T
Σ1B1B

T
1 Σ1V ⇔ V

T
Σ1B1B

T
1 Σ1V = 0


�� ���������
BT

1 Σ1V = 0. ��� *!

�� ������ ���� ������
A11Σ

2
1V = iωΣ2

1V ��� +!

�� �����
����� ���
���� ���  ! ���� ���� ��� ����� ���� ���� Σ1V � ,��������� ���� ��
��
Σ2

1V 	������� �� �������	���� �� A11 �� ��� ������
��� iω� ���	� �� ��� ����� ���� �$��� 

�
���$ M ��	� ��
� Σ2

1V 	
� �� �$
������ 
�

Σ2
1V = VM.



�� ���� ����	�
	 �����
�	 �
��
�����

�����������	 rg(V ) 
� �
 Σ2
1�

���
�
� �������� �
� ���� ��� ����� �
��
����� λ ∈ σ(M)

�
�� �
��
������ wλ 
� �����
Σ2

1V wλ = λV wλ,

��
�� �����	 ���� λ ∈ σ(Σ2
1) �
�� �
 �
��
������ 

 rg(V )� ��
��	 �� ��
 ������ V ����

M = Σ̂2
1

�
�� � �
���
�� Σ̂1	 ����� �
���
�� �
��
�� ��� ������ �� ����� ����
�

� �� Σ1� �������	 ��
����
��
���
�
 �� �����
�
 ������ �
�� Σ1V ���� ��� �
��� �� ��� ���� �����
�
 ���� �	 ����

A21Σ
2
1V +Σ2A

T
12Σ1V = 0.

!
�
���	 
� �� ����
��� �����
�
 ����"� �
�� Σ2 ���� ��� ���� �
� V ���� ��� �
���	 �� ��

��
����� �� �����
�
 ����#�	 ����

Σ2
2A21V +Σ2A

T
12Σ1V = 0. ����$�

%������� �� ����
��

A21Σ
2
1V = Σ2

2A21V ⇔ A21V Σ̂2
1 = Σ2

2A21V ⇔ (Σ2
2)

−1A21V Σ̂2
1

&���� �������
�
 Σ1 �
� Σ2 �� 
�� ���� �����
 �
���
�� �
��
�� �
� ��
�� ��� ����
����� ��� Σ̂2

1 �
� Σ2
2� %�
� ������ �� �
�� ��� ��
����
�


A21V = 0,

��
�� ������ �� �� ��
�� (
A11 A12

A21 A22

)(
V
0

)
= iω

(
V
0

)
.

'�� ��
� 
� � ��
����
��
�
	 �

�� �� ���� ������� & �� �� ��������
����� ������ �
�
��������� A11 ��

�� ��������� � ������ 
���

��� �
��
������ (�
�����
���	 ��� �������
������ 
� ��������
����� ������ �
�� ��� )���
�
� Σ1	 ��
�� ���� ���
�	 ���� (A11, B1) 
�
��
��������� �
� (A11, C1) �����������

*��	 �� ��+� ���� �� ��� ����� ���
� ���
���
�
� ��� ��
� ������� �� ����
�� ����� ��

ATΣ−1 +Σ−1A = −Σ−1BBTΣ−1.

!

�� (
Σ−1BBTΣ−1 −Σ−1B
−BTΣ−1 I

)
=

(
Σ−1B
−I

)(
BTΣ−1 −I

) ≥ 0

�� ��� (
ATΣ−1 +Σ−1A Σ−1B

BTΣ−1 −I

)
≤ 0

�� ���
����
��� (
ATΣ−1 +Σ−1A Σ−1B

BTΣ−1 0

)
≤

(
0 0
0 I

)
.

,���
�

� ��� ���� �
�� �� ��
� 

�����
�� ������� 



(
A B
I 0

)T (
0 Σ−1

Σ−1 0

)(
A B
I 0

)
≤

(
0 0
0 I

)
. ���-.�



���� ������	� 
�����
� �	�������� ��

��� �� �����
z(t) := A21ξr(t) +B2u(t),

	�� 	���
� ��	� ξ(0) = 0 	�� ξr(0) = 0� 
���������� ������ ���
 ��� ����� ����⎛
⎝ξ1 + ξr

ξ2
2u

⎞
⎠

	�� ���
 ��� ���� ���� ��� ��	������� ����� ����

⎛
⎜⎜⎝
ξ̇1 + ξ̇r
ξ̇2 + z
ξ1 + ξr

ξ2

⎞
⎟⎟⎠

T ⎛
⎜⎜⎝

0 0 Σ−1
1 0

0 0 0 Σ−2
2

Σ−1
1 0 0 0
0 Σ−1

2 0 0

⎞
⎟⎟⎠
⎛
⎜⎜⎝
ξ̇1 + ξ̇r
ξ̇2 + z
ξ1 + ξr

ξ2

⎞
⎟⎟⎠ ≤ 4uTu

�� �����	������
2(ξ̇1 + ξ̇r)

TΣ−1
1 (ξ1 + ξr) + 2(ξ̇2 + z)TΣ−1

2 ξ2 ≤ 4uTu ������

 � 	������� �	���	� ������	���� �� ���

2

∫ T

0

(ξ̇1(t) + ξ̇r(t))
TΣ−1

1 (ξ1(t) + ξr(t))dt = (ξ1(T ) + ξr(T ))
TΣ−1

1 (ξ1(T ) + ξr(T ))

	��

2

∫ T

0

ξ̇T2 (t)Σ
−1
1 ξ2(t)dt = ξT2 (T )Σ

−1
1 ξ2(T ).

!������������ ������	���� ���� ��� �����	���� ������ �����

(
ξ1(T ) + ξr(T )

ξ2(T )

)T

Σ−1

(
ξ1(T ) + ξr(T )

ξ2(T )

)
+ 2

∫ T

0

zT (t)Σ−1
2 ξ2(t)dt ≤ 4

∫ T

0

uT (t)u(t)dt

	�� "� ��� �������� ����������� �� Σ−1 �� ���

2

∫ ∞

0

zT (t)Σ−1
2 ξ2(t)dt ≤ 4‖u‖22. ������

# ��
��	� $�������	���� $	� "� ���� ��� ������ %�������� ��� ���	���� 	�

(
A
I

)T (
0 Σ
Σ 0

)(
A
I

)
= −CTC

	�� 
���������� �� ���
 ��� ����� ���� (
ξ1 − ξr

ξ2

)

	�� ���
 ��� ���� ���� ��� ��	�������� ��	�� ��

⎛
⎜⎜⎝
ξ̇1 − ξ̇r
ξ̇2 − z
ξ1 − ξr

ξ2

⎞
⎟⎟⎠

T ⎛
⎜⎜⎝

0 0 Σ1 0
0 0 0 Σ2

Σ1 0 0 0
0 Σ2 0 0

⎞
⎟⎟⎠
⎛
⎜⎜⎝
ξ̇1 − ξ̇r
ξ̇2 − z
ξ1 − ξr

ξ2

⎞
⎟⎟⎠ = (y − yr)

T (y − yr).



�� ���� ����	�
	 �����
�	 �
��
�����

�� ������ �	�
�	� �

���	
��
 ������

(
ξ1(T )− ξr(T )

ξ2(T )

)T

Σ

(
ξ1(T )− ξr(T )

ξ2(T )

)
−2

∫ T

0

zT (t)Σ2ξ2(t)dt ≤ −
∫ T

0

(y−yr)
T (t)(y−yr)(t)dt

	
� ��
�����

��

−2

∫ ∞

0

zT (t)Σ2ξ2(t)dt+ ‖y − yr‖22 ≤ 0. ������

������� 
��� �� ������� 
�� 
��
�	
��
 ������������ ��� �	�� �	
 �� ��
���	� !	����
�
	�
�
� ��
� 
�� �
	
�� ����
��
� 
� σN 	
� �	���
� 
�� 
��
�	
�� ���
�� GN−1� "��

�� �	
 	����� Σ2 = σNI 	
� �� ��
 �� ���
�����
� ������ ��
� σ2

N 	
� 	���
� �
 
� �������

�	


‖y − yN−1‖2 ≤ 2σN‖u‖2,
����� �� 	������
� 
� ���#� �����	��

 
�

‖G−GN−1‖∞ ≤ 2σN .

$� �%�	
��
� G−Gr 
� 	 
�������� ��� 	
� ���
� 
�� 
��	
��� �
���	��
�� �� ��


‖G−Gr‖∞ = ‖G−GN−1 +GN−1 + · · ·+Gr+1 −Gr‖∞ ≤ 2
N∑

i=r+1

σi.

����� ��� ����� ����� ���� ���� ������ �� ���  !�"�� �#�$��!� %!���� $#&�� �� '��()� ��
*����!��� ��� +���#��#*#�� ki �, σi #� ��� #+����!��� ��� #, ��� �����+ ��������� �#�$��!�
%!���� σi ≈ σj � -� *!���� !���+�� ��!� ��� #�.���*� �� ��� ����� ����� ����� -#�� ��
*���� �� 2σi� �����!� -� �!&� �� �/��*� 2σi + 2σj ≈ 4σi�

������� �	
 '
����  !�"�� �#�$��!� %!���� 0�12)
��� �� *���#��� ��� ��!��,�� ,��*�#��

G(s) =

n∑
i=1

bi
s+ ai

-#�� ai, bi > 0� ��#� #� ��&#����� ! ���#�#&� �����+ -#�� ‖G(s)‖∞ =
∑n

i=1

bi
ai
!�� !

��!�#3!�#��

A := diag
(−a1, . . . ,−an

)
!�� BT = C =

(√
b1 . . .

√
bn
)
.

���� �� '���) !�� '���)� #� ,����-�

AP + PAT = ATQ+QA = BBT = CTC,

-�#*� ��!�� �� P !�� Q -#�� ����#��

pij = qij =

( √
bibj

ai + aj

)
.



���� ������	
 ��
������� ��������� ��

���� σi = λi(P ) = λi(Q) ���

n∑
i=1

σi = tr(P ) =
n∑

i=1

bi
2ai

=
1

2
‖G‖∞.

�� �������� ai = bi = α2i � �!!��� P = Q → 1
2I �� α → ∞ ��� !� " #�" σi → 1

2 � ����
����� !� !���!� �� �# !�  ""�" $�����

�$� "% & ���'��� � ���! ( G(s) $� k& �� � G̃(s) := kG(s)& �'�� ���' � !� " ��� �)�"� "
���! ( ��� !� ���* ' +����'�" ,�'� � $� !� #��!�" k� ���� -� �!'� #�" � #�" % "�
�(�''.'�"� k& � �!!��� � % "� �(�''.'�"�  ""�"� �� �"� " !� / "#�"( � #��" ��(/�"����
� �  � !� ������ " !� " '�!�%  ""�"

‖G−Gr‖∞
‖G‖∞ ≤ 2

‖G‖∞
N∑

i=r+1

σi = 2

N∑
i=r+1

σ̃i, ��!� σ̃i =
σ1

‖G‖∞ .

0�" ���(/!�!�� �!�$�'�!� �! (���! $ �(/�"!��! !� !"����! �'' �!�! �& !��! ��"" �/��� !�
!� ��( ���* ' +����'�" ,�'� �

������� �	� 1
��!�$' ��'��� � �"����!���2
�� ���! ( (A,B,C) ��% � $�

A :=

⎛
⎝−2 0 0

0 0 0.5
0 −0.5 −2

⎞
⎠ , C = B = diag

(
2, 0, 2

)
,

�� �' �"'� � $�'��� � ���(/!�!���''� �!�$' ���! ( ��!� P = Q = diag
(
2, 1, 1

)
� ����& �#

� !"����! � ��'� !� !��"� �!�! & � ���'� �$!��� �� ���!�$' ���! (�

���� ������	
 ��
������� ���������

� ! T =
(
T1 T2

)
$ !� $�'������ (�!"�3 �# �� �" ( ��4& /�"!�!��� � ����"���� !� Σ1

�# �� �" ( ���& ��� T−1 =

(
S1

S2

)
� �� � !� $�'��� � ���! ( �� ��% � $�

Ab = T−1AT =

(
S1AT1 S1AT2

S2AT1 S2AT2

)
,

Bb = T−1B =

(
S1B
S2B

)
,

Cb = CT =
(
CT1 CT2

)
,

Db = D.

���� !� " ��� � ���! ( ��� $ �"�!! � ��

Ar = S1AT1, Br = S1B, Cr = CT1, Dr = D 1���52



�� ���� �����	
� �
�����
���� �
	
��
� �����
����

��� �� �������� ������� � ��!��"��# �$� �$�!� �%���& �� ��!% ���� �� '�� T1 ��� S1

���$ S1T1 = I� (�� P,Q > 0 �� ��� �� �$� )��� �� �$����& ��* $�� �� #�� �$�& ��

� �%���&���" ��%� �� "��� � P,Q ≥ 0� �� "�� )��"��� �� �!&��� �$� ��&� &����� ��

�"$���� � ��!��"�� ��+�"���� �%���&� ���$�+� ��!��"��# �$� ���#���! ����


� �� ���� P "�� �� ��"�&)���� ����

P = U

(
ΣP 0
0 0

)
UT ,

��� �� ��'��

L := U

(
Σ

1
2
P 0
0 0

)
.

�$� ��,����"� "�&)���� �� P > 0 �� �����+�!%� �$�� L ���� ��� $���  +!! ���-� �%

"���������# �$� ���#+!�� .�!+� ��"�&)������� � Q

Q = UQ

(
ΣQ 0
0 0

)
UT
Q

�� �� "!���� �$�� σ(LTQL) = σ(PQ)� �$+�� ���#+!�� .�!+� ��"�&)������� %��!��

LTQL = V

(
Σ2
1 0
0 0

)
V T .

	�� V =
(
v1, . . . , vNσ , . . . , vn

)
� ���$ Nσ := k1 + · · ·+ kN "�����)�����# �� �$� ���������

� �$����& ��/� �$�� �� "�� ��'�� �$� &����"�� T1 ��� S1 ��  �!!���

T1 = L
(
v1, · · · , vrσ

)
diag

(
σ1Ik1 , . . . , σrIkr

)− 1
2 ,

S1 = diag
(
σ1Ik1 , . . . , σrIkr

) 1
2

⎛
⎜⎝
uT1
���

uTrσ

⎞
⎟⎠L� = T �

1

���$ rσ := k1 + · · ·+ kr� ����"�� � �� "$���� rσ = Nσ� �� #��

S1PST
1 = Σ

1
2
1 V

TL�LLTL�T V Σ
1
2
1 = Σ1,

T T
1 QT1 = Σ

− 1
2

1 V TLTQLV Σ
− 1

2
1 = Σ1,

��� ��� +) ���$ � ��!��"�� ���!�0������ �$�� $�� ��+�"���� �!! +�"�����!!��!� ��� +���������!�

������� ���� � &���&�! ���!�0������

���� ������	
 ��

�
�	
��� �	�	���� �
���	
���


 )��)���% � ��!��"�� ��+�"������ �� �� $��� ������+"�� �� ���� �� �$��

lim
s→∞Gr(s) = lim

s→∞G(s).

�$�� �� ���% �� ��� ���"� Dr = D� 1��$ � ��� &��� "��� �� �� )�����!� �� #�� Gr(0) = G(0)
�������� &�����# �$�� �$� ���������% )��)���% �� )���������



���� ������	
 ��

�
�	
��� �	�	���� 

���	
��� ��

��������� ��	

������� �� �	� 
� �
� ���
�
�� �� �
��	�� ���� �
� ������ �� �
� �	������� ������

(A22, B2, C2, D) 
� ���� �������� ��� ��������
����� �������

����� � �� ��� ���� 	�
 �� ��
 A11�

��� �� ��������� ��� ����� �! �"���#$ %�� � ��� �����!" ���� ���! ��� ��� �� �����������
��! �����&���� ������$ �� '����%�(

ξ̇1
ξ̇2

)
=

(
A11 A12

A21 A22

)(
ξ1
ξ2

)
+

(
B1

B2

)
u, (��)*+

y =
(
C1 C2

)(ξ1
ξ2

)
+Du.

,� -��% ��� �"���# �� �� ���������" ����� �' ��! ���" �' ����� �� ��  ���.� �' ξ1 ��! ξ2
�'��� ��#� ��#� �� �/��&������"$ %��� ξ̇1 = 0 ��! ξ̇2 = 0� 
��� ����� ��. ξ2 �" ��� ����� 
������������ %��� ������&� ��� ���������" �������" �' G(s)� ������. ξ̇2 = 0 .�&��

0 = A21ξ1 +A22ξ2 +B2u ⇔ ξ2 = −A−1
22 (A21ξ1 +B2u)

��! �� %��� !�0��! �" ��������" ��1� ��������. ���� �2�������� �' ξ2 �� (��)*+ ������� �� �
��!� �! �"���#

ξ̇1 = Arξ1 +Bru

y = Crξ1 +Dru

%���

Ar = A11 −A12A
−1
22 A21, Br = B1 −A12A

−1
22 B2,

Cr = C1 − C2A
−1
22 A21, Dr = D − C2A

−1
22 B2. (��)3+


��� &�������� �' ����� �! 
��� �����$ ������&��. ��� ���������" �������"$ ��  ����!
�������� 	
��������
� ������
� ��������
� 4156 ��! ���&�� 
�����# ��) �� ���.�!� 7��
� ������ !����� ���� %� ��'�� �� ��� '����%��. �� ��� 0��� &������ �� �������� ������
�

��������
��

��  ������" �� �������� ������
� ��������
�$ %���� �� �� ��8 ���� ��  �� ����� ��� ���#�
�� (��)9+$ �������� 	
��������
� ������
� ��������
� ��/����� ��  �� ����� ��� ��� ���#�
�' ��� ����� �! �����:������ ��� � ����� �! 
��� ����� �� ��!����!��� �' ��� �����;��� �
�������������� �' ��� ���.���� �"���#$ %� <��� ���! ��  ����� rσ = Nσ �� ��� '��.���
�� �����

�
����� ��������"$ ������� �' ���� ����� �! 
��� ����� #����!� ������&� ��� ��"�� ���"
#�����. �' ��� ������



�� ���� �����	
� �
��	����� �� �������
 ����
��

���� ������	
 ��
������� �� �������	 ����	��

��� �� ���� ��� �����  !�" �� #��$�$%� �&���'�� �� (����!) �!)!���* �����!�$�� !##)$�*

�� #��$�$%� �&���'� *��� ��� ����)� $� #��$�$%� �����!��* �&���'�+ !� ,� �!� ��� $� �-�

��))�,$�( �.!'#)��

������� �	
 /���#��$�$%� 
�*���* �&���'0

	���$*�� �-� ��))�,$�( #��$�$%� �&���'

A :=

⎛
⎝−3 1 0

0 −4 1
0 0 −3

⎞
⎠ , B :=

⎛
⎝3
0
2

⎞
⎠ , C :=

(
5 4 1

)
.

�& ��*���$�� �� �����* ��*�� ,� � �!$� �-� �&���'

A2 :=

(−2.57 0.34
−0.34 −2.82

)
, B2 :=

(
4.13
0.27

)
, C2 :=

(
4.13 −0.27

)
,

,-$�- -!� #�)�� $� −2.70 ± 0.31i� �����*$�( �� ��''! 1�2+ �-$� �!����  � ! #��$�$%�

�&���'�

������� 3� !)��!*& "��, ! '$�$'!) ��#������!�$�� �� ! #��$�$%� �&���' *��� ��� -!%�

�� -!%� �-� �!'� !'���� �� ��!��� !� $�� #��$�$%� ��!)$4!�$��� �� ����+ ��()���$�( �-� ��!���+

�-!� ������#��* �� �-� 4��� '!��$��� $� Pb !�* Qb �!� -!%� �-� �5��� �� *�����&$�( �-�

#��$�$%� ��!)$4!�$��+ �-��(- �-� #����*��� *��� ��� �!��� !� ����� $� �-� ��!����� �����$���

�-� ��!��� ,-& ,� ���)* ��� ����$*�� �-� �!�$�� �!�� �� � 6 2 $� 
.!'#)� ��� $� !

�����7����� �� �-� ��.� �-����'�

���
��� �	� ��������� ��	�� 
	��	 �
�
���� �	���
�����

��� (A1, B1, C1, D1) �� ��� ����	�� 
��� ����� �
���� �������� �
 �������� �����	��

����	����� �� � �������� �
���� (A,B,C,D)����� (A1, B1, C1, D1) �� ����
� ��������
��� ��
������	���
 ������ ���� 
��� ����� �������� ����������� (A1, |B1|, |C1|, D1)�

����� � ��� P ��� Q �� ��� 	
�����
 �� � ��
����� 
�
��� (A,B,C,D)� ���������� ����� ��
��� ��������
 ����� ��� ������
�� ����������� � ��� !� "��!

eAt � 0 ∀t ≥ 0 ⇒ eAtB,CeAt � 0 ∀t ≥ 0.

#���� P ��� Q �
� ����������� ���
���
 ��� !� �������� PQ � 0� $� ���%� !� ������� ���
#��"�� &������
 '����
 �( � 
�
��� �
� ����������
 �( PQ ��� ��� ������
 �( T ����� ��
)���
�� �� ��

�
���� �� ��
 ����������

�
*� +

� ���
���
 ��� ��
� �( σ1 �
 � ������ #��"�� &������
 '����� �� )���
��  �, ���
�
���
�
 � ����������� 
����-����������
 v1 �� ��� ��
��
� ���������� σ1� ����

PQv1 = σ1v1 !��� T =
(
v1, . . . , vn

)
.



���� ������	
 ��
������� �� �������	 ����	�� ��

�� �� ������ �	� 
��� �� T−1 �
 wT
i � ���� T

−1 =

⎛
⎜⎝
wT

1
���

wT
n

⎞
⎟⎠ ��� 
����� �	��

Qb = TTQT =

⎛
⎜⎜⎝
Σ

0
Σq

0

⎞
⎟⎟⎠ ⇔ QT = T−T

⎛
⎜⎜⎝
Σ

0
Σq

0

⎞
⎟⎟⎠ ,

�� ��������

0 � Qv1 = w1σ1 ⇒ w1 � 0,

��� w1 �� � ����������� ���������������
 �� PQ �� �	� ���������� σ1�

����� �
 �	��
�� ����

A1 = wT
1 Av1 < 0, B1 = wT

1 B � 0, C1 = Cv1 � 0, D1 = D � 0.

�� ���� �� � σ1 ���	 �����������
 k1 > 1� �� 	��� ���� �� ������� ���� �	�� A1 = 0 �� ���������
 � �	� ��	�
 	���� ����� �	� k1��	 �
��
 
������ �
����� �	��	 ������� �� ��� σ1� �� ����
����

�� �	��
�� ��� ��
����������
 ������� �	�
� ���� ����� �� ����� ��� ��
����������
 ������

!
�� ���
���������� "� ���� �� �	�� ���� �	�� �� �	�� ���� ���������
 �� ����� �
���
����

"� ���
� ���	 �	� ����� �	�� PQ �� �

��������� #���� σ(PQ) �������� � �������� σ2
1 � ��

������� �
 �	��
�� $�%� �	�� tr(PQ) = 0� �	�� �� ��������
 � ����
��������� �	��	 �� �	

PQ ��� ���
 �� 
���������

�� PQ �� 
��������� �	�� �� ������� �
 &���� $�'� �	�� �	�
� ����� k1 �����
 �����������
����������� ����������
� �� �	� ���������� σ2

1 � ������ �� �� �	� ���� �� � ���(�� σ1 �� ���

������ �� ��
����������
 ������ !
�� �
��
 ���
��������� ���	 B1, C1, D1 � 0�

�� ��� �	� ����� �	��
�� $�� ��������� �	� �
����

������� ������� ��� �� �� ����� ! ��" "� ��#�� $!� "� ����%! � ���"%�$ "��� � ! �&�'

��%�& "���� ��� �( �)!�* �# +� "�%�& "� "�� �,�"�� �� 	( �)!� ��� "� -��" ��'��* "���

+� ���%!" ��  �,�"�� (A1, B1, C1, D1) = (−2.61, 4.16, 4.16, 0.03)�

�$���.�*  ��'%&�' ��'�� �,�"�� ���%!"��� �# � ! �&�' ��%�& "��� �� ��'�)��'��" �#

"�� �" "�/�) &� ��)�����" "��� �# "�� ������ ! �,�"��� 0��&�* ������� ��� ��.��  ��+

+ , �# "��"���* +��"��� �" �� )����$!� "� "  �,�"�� )������  )���"�.� �� !�1 "��� �� ��"�

��������� ��	

�� ��� ��� ���	
�� ���� ����� �
���� G1(s) =
1

(s− α1)
M �� � �������� �	�
���� G(s)

���� ��� ���� M � 0� ���� G(s) �� ��� � �������� �
�����

������� �, ��'%&��� "�� "�%�& "�' �,�"�� �# 	( �)!� ��� "� -��" ��'��* �" �� &!� � "� "

"��� & � ��!, $�  ��&��� �, &��'�"����



�� ���� �����	
� �
��	����� �� �������
 ����
��

������ �����	
� �
��	����� ���� 

��
	� �� �������� ��
�������
�

� ���� ����� ����� !"��!�# !� #�� �$%�&� �'()!�#�* �+ )�'���� �# 	,����� - %� %!$$ .!/�
�# � ��#�!�# �+ �,����" ��� �� ,!.,�� ������ !# )��� �+ � ����0�&���"�
��+��� ��!#. �� %� %�#� �� !#/���!.��� ��"� "��,��� �,�� ,�/� �$����& ���$� %!�, ,!.,��
����� ����� !"��!�#�� �#�!$ ����&* �,��� ��� �� �,� �'�,��1� 2#�%$��.� �,��� "��,���
345* 36�5 �#� 3775 )�#)��#!#. "���$ ����� ���')�!�# �+ ���!�!/� �&���"�� �,� "��,�� !#
3775 !� 8���� �# ��$�#)�� ��'#)��!�# %!�, �����)� �� �������� 	�
����
�

� �#� %!$$ 8�
�!�)'���� !# �,!� ��)�!�#�

�,� !��� !�* !#����� �+ )�#�!���!#. �,� �&��'#�/ �9'��!�#� :��6; �#� :���;* �� ��.���

AP + PAT +BBT ≤ 0,

ATQ+QA+ CTC ≤ 0, :��74;

%!�, P,Q ≥ 0�

�# �,� ��"� %�& �� +�� �,� <��"!�#� %� )�# ���$& �,����" ��6 �� �#& ��$'�!�# ��!�
(P,Q) ���!�+&!#. �,� �&��'#�/ �#�9'�$!�!�� :��74; �#� �8��!# � 8�$�#)�� �&���"

(Ab, Bb, Cb, Db) := (T−1AT, T−1B,CT,D)

%!�,

Pb = T−1PT−T = diag
(
Σ,Σp, 0, 0

)
�#� Qb = T TQT = diag

(
Σ, 0,Σq, 0

)
, :��7=;

+'$�$$!#.

AbPb + PbA
T
b +BbB

T
b ≤ 0,

AT
b Qb +QbAb + CT

b Cb ≤ 0, :��7>;

�#�

Σ = diag
(
σ1Ik1 , . . . , σNIkN

)
+�� ��"� σ1 > σ2 > · · · > σN > 0.

�# �,!� )��� %� )�$$ {σ1, . . . , σN} �,� �
�
���
�
� ����
� �
������ ����
�* 8�)�'�� +�� �,�
��'#)��!�# �,�& %!$$ �$�& �,� ��"� ��$� �� �,� ?�#2�$ �!#.'$�� ��$'���

�# +�)�* !� !� ����!$& ���#* �,�� �,� ����+ !# �,����" ��7 ���� #�� ),�#.� +�� �&��'#�/
�#�9'�$!�!�� �#� �,'� ���+��"!#. ��'#)��!�# �# (Ab, Bb, Cb, Db) %!�, �����)� �� �,��
�
���
�
�

����
� �
������ ����
� $��/�� �,� �����"�#�� �+ �,����" ��7 �#� 	���$$��& ��6 �$"���
)�"�$���$& !#/��!�#�@ �,� �!A���#)� !�* �,�� P �#� Q �� #�� #�)�����!$& �������#� �,�
)�#���$$�8$� �#� �8���/�8$� �'8���)�� �#& "��� �#� ,�#)� %� )�##�� ���'"� �,� "!#!"�$!�&
�+ �,� ��'#)���� �&���"� �!#)� �,!� !� �8/!�'�$& � .�#���$!B��!�# �+ ��$�#)�� ��'#)��!�#*
%� ��+�� �� !� �� �
�
���
�
� ������
� �������
���



���� ������	
 ��
������� �� �������	 ����	�� ��

�� ��� ����� �!"���� �# ��"$%��& ���'%"(����� )� *"�� "  �*!�� �# #!�� �+ ��"� "((�)�
%� �� %�� P "� Q �� ��"$� " ��!�"�� ,"("����* �!"��#�!+"���� +"�!�- T � �� �! �! ��
*%"!"���� " $�����&� �!%��"�� �����+. ��� /!�� � �" )�%( ,� �� *�� " +"�!�- T �%��
��"�

Bb = T−1B � 0 "� Cb = CT � 0.

��� �"����� )"� �� #%(/( ����� !�'%�!�+���� �� �� "��"�� " +"�!�- T � 0 )��� T−1 � 0�
���� ,!��*� %� �� ���  �/������ �# " ��!�"�� �("�� �# +"�!����. �"((� �������� ���	�
��

012�

��������� �	
 ��������� ���	�
�

��� A �� � �����	 �
�� ��� �� �	
������ �� �
� �����	 
������ A = πD� �
��� �
�� �������� ��� ���������� ��� π � 
���������� �����	� �
� �����	 A �� �
�� ������
�������� �� 
���	������ ��	�������� ���	���

�� ��� #�((�)��* ��++" )� )�(( ��� )�� ���� �("�� �# +"�!���� �� �� �+$�!�"�� #�! �%!
� �"�


���� �	�

�� A �� � ����������� �����	� �
�� ��� ������� A−1 �� ����������� �� ��� ���� �� A ��
������������

����� � ����������	 
���
 �� A−1 = D−1π�

����������	 �� A =
(
a1, . . . , an

)
��� A−1 =

(
s1, . . . , sn

)T
� ���� �� ��� �� ����

sTi aj =

{
1 �� i = j

0 �� i �= j

����� ai, si � 0 ∀i� �� ���� ���� �� �����
 ������������ �� {si, i = 1, . . . , n}� ���� ai ��������
�� ����� (n− 1) ��
��� 
����������� A �� � �������� ���
���

3���� �%! $!�,(�+ !� %��� �� /� P "� Q #%(/((��* 4��156. �%�� ��"� ��� ��*��&����!�
�# PQ �"� ,� !�$!������ ,� " $�!+%�"���� +"�!�-� ���� �� ��� �"�� �# "� ��(� �# PQ
��  �"*��"(� ��!�%�"��(� )� 7��) ,� ����!�+ ��1 4&6. �# A �� "� "��+$�����"((� ��",(�
8�8+"�!�-. ���!� �-���  �"*��"( +"�!���� P,Q > 0 �%�� ��"�

AP + PAT < 0 ⇔ ∃λp > 0 : AP + PAT ≤ −λpI,

ATQ+QA < 0 ⇔ ∃λq > 0 : ATQ+QA ≤ −λqI.

��"(��* P "� Q �� P̃ :=
P ‖ B ‖22

λp
"� Q̃ :=

Q ‖ C ‖22
λq

$!�&� �� %� )��� #�"��,(�  �"*��"(

��(%����� �� ��� ��"$%��& ���'%"(����� �� 4��156�



�� ���� �����	
� �
��	����� �� �������
 ����
��

��������� P̃ Q̃ �� �� !�" �  "�  ##���"! �$%�&%' ��( �% �� )$%" )�  '�"�'� � )& "�*�&' )��"
' )&�+ T = πT̄ ,�)$ �� !�" � T̄ > 0  "� #%&'�) )��" ' )&�+ π� �� *�& "�&' � � � "-%�
�&�"- )��" ,% !%)  � � "-%� ���)%' (Ab, Bb, Cb, Db)  � �%."%� �" /��01 ,�)$

T−1PbQbT =

(
Σ1

0

)
⇒ T̄ =

(
T̄1

I

)

 "� �%- ��% �* )$% #%&'�) )��" ,% - "  ���'% ,�����!� )$ ) )$% 2%"%& ��3%� 4 "5%�
��"!�� & � ��%�  &% �" �%�-%"��"! �&�%&�

���)�#���"!  −Z6' )&�+ ,�)$  #���)��% �� !�" � ' )&�+ #&%�%&�%� )$% ��!" �* % -$ ' )&�+
%�%'%")7 )$�� Ā := T̄−1AT̄ �� −Z6' )&�+� �) �� �)& �!$)*�&, &� )� �%%7 )$ ) )$��  ��� $����
*�& Ab = πTAπ  "� -�"�%8�%")�� (Ab, Bb, Cb, Db) ��  #���)��% ���)%' �� �$%�&%' (���
�������� ����	��
�� �* ��-$  ���)%' ��%���  "  ##&�+�' )��" (Ar, Br, Cr, Dr)7 ,$�-$
��  ! �" #���)��%7 �%- ��% Br, Cr, Dr � 0  "� Ar ��  −M 6' )&�+  � )$% #&�"-�#�% '�"�&
�*  −M 6' )&�+�

�$% � '% -�"-�����"� - " �% ��"% *�& )$% �
���
�� ���������
�� ����	��
��� ��"-%
A217A21 � 0  "� −A−1

22 � 0 �� �$%�&%' (�� /��17 ,% �%% �''%�� )%�� Br7Cr7Dr � 0
 � �%."%� �" /���91� �$% −M 6#&�#%&)� �* Ar - " �% �%%" �� "�)�-�"!7 )$ )

Ar = A11 −A12A
−1
22 A21

�� )$% �-$�& -�'#�%'%") �*  −M 6' )&�+: �) �� ,%��65"�," ;�<= )$ )(
A11 A12

A21 A22

)−1

=

(
A−1

r −A−1
r A12A

−1
22

−A−1
22 A21A

−1
r A−1

22 +A−1
22 A21A

−1
r A12A

−1
22

)
� 0 /���<1

 "� )$�� −A−1
r � 0� ��"-% −A12A

−1
22 A21 � 0 �) *����,� )$ ) Ar ��  −Z6' )&�+  "�

)$%&%*�&% �� �$%�&%' (�� /��17 Ar '��) �%  "�"��"!�� & −M 6' )&�+�
��& )$% &%��-%� ���)%' ,% - " ��'' &�3% )$% *����,�"! &%���)�

������� ��	

��� (Ab, Bb, Cb, Db) �� ��� �����	�
 �����
����� �� �� ���������	���� ������ ��������

������ G(s) ���� �����	� �� ��� �������� ������������ ����� �� ������ ��
 
�������

��������� Pb Qb ≥ 0 �� �� ����!�� "��� �����
���� �� ������� �������� #���
��


$����	�
 "���	����� �� #������� %����������� $����	�
 "���	����� ��� ��
�	�
&��
��

������ (Ar, Br, Cr, Dr) �� ����� ���������	���� ������ ��
 ���������

'�� ��� �����&����
 �� ���
� ��� ���� �� �� "������ ����

��)%7 *�& )$% -�'#�) )��" �* )$% &%��-%� ���)%'7 �) �� "�) "%-%�� &� )� -�'#�)% )$%
� � "-%� &% ��3 )��" �)�%�*� �%) ��  ���'% ,�)$��) ���� �* !%"%& ��)� T̄ = T̄1  "� �%."%

Ā := πTAπ, B̄ := πTB, C̄ := Cπ, D̄ := D.



���� ������	
 ��
������� �� �������	 ����	�� ��

�� ��������� T̄1� Ā� B̄ �� C̄ �!!"# ��� �" �$% �#&�!���"� !�� � ��%� ���"

T̄1 =

(
T̄11

T̄12

)
, Ā =

(
Ā11 Ā12

Ā21 Ā22

)
, B̄ =

(
B̄1

B̄2

)
, C̄ =

(
C̄1 C̄2

)
,

'% !�� #%'#��% �$% #%�&����� (����!% ����%) ��

˙(
ξ1
ξ2

)
=

(
T̄−1
11 Ā11T̄11 T̄−1

11 Ā12T̄12

T̄−1
12 Ā21T̄11 T̄−1

12 Ā22T̄12

)(
ξ1
ξ2

)
+

(
T̄−1
11 B̄1

T̄−1
12 B̄2

)
u,

y =
(
C̄1T̄11 C̄2T̄12

)(ξ1
ξ2

)
+ D̄u.

*% "(�%#+%� �$% �#&�!��% ����%) (T̄−1
11 Ā11T̄11, T̄

−1
11 B̄1, C̄1T̄11, D̄) #%�&��� (� �$% �#���,"#)���"�

x = T̄−1
11 ξ ", (Ā11, B̄1, C̄1, D̄), '$�!$ �� � �"����+% ����%) ���%�,� �$&�� ,"# �$% !")�&����"�

", �$% #% &!% )" %�� �� �� �&-!�%�� �"  %�%#)��% �$% �%#)&����"� )��#�. π� '$�!$ !��

%��� (%  "�% (� !��!&������ �$% ����&��# ���&% 
%!")�"����"� ", PQ '��$

PQ = π

(
Σ1

0

)
πT .

�� !�� %����� (%%� �%%�� �$�� �$% ��)% $"� � �� !��% ", �������� ����&��# �%#�&#(���"�

�����!% �#&�!���"��

�(�%#+%� ���!% �$% #% &!% ����%) (Ā11, B̄1, C̄1, D̄) �� /&�� � �%#)&����"� ", �$% "#������

����%)� �$% 0#�)���� �#% �#%�%#+% &� �" � �%#)&����"�� �$% � +�����% ��� �$�� '% �#%

1%%���� �$% �$���!�� )%����� ", %�!$ ����%� �� �$% "�$%# $�� '% �#% (���!���� �%,� '��$

�$% ��)% �#"(�%)� �� ,"# �� &�(����!% ����%) �� �$% �%��% ", ����&�"+ 	2&�����%��

�$&� '% $�+% �" %.�%!� ��#�% 0%�%#���3% 4��1%� ����&��# ���&%� �� � (�� �#&�!���"�

%##"#� �� ,�!��  &#��� �&)%#�!�� %.�%#�)%���� %��%!����� ,"# ����5����%)�� �� �&#�% "&��

�$�� �$�� )%�$" $�� �""# ���#".�)���"� �#"�%#��%� !")��#% �" �$% 6#�� "# %# #% &!��"�

+�� �����!% �#&�!���"� '��$ #%��%!� �" ����&�"+ %2&�����%��

������� �	
 7��#�% �#&�!���"� 	##"#8

�%� &� !"��� %# ,"# ������!% �$% ����%)

A := −diag
(
1, 1, 1

)
, BT = C =

(
1 1 1

)
'��$ �#���,%# ,&�!��"�

G(s) =
3

s+ 1
.

�� �����!���"� ", �����!% �#&�!���"� '% "(����� �!!"# ��� �" �$%"#%) ���� � )���)��

6#�� "# %# �"����+% #%���3���"�� �� !"��#���� 0%�%#���3% �����!% �#&�!���"� �%� � �"

G1(s) =
1

s+ 1
,

'$�!$ ��+%� �� �(�"�&�% %##"# ‖G−G1‖∞ = 2�



�� ���� ������	
 ��
������� �� �������	 ����	��

�� ����� �� �������� ��� ����� � !����"#���� �"#"�$�� ��%�$"����& �� �' �''����"# ��
�������� ��� !����"#���� ("�)�# ���*%#"� �"#%�'& ���� �� "��"�� �"�+ '�"## ,"#%�' ��
PQ� � ��"*��"# '�#%����& "' *�,�� �� ��� -��� �� ������� .�/& �' ����� ��� ��� "�,�'"0#��
��'��"� ������1���� ���*�"����*& " '%01�#� � $��,�2 �-�����"����& $"� 0� %'�� �� '�#,�
��� �+"-%��, ���3%"#����'� ��� ��� ��"'��& ��"� �������"���� � "## ��*��,"#%�' �' $#�"�#+
��� " $��,�2 -��0#��& ���� $"���� 0� �2-��''�� "' " $��,�2  %�$����& "� "#����"��,� �' ��
�������� ��� ��"$� "�� %'� " �4� '��- -��$��%�� "' -��-�'�� �� 5//6� ���' -��$��%�� �'
0"'�� �� ���  �##�4��* "#*�������

��������	 
�� 
������������ �	 �
� ����
������ ������ �������
 �������

��� ��� j = 0 ��	 P0 
� 	�� ���
	��� 	� ������ ��	� min tr(P )�

���� ��� ��� j ��� ���� Pj−1� ����� ������ ��� Qj ��	� min tr(Pj−1Q)�

����� ��� ���� Qj ��� Pj ��	� αj = min tr(Pj−1Q) ��� �������

��
αj−1 − αj

αj
< TOLα� ��� � �������
�� 	�������� TOLα� 	��� �� ���� �
	�����

��	���� P = Pj ��� Q = Qj �

 	������� ��	 j := j + 1 ��� ���	��
� ��	� �����

�� ��� 1�'� '��- 4� "--#+ �#*������ ��. �� ��� 4��#� '+'���� �%0'�3%���#+& 4� �")� "
��$�'��� "0�%� ��� ��%�$"���� $"����"��'� ��� '�$��� '��- '��,�' ��� -%�-�'� � *�����*
" '�"�-�� ����� 0�%�� "�� ���' ��� '"�� "' �� ��� 1�'� '��-& 0%� ��'���$��� �� ���'�
,"#%�' �� P "�� Q& ��"� $����'-��� �� ��� ��%�$"���� $"����"��'�

������� ��� �������"���� � ��� ��"$� ���' ��� *%"�"����& ��"� 4� $���'� ��� 0�'�
��%�$"���� $"����"��'� ���##& ��-���$"##+ �� '%7$�' �� ��'� $"'�'�
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����� �
 ��� ��	
��� ���� �����

������ ��� �	
��� 
�
���	� �	���� �
 �	�� �� �	�	
��� ���
�	���
� ����� ������ 	
�����
������
��
 ��
�����
 ��� 	 ���
� �� ��� H∞ ���
�	���
 ������ ����
 �� ��� ����	����
���
��� ��	� ����	  !"#$ %
 ���� ��	&��� �� ������� ��� ����	���� �������� ������&��
�
  '# 	
�  ()#� ����� 	�� �	��� �
 ���� ����	$

������� ��	 
������� ���	 
�����

��� (A,B,C,D) �� � ���������	� 
��
��������
� 
� G(s)� ���� G(s) �� ������
��	����

������ ��� �������� ‖G‖∞ < γ �� ��� 
��� �� ���
� ������ � ���
�� P > 0� ��	� ����⎛
⎝ATP + PA PB CT

BTP −γI DT

C D −γI

⎞
⎠ < 0. *)$(+

���

Gr :

{
ẋr(t) = Arxr(t) +Bru(t),

yr(t) = Crxr(t) +Du(t)

�� 	 ������������� 	&&�����	���
 �� *"$(+$ �� ��
���
�� x̂ =
(
xT xTr

)T
	
� e = y− yr�

�� �	
 ��&����
� ��� ����� ������ (G(s)−Gr(s)) 	�

Ge :

{
˙̂x(t) = Âx̂(t) + B̂u(t),

e(t) = Ĉx̂(t) + D̂u(t)
*)$,+

����

Â =

(
A 0
0 Ar

)
, B̂ =

(
B
Br

)
, Ĉ =

(
C −Cr

)
	
� D̂ = D −Dr.

���
 ��� H∞������ �� ��� 	&&�����	���
 �	
 �� ��������� 	�

‖G−Gr‖∞ = ‖Ge‖∞,

)-



�� ���� ����	��
� ����	� 
	���� 	����	�� �

��� �� ������� ��� �� ��  �!"# ���� ‖Ge‖∞ < γ �� ��� �� � �� ����� �$�"�" � �����$ P̂ #

"%&� ����

Π :=

⎛
⎝ÂT P̂ + P̂ Â P̂ B̂ ĈT

B̂T P̂ −γI D̂T

Ĉ D̂ −γI

⎞
⎠ < 0. '��()

�� &������� �� *%"� +����, P̂ # !��&� &�% � �� "� -�� �� "�����+���� .��,������,# �� ���"

"��%����� P̂ �" &�%. �� �� ��" .���%&� !��� Â ��� B̂ ��� &��"�/%��� � !��� Ar ��� Br#

!��&� ��� -����� �" ����"� -�"� �%� ��� �" ��! �� ��"� -� ���" &�%. ��, �� ������%&��,

� ��! �����$ -����� � !��� 0�$�� � "��%&�%���

���� ������	
� �	���� 
���	� �������� �

��� %" &�  �&� ��� "�"��� �����&�" �� ��� ���%&�� "�"��� �� � �����$

Gr :=

(
Ar Br

Cr Dr

)

��� ��+��

Ā :=

(
A 0
0 0

)
, B̄ :=

(
B
0

)
, C̄ :=

(
C 0

)
, D̄ := D,

F̄ :=

(
0 0
I 0

)
, M̄ :=

(
0 I
0 0

)
, N̄ :=

(
0
I

)
, H̄ :=

(
0 −I

)
., '���)

���� !� &�� �$.��"" ��� ����� "�"��� Ge �� ����" �� Gr �" ��  �!"

Â = Ā+ F̄GrM̄, B̂ = B̄ + F̄GrN̄ , Ĉ = C̄ + H̄GrM̄, D̂ = D̄ + H̄GrN̄ . '��1)

��"��-�# "��&� Π < 0 �� �� �" ���� Π−1 < 0 ��� ���&�⎛
⎝P̂ F̄

0
H̄

⎞
⎠

T

Π−1

⎛
⎝P̂ F̄

0
H̄

⎞
⎠ < 0.

��%" ��� ��� �����$ S > 0# ����� �%"� �$�"� �� α > 0 "%&� ����

−αS −
⎛
⎝P̂ F̄

0
H̄

⎞
⎠

T

Π−1

⎛
⎝P̂ F̄

0
H̄

⎞
⎠ < 0. '���)

2� 3&�%� &��. ����� ��� ��" �.. �&����� �� ��� ��-��"� �� � ��,���-� ��+���� �����$# �"

,�-�� �� '(�(4)# !� ,��

Πe :=

⎛
⎜⎜⎜⎝
ÂT P̂ + P̂ Â P̂ B̂ ĈT P̂ F̄

B̂T P̂ −γI D̂T 0

Ĉ D̂ −γI H̄

F̄ T P̂ 0 H̄T −X

⎞
⎟⎟⎟⎠ < 0 !��� X := αS.



���� �������	� 
����� �����
 �������� � ��

������������ ��� ��������� � ��� !"�#���� P̂ ,X > 0$ ���� ��"� Πe < 0$ �� ����%"���� ��

��� &���'�' ��"� 
�!!"� (� )"�� �� ��� ����  "�� �� �����#��� "� ����%"���� ��*#������

�� ��#!� � ��� !"�#���� +�%�� �� ,���-� .�# ���� *�#*��� )� '�/��

T :=

⎛
⎜⎜⎝

I 0 0 0
0 0 I 0
0 0 0 I

−U I −V 0

⎞
⎟⎟⎠ ,

)��#� U := GrM̄ "�' V := GrN̄ � T �� �0%������ ��%�#��0�� 0��"��� � ���  ��� #�) #"�1$

)���� �� )�� )� �"� '�/�� Πp 0�

Πp := T TΠeT < 0.

��*"�'��+ Πp ����'�

Πp =

⎛
⎜⎜⎝
ĀT P̂ + P̂ Ā− UTXU P̂ F̄ + UTX P̂B̄ − UTXV C̄T

F̄ T P̂ +XU −X XV H̄T

B̄T P̂ − V TXU V TX −V TXV − γI D̄T

C̄ H̄ D̄ −γI

⎞
⎟⎟⎠ < 0

"�' )� �0��#%�$ ��"� P̂ �� ��!*������ '����*��'  #�! Gr� �����"' )� �"%� �����#����' "

��) ���*���+ )��� X$ )���� �� ��)�%�# !��� !�#� 2���0��$ ����� 
 �� "#0��#"#� �* �� "

��"���+  "���#� 
�� �� ��!!"#�3� ���� #����� �� ���  ����)��+ 
�!!"�

����� ���

��� Ge �� ��� ����� �	���
 ��
�� �� ����� ��� ��������� �� ���
� �� ������ ���� Ge

�� ��	
���������	 ������ ��� �������� ‖Ge‖∞ < γ �� ��� ���	 �� ����� ����� 
�������

P̂ ,X > 0 ���� ���� Πp < 0�

�0��#%�$ ��  "# "�� ��� #������ ���'  �# "�� #�'���'4�#'�# �����!� � )� ����' /�"�� U
"�' V $ ��# *#�0��! ����' 0� �"���� ���%�' 0� ���%�� �*��!�3"����� �� ���  ����)��+ )�

)"�� �� '����*�� U "�' V  #�! Gr "�' �#�"� ���! "� %"#�"0���� �� ��� �"!� ��!� )�

)"�� �� ����#*�#"�� ��� #����#�' *�����%��� �����#"�����


�� L 0� " !"�#�� � ��� �"!� ��3� "�' *"#��������+ "� Gr$ ���� ��"�

L :=

(
L1 L2

L3 L4

)
∈ P ,���-

���� L1 �� " ������+��"# −M 4!"�#�� "�' L2, L3, L4 � 0� &� "���!��+

Gr = X−1L ⇔ L = XGr ,��5-



�� ���� ����	��
� ����	� 
	���� 	����	�� �

���� �������� X > 0� �� ���  �� ��� Πp �!

⎛
⎜⎜⎝

ĀT P̂ + P̂ Ā P̂ F̄ + M̄TLT P̂ B̄ C̄T

F̄ T P̂ + LM̄ −X LN̄ H̄T

B̄T P̂ N̄TLT −γI D̄T

C̄ H̄ D̄ −γI

⎞
⎟⎟⎠−

⎛
⎜⎜⎝
UTXU 0 UTXV 0

0 0 0 0
V TXU 0 V TXV 0

0 0 0 0

⎞
⎟⎟⎠ < 0 "��#$

�%& �!!��� ��� !����� �� ' �( "��#$ ���� ��� ���& �(

Φ :=
(
M̄ 0 N̄

)
, Ψ :=

(
U 0 V

)
,

����! ��

−
⎛
⎝UTXU 0 UTXV

0 0 0
V TXU 0 V TXV

⎞
⎠ = −ΦTG T

r XGrΦ

= −ΦTG T
r XGrΦ+ (Ψ− GrΦ)

TX(Ψ− GrΦ)

= −ΨTLΦ− ΦTLTΨ+ΨTXΨ. "���)$

���!�*+����, "��#$ �! �*+�-����� ��

Πp =

⎛
⎜⎜⎝

Πp11 P̂ F̄ + M̄TLT Πp13 C̄T

F̄ T P̂ + LM̄ −X LN̄ H̄T

ΠT
p13 N̄TLT Πp33 D̄T

C̄ H̄ D̄ −γI

⎞
⎟⎟⎠ < 0 "����$

����

Πp11 := ĀT P̂ + P̂ Ā− UTLM̄ + M̄TLTU + UTXU

Πp13 := P̂ B̄ − M̄LTV − UTLN̄ + UTXV

Πp33 := −V TLN̄ − N̄TLTV + V TXV − γI

�� ��!� ���� (Ar, Br, Cr, Dr) �! � &�!���-� !,!��'� �� �!  �����, !���� ���� �� ��� ���� ���.�

���!  �!+�� �� � /�� � , '�� ���! Ũ ��� Ṽ �! (�����!� �( �� ��0�� Ψ̃ :=
(
Ũ 0 Ṽ

)
� ��

��� � ��� "���)$ �!

−ΦTG T
r XGrΦ ≤ −ΦTG T

r XGrΦ+ (Ψ̃− GrΦ)
TX(Ψ̃− GrΦ)

= −Ψ̃TLΦ− ΦTLT Ψ̃ + Ψ̃TXΨ̃. "���1$

��+!� �(

Π̃p(Ũ , Ṽ ) :=

⎛
⎜⎜⎝

Π̃p11 P̂ F̄ + M̄TLT Π̃p13 C̄T

F̄ T P̂ + LM̄ −X LN̄ H̄T

Π̃T
p13 N̄TLT Π̃p33 D̄T

C̄ H̄ D̄ −γI

⎞
⎟⎟⎠ < 0



���� �����	
��
 	
���
	�� �	���� ��
�	� �������� 	 ��

�����

Π̃p11 := ĀT P̂ + P̂ Ā− ŨTLM̄ + M̄TLT Ũ + ŨTXŨ

Π̃p13 := P̂ B̄ − M̄LT Ṽ − ŨTLN̄ + ŨTXṼ

Π̃p33 := −Ṽ TLN̄ − N̄TLT Ṽ + Ṽ TXṼ − γI

���

Gr = X−1L ������

 ! "#$$#�% &' ��((� ���) !��! ‖Ge‖∞ < γ � !� � *#% ! +� %#$,! #� (Ar, Br, Cr, Dr)�
��! ,% %,((�� -� !� % ��%,$!  � !�� "#$$#� �. !��#��(�

������� ��	

Ge �� ���������	�

� ����
� �
� �������� ‖Ge‖∞ < γ ���� � �������� ������

(Ar, Br, Cr, Dr) �� �
� �

� �� ����� ������ � P̂ > 0� �����	�� Ũ �
� Ṽ � � �����
�


X > 0 �
� L ∈ P ��	� ���� Π̃p(Ũ , Ṽ ) < 0� ���
 �� 	�
 ����� Gr = X−1L�

�% (��! #��� &�"#��)  " �� �$����' /��� Ũ ��� Ṽ ) %#$+ �. Π̃p(Ũ , Ṽ ) < 0 "#� P ) X ���

L  % � 0#�+�1 *�#&$�(� 
�,% #,� *�#&$�( ���,0�% !# �#� !# 0�##%� !��( *�#*��$'�

���� �����	
��
 �
���
	�� �	���� ��
�	� �������� �

�#�) �� ���! !# *�#*#%� � (�!�#� �#� !# 2�� Ũ ��� Ṽ  !���! +�$'� 3#� !� % *,�*#%� ��

�#! 0� 2�%!)  " X) L ��� P̂ ��� 21) !���� (,%! �1 %! �� α ∈ R "#� �+��' Ũ ��� Ṽ ) %,0�

!��!

Π̃p(Ũ , Ṽ ) < α

⎛
⎜⎜⎝
I

0
I

0

⎞
⎟⎟⎠ . ������

4' ����5� ��� ������  ! "#$$#�%) !��! α �!!� �%  !% ( � (,( "#�

Ũ = X−1LM̄ ��� Ṽ = X−1LN̄. ����6�

�� !�� #!��� ����  !  % 0$���) !��! "#� 21�� Ũ ��� Ṽ ) �� 0�� �$��'% �!!� � %#$,! #�%

P̂ )X) L ��� α) %�! %"' �. ������) &' 0#�+�1 #*! ( -�! #��

�#�%�7,��!$')  " �� %!��! � !� Ũ = Ũ0 ��� Ṽ = Ṽ0 ��� 2�� %#$,! #�% P̂ ) X ��� L
",$2$$ �. ������ "#� !�� %(�$$�%! *#%% &$� α) �� 0�� ��0���%� α (#�#!#� 0�$$' &' ,*��! �.

Ũ ��� Ṽ �%  � ����6�� 8��� α ���0��% � �#���.�! +� $�+�$ �� ��+� "#,�� � *#% ! +�

�**�#1 (�! #� (Ar, Br, Cr, Dr) �00#�� �.$' !# 
��#��( ���� 
�� 0�%� !��! α 0#�+��.�%

!# � *#% ! +� +�$,� � $$ &� !���!�� $�!���

� .##� ��' #" 0�##% �. Ũ0 ��� Ṽ0 0�� &� "#,�� &' 0#�% ��� �. !�� �1*��%% #� #" !��



�� ���� ���	
��
�� ���
����� �����
 ���
�� ���
	��
 �

����� ������ �������� � !���" � # $�� % !��&"� �' (� ��  �� ) # ��*$��� � Q̂+ V0+ U0

'$*)**� %

ΠP (U0, V0) :=

⎛
⎝(Ā+ F̄U0)

T Q̂+ Q̂(Ā+ F̄U0) Q̂(B̄ + F̄ V0) (C̄ + H̄U0)
T

(B̄ + F̄ V0)
T Q̂ −γI (D̄ + H̄V0)

T

C̄ + H̄U0 D̄ + H̄V0 −γI

⎞
⎠ < 0,

�,� + �����#� % �� �,����� ��-+ �,��� #���  �� �.��� � � ��*$��� �����'�� % �,�� �����

/�$ #� �� /�'���+ ) #� % �,��� ��*$��� � ��  �� � �� 0�. 1��/*�� /���$�� �' �,� 1��#$���

Q̂F̄U0 � # Q̂F̄V0� 2� �� �0������ �,�� �/����*� /� #�) � %W0 := U0Q̂ � # �� ��#��� %

��� #$�* 1��/*��+ ���� (� �11*� �,� 3�$ #�# 
��* ����� �� GT
e + (,��, *��0�� �,� �����

/�$ # $ �,� %�#� �,$� (� %��

⎛
⎝ĀQ̂+ F̄W0 + Q̂ĀT + F̄ TW T

0 Q̂C̄T +W T
0 H̄T B̄ + F̄ V0

C̄Q̂+ H̄W0 −γI D̄ + H̄V0

(B̄ + F̄ V0)
T (D̄ + H̄V0)

T −γI

⎞
⎠ < 0 !��-4"

� # ) #� % �,� ��*$��� � Q̂+ V0 � # W0 �� � �� 0�. 1��/*���

� �,�� ���� �,� ��  ����� /��(�� U0+ V0 � # Gr ��  �� ��1���� � �� $�+ (,� ��*0� %

'�� W0 �� '����/*�� ��1����**� /���$�� �' �$� 1�����0��� �� ����� �� � Gr+ (� ��  �� #�

�,� ���� '�� ��,��0� % � 1�����0� ��#$��#5��#�� �������

2� ,�0� �*���#� ��� + �' �,��� �.��� � #��%� �* X > 0+ P̂ > 0 � # G ∗+ �$�, �,�� Πp < 0+
�,� (� �� �*$#� /� !��-�"+ '�� �$6��� �*� ���**

‖(Ψ0 − G ∗Φ)TX(Ψ0 − G ∗Φ)‖2 (��, Ψ0 :=
(
U0 0 V0

)
�� ,�*#� Π̃p(U0, V0) < 0+ (��, L = XG ∗� 7� �� X �� /� 0��� *��%�+ �� ��� � !��4"+ (�

 ��# � (�� �' �� ���8� % ‖Ψ0 −G ∗Φ‖2� 7$�, � ���,�# �� /� �� �*$#�# '��� �,�  �.�

�,������

������� ��	 
������� ����	�
������

��� ε > 0 �� ����	�
��� �
��� �
� Φ �
� Ψ0 �� ���
�� ������� ���
 ��� ������	
�

�����
�
�� ��� ���	����
��

�	� ����� ��	��� � �����	�
 G ∗� ���� ���� ‖Ge‖∞ < γ �
� ‖Ψ0 − G ∗Φ‖2 ≤ ε�

�		� ‖Ψ0Φ⊥‖2 ≤ ε �
� ΠP (U0, V0) < 0�

����� Φ⊥ ��
���� � 
���	� ��
�	��	
� �� � ���	� �� ���  ��
�� �� Φ� 	��� ΦΦ⊥ = 0�

����� � (i) ⇒ (ii) : Φ �� ������ ���	
� �� ��
������� ����� ��

Φ =

(
0 I 0 0 0
0 0 0 0 I

)



���� �����	
��
 	
���
	�� �	���� ��
�	� �������� 	 ��

��� ���� Φ⊥ ��� ��� 	
��

Φ⊥ =

⎛
⎜⎜⎜⎜⎝
I 0 0
0 0 0
0 I 0
0 0 I
0 0 0

⎞
⎟⎟⎟⎟⎠ .


����� ΦT
⊥Φ⊥ = I� �� 	
��
�� ���� ‖Φ⊥‖2 = 1 ��� �� ��������
� ����

‖Ψ0Φ⊥‖2 = ‖Ψ0Φ⊥ − G ∗ΦΦ⊥‖2 ≤ ‖Ψ0 − G ∗Φ‖2‖Φ⊥‖2 ≤ ε

��� Q̂ �� � �
����
� ���� �������� ΠP (G ∗M̄,G ∗N̄) < 0� ���� ΠP (U0, V0)� ���� ��� ���� Q̂�
��� �� ��������� ��

ΠP (U0, V0) = ΠP (G
∗M̄,G ∗N̄) + Ξ,

�����

Ξ :=

⎛
⎝(U0 − G ∗M̄)T F̄T Q̂+ Q̂F̄ (U0 − G ∗M̄) F̄ (V0 − G ∗N̄) (U0 − G ∗M̄)T H̄T

(V0 − G ∗N̄)T F̄T 0 (V0 − G ∗N̄)T H̄T

H̄(U0 − G ∗M̄) H̄(V0 − G ∗N̄) 0

⎞
⎠

�
����������� �	 Ψ0−G ∗Φ =
(
U0 − G ∗M̄ 0 V0 − G ∗N̄

)
�� ���������� ������ �� 	
��
�� ��

��� �������� ����������� 
	 ΠP (G ∗M̄,G ∗N̄)� ���� ΠP (U0, V0) < 0 ���� ��� �
����
� Q̂�

(ii) ⇒ (i) :  � ��

���� G ∗ = Ψ0Φ
T ��� �
������� ���� ΦΦT = I� �� ��� �����

(Ψ0 − G ∗Φ)
(
ΦT Φ⊥

)
=

(
0 Ψ0Φ⊥

)
.

!� �� 
���
��� ����
(
ΦT Φ⊥

)
�� �� ���������� ������ ����

(
Φ
ΦT

⊥

)(
ΦT Φ⊥

)
= I�

�
�����������

Ψ0 − G ∗Φ =
(
0 Ψ0Φ⊥

) (
ΦT Φ⊥

)−1

��� �� ��������
�

‖Ψ0 − G ∗Φ‖2 = ‖ (0 Ψ0Φ⊥
) ‖2‖ (ΦT Φ⊥

)−1 ‖2 ≤ ε.


�
���� ���� ‖Ge‖∞ < γ 	
��
�� �� ��	
�� �� ΠP (U0, V0) < 0 ���

ΠP (G
∗M̄,G ∗N̄) = ΠP (U0, V0)− Ξ < 0

	
� � ���������� ����� ε�

�������� �� �� � ! "!# U0  !# V0� �$�% &% & ‖ΨΦ⊥‖2 = 0 ��&% ΠP (U0, V0) < 0� &%�!
Π̃p(U0, V0) < 0� '$�&%��� �(� ")�# Q̂� �& ��  �(!��) *�(�+�, &( �(+�� ΠP (U0, V0) < 0�
�$�% &% & G ∗ = ΨΦ⊥ ��*����!&�  *(��&��� �-�&�,� 
%$�� �� � !  +�� #- �!�+$#� ($�

*(��&���&- �(!�&� �!&� �!&( &%� (*&�,�. &�(! (� &%� �!�&� + � +$���

��& $� �$,, ��.� &%�  +/(��&%,  � �� % �� #���+(*�# �& �( � �� 
%� �(!#�&�(! ‖Ψ0Φ⊥‖2 =
σ̄(Ψ0Φ⊥) ≤ ε ��++ �� �)*�����# ��&% %�+* (� �&� 0�%$� �(,*+�,�!& �1$�� +�!���



�� ���� ����	
��
� 
��	��
�� �
���	 
��	
� ���	���� 


��������	 
�� 
������� ����	 
�����
������

��� ����� 	
� ���	��� 
������ ������ 	� ��	 U0 ��� V0 ��� ��	 j = 0�

���� ��� ��� j ��� ���� Ψj =
(
Uj 0 Vj

)
��� � ����	��� Q̂j 	� ΠP (Uj , Vj) < 0�

����� ��� ���� Q̂j ��� �� �
	������ Ψ∗
j =

(
U∗
j 0 V ∗

j

)
��� ε∗j ���
 	
�	

ε∗j = min
Ψj=[Uj 0 Vj ]

εj ��	�

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

ΠP (Uj , Vj) < 0(
−εjI (ΨjΦ⊥)T

ΨjΦ⊥ −I

)
< 0

ΨjΦ⊥ ∈ P

���� � 
|ε∗j − ε∗j−1|

|ε∗j |
< TOLinit �� j = MAXiter! "
��� TOLinit �� � 
��������� 	��������

��� MAXiter � ������� ������ � �	���	����! 	
�� �
	���� ���	��� ��	�����

U∗
0 = U∗

j ��� V ∗
0 = V ∗

j ��� ��	������

#	
��"��� ��	 Ψj+1 := Ψ∗
j ! j := j + 1 ��� �� 	� �	�
 �����

��������	 
�� 
��	�����	 ��� ���������

��� ��	 j = 0 ��� Uj := U∗
0 ��� Vj := V ∗

0 ��	����� �� $�����	
� ���

���� ��� ��� j ��� ���� Uj ��� Vj ��� �
	���� P̂ ∗ > 0! �������� X∗
j > 0! L∗

j ∈ P

��� α∗
j ! ���
 	
�	

α∗
j = min

P̂j ,Xj ,Lj

α ��	� Π̃p(Uj , Vj) < αj

⎛
⎜⎜⎝
I

0
I

0

⎞
⎟⎟⎠ .

����� � α∗
j ≤ 0! 	
�� �� �
	���� G ∗

r = (X∗
j )

−1L∗
j ��  �����

� 
|α∗

j − α∗
j−1|

|α∗
j |

< TOLα �� j = MAXiter!  �� � 
��������� 	�������� TOLα ���

�� ������� ������ � �	���	���� MAXiter! 	
�� α∗
j 
�� 
������� ��������� 	�

� 
���	��� ����� ��� "� �	�
 "�	
��	 � ����	����

#	
��"���! ��	 j := j + 1!

Uj+1 := (X∗
j )

−1L∗
jM̄, Vj+1 := (X∗

j )
−1L∗

jN̄

��� ���	���� "�	
 �	�
 �����



���� �����	
��
 	
���
	�� �	���� ��
�	� �������� 	 ��

��� �� ���� �� ����� ��� ���� ���� �� ������ !�" �� α ≤ 0� #�� ��� $�$�$�% &�%'�

"����($���$�� �� �%���") ����$"���" ��� "'�% *��+%�( GT
e � ,) "�!�$�- Ud := F̄Gr ��"

Vd := H̄Gr �� ��� ��$��

ÂT := ĀT + M̄TUT
d , B̂T := B̄T + N̄TUT

d , Ĉ := C̄T + M̄TV T
d , D̂T := D̄T + N̄TVd.


��� ���%�-�'�%) �� Ge �� ��� "�!��

Π̃d(Ũ , Ṽ ) =

⎛
⎜⎜⎝
Π̃d11 Π̃d12 Π̃d13 B̄

Π̃T
d12

−Z LT H̄T N̄

Π̃T
d13

H̄L Π̃d33 D̄

B̄T N̄T D̄T −γI

⎞
⎟⎟⎠ < 0

�����

Π̃d11 := ĀQ̂+ Q̂ĀT − ŨLT F̄ T + F̄LŨT + ŨZŨT

Π̃d12 := Q̂M̄T + F̄L

Π̃d13 := Q̂C̄T − F̄LṼ T − ŨLT H̄T + ŨZṼ T

Π̃d33 := −Ṽ LT H̄T − H̄LṼ T + Ṽ ZṼ T − γI

������� ���

GT
e �� ���������	�

� ����
� �
� �������� ‖GT

e ‖∞ < γ ���� � �������� ������

(Ar, Br, Cr, Dr) �� �
� �

� �� ����� ������ � Q̂ > 0� �����	�� Ũ �
� Ṽ � � �����
�


Z > 0 �
� L ∈ P ��	� ���� Π̃d(Ũ , Ṽ ) < 0� ���
 �� 	�
 ����� Gr = LZ−1�

	� ��� ��(� ��) �� .�� ��� *�$(�% �%-��$��( �� ��� �+��$� $�$�$�% (���$��� U0 ��" V0 

+) �**%)$�- ��� ,�'�"�" ���% ��((� �� Ge� 
�� /'�% 	�����$&� ��	 �**����� ���

���� +� -$&�� �� .�%%����



�� ���� ����	��
� ����	� 
	���� 	����	�� ��

��������	 
�� 
���� ������	
� ��� 
��������

��� ��� j = 0 ��	 Uj := U0 ��	 Vj := V0


���� ��
 ��� j ��	 ���	 Uj ��	 Vj ��	 ������� Q̂∗ > 0� 	������� Z∗
j > 0� L∗

j ∈ P

��	 β∗
j � ���� ����

β∗
j = min

Q̂j ,Zj ,Lj

β �
�
 Π̃d(Uj , Vj) < βj

⎛
⎜⎜⎝
I

0
I

0

⎞
⎟⎟⎠ .

����� �� β∗
j ≤ 0� ���� �� ������� G ∗

r = L∗
j (Z

∗
j )

−1


���� ��
|β∗

j − β∗
j−1|

|β∗
j |

< TOLβ �
 j = MAXiter� ��
 � �
���
���	 ����
���� TOLβ ��	

� ������� �����
 �� ���
������ MAXiter� ���� β∗
j �� �
������ �����
��	 �� �

�������� ����� �
 �����
��� �� ����� ���� �� ���� ������� � ��������


��� ����
����� ��� j := j + 1�

Uj+1 := F̄L∗
j (Z

∗
j )

−1, Vj+1 := H̄L∗
j (Z

∗
j )

−1

��	 �������� ���� ���� ����


��� ���������� ������ ��� ���������� ��� ���!����� �" ��� �#�� �$$!���� � % ���� ��
�$�����  ��#���� �� $!���� ��!������ ��� ��� ��$�& ��� �$�������& �� �#�� ��!������ ���
���� ��! �� ��� �'#����& �" α �����!(� �� � $� ����� ���#� )��� G α

r := Gr% )� ��� ��*��
U0 = F̄G α

r ��� V0 = H̄G α
r �� # � ���� � ��� ������� ���!��� �� ��� �#�� �$$!�����

�����! ��&% �" β �����!(� �� � $� ����� ���#� )��� G β
r := Gr% )� ��� �� ���  ��� �&

��*���( U0 = G β
r M̄ ��� V0 = G β

r N̄ ��� �$$�&��( ��� $!���� �$$!����� ��� $!����#!�
��� �� !�$����� #���� �����! α ��� β �����!(� �! ��� �" ���� ������ �����(������

���� ������	
� �	���� 
���	� �������� ��

�� ���  ������ )� )��� �� ���� � ���+ �� ������! �$$!���� �� ����#$�� Ar ��� Br "!��
P̂ % � $!� ����� �� ,-.� �� � !�����&  ���%  ���� ��� /��#! ���$������ �" ��(����� ��*����
���!�0 � �� � ��(����� ��*����% ���� ��� �0� ����� �" P̂ > 0  #�� ���� Π < 0 ���� �" ���
���& �" ���!� �0� � P̃ > 0%  #�� ����

Θ :=

(
ÂT P̃ + P̃ Â+ ĈT Ĉ P̃ B̂ + ĈT D̂

B̂T P̂ + D̂T Ĉ −γ2I + D̂T D̂

)
< 0. 1��2-3



���� �������	� 
����� �����
 �������� �� ��

P̃ ��� P̂ ����� ��� �������� P̃ = γP̂ �  ������! �� "��#$% �& '����! ���� ����� (�&� �)�&� �
&�*+�����, &(��� ε > 0! &�+� ����(

ÂT P̃ + P̃ Â+ ĈT Ĉ + εÂT P̃ Â P̃ B̂ + ĈT D̂

B̂T P̂ + D̂T Ĉ −γ2I + D̂T D̂ + εB̂T P̃ B̂

)
< 0. "��#-%

�� ����� �� �..�, /+��� +�(.��(��� �0��'����+� �� "��#-%! 1� ����+�

Θ−
(

I εB̂

I + εÂ 0

)T (−ε−1P̃ 0

0 −ε−1P̃

)(
I εB̂

I + εÂ 0

)
=

=

(−2ε−1P̃ + ĈT Ĉ ĈT D̂

D̂T Ĉ −γ2I + D̂T D̂

)

1��+� ����& �� � ��+��.���2 �� Â ��� B̂ 1��� P̃ �& �����1&⎛
⎜⎜⎜⎝
−2ε−1P̃ + ĈT Ĉ ĈT D̂ I I + εÂT

D̂T Ĉ −γ2I + D̂T D̂ εB̂T 0

I εB̂ −εP−1 0

I + εÂ 0 0 −εP−1

⎞
⎟⎟⎟⎠ < 0.

�� 1� ����� ����

Ãr := εAr, B̃r := εBr, X := ε−1P X̃ := εP−1

1���

X =

(
X11 X12

XT
12 X22

)
, X̃ =

(
X̃11 X̃12

X̃T
12 X̃22

)
,

�� �����1& 3, ������� /+��� +�(.��(��� �0��'����+� ��� Ĉ ��� D̂! ����

Θe :=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

−2X11 −2X12 0 I 0 I + εAT 0 CT

−2XT
12 −2X22 0 0 I 0 I + ÃT

r −CT
r

0 0 −γ2I εBT B̃T
r 0 0 DT −DT

r

I 0 εB −X̃11 −X̃12 0 0 0

0 I B̃r −X̃T
12 −X̃22 0 0 0

I + εA 0 0 0 0 −X̃11 −X̃12 0

0 I + Ãr 0 0 0 −X̃T
12 −X̃22 0

C −Cr D −Dr 0 0 0 0 I

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

< 0.

������� ��	

��� (A,B,C,D) �� �� ���	
����
���� ������ 
������� �����	 ���� �������� ���
����

G(s)� ���� � ����
�������� ���	
����
���� ������ 
������� �����	 Gr ���� ‖Ge‖∞ < γ
������ �� ��� ���� �� �� 
�� ��� ε > 0� X, X̄ > 0� � −M �	����� Ãr ��� B̃r, Cr, Dr � 0
��
� ���� Θe < 0 ��� XX̄ = I�

�3&��'�! �� Θe ��� ��� '����3��& ��� ��+��.���� ���+� 1������ ��� ��0����(��� XX̄ = I!
1� 1���� 3� ���� 1��� � +��'�) .��3��(�



�� ���� ����	
��
� 
��	��
�� �
���	 
��	
� ���	���� 



���� ������	
�� 
	���	��� ������ ��	��� �������
 




� ��� ��������� �� ���� ��� ��� �� � �!� ���� "�#$���� �� X !�% X̄ ���� ��� ���$ �� ���
��&"!�� ������ ���� ����	
��	���� 
���
���� ����� '()� ��� *!��" �%�! �� ���� !��� ���+
�� �� +���+�,� tr(XX̄) ����  ��$�"� �� $�����-� %�.���� +!� �"�� X, X̄ ∈ R

n×n �#�.�����

(
X I
I X̄

)
≥ 0. /��0(1


� /��0(1 ���%�2 ���� *3 "����%� ��� ��� 4"�# "�+$��+���2 �� "��"�#%�

X − X̄ ≥ 0 ⇔ X̄
1
2XX̄

1
2 − I ≥ 0, /��561

!�% ��#�

tr(XX̄) = tr(X̄
1
2XX̄

1
2 ) ≥ n. /��501


� �� �*-��#�2 ��!� �7#!���3 "!� *� !"���-�% ��XX̄ = I2 *#� *3 "����%� ��� ��� %�!���!��,!����
X̄

1
2XX̄

1
2 = T TDT ���� D ≥ 02 �� ������� *3 /��561 !�% /��501 ��!�

D − I ≥ 0 !�% tr(XX̄ − I) = tr(D − I) ≥ 0.

���"�2 tr(XX̄) = n �� !�% ���3 �� XX̄ = I !�% �� "!�  �%#"� �# $ �*��+ �� .�%���
XX̄ = I �� ��� +���+�,!���� �� tr(XX̄) ����  ��$�"� �� /��0(1�
4��"� +���+�,��� tr(XX̄) �� ��� ! "��-�8 $ �*��+ ����� 2 �� ���� *� ���-�% *3 "����%� ���
��� ����! ��!����� �� ! ��-��2 ��!��*�� $���� (X0, X̄0) ! ����! !$$ �8�+!���� "!� *� ��-��
!�

tr(XX̄) ≈ c+ tr(XX̄0 + X̄X0), c ∈ R

9 �+ ���� �+ :�0 �� ;���2 ��!� ��� $ �%#"� �� ��� +!� �"�� P,Q ≥ 0 �!� �8"�#��-��3
������!��-� �����-!�#�� !�% ���"� tr(PQ) ≥ 0� �$$�3��� ���� �� XX̄0 !�% X̄X0 ��!%�
��

tr(XX̄0 + X̄X0) = tr(XX̄0) + tr(X̄X0) ≥ 0. /��551

��#�2 ��� �+!��� tr(XX̄0+X̄X0) ��� �+!��� tr(XX̄)� ��� �%�! �� ��� ���&!��� ���+ ��
�� +���+�,� tr(XX̄0+ X̄X0)2 ���"� ! "��-�8 $ �*��+2 *�"!#�� X !�% X̄ ! � %�"�#$��%�
��� ����� ���&!��� ���+ "!� *� %��" �*�% !� ��������
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��� ��� (X0, X̄0) �� � 	��
���� 
��
���� �	 ������ ��� 
�� j = 0�

���� ��� ��� j ��� ���� (Xj , X̄j) ��� �� ������� 
��
���� (X∗, X̄∗) ��

Pk : min
(X,X̄)

tr(XX̄j + X̄Xj) 
��� (4.19).

����� �	 � 
������� ��������� �
 	
������� ���� �� ������� (X∗, X̄∗) �
 	�
���
 ����!�
� 
�� j := j + 1�

Xj+1 := X∗, X̄j+1 := X̄∗

��� �� �� 
��� �����

�� ������� tj := tr(Xj+1X̄j + X̄j+1Xj) ��� �� � � !"��#�$��� !% !% tj &�� '�("�)� �!

Pk* �� %!$$!&( �##������$� � ��

tj ≤ tr(XjX̄j−1 + X̄jXj−1) = tj−1

	 +( {tj} �( � #!�!�!��)�$$� ��)'��(��� (�,+��)�* & �) )!�-�'��( �))!'���� �! .��//0�

�!& &� �'� '���� �! ��-� � � & !$� �$�!'�� # �� !'��' �! %+$�$ � � '�,+�'�#���( !%

	 �!'�# ����

��������	 
�� ������	��� ��� ���
�	��


��� ��� ��"�� ���
��� ����� r ��� ����� ��
�� γ� ��� (X0, X̄0) �� � 	��
���� 
��
����

��� ������ ��� Θe < 0� �	 ��� 
��
����
 ���
�
 
�� j = 0� �����!�
� 
��� !����
�
� 
��
�����

���� ��� ��� j ��� ���� (Xj , X̄j) ��� �� ������� 
��
���� (X∗, X̄∗, Ār, B̄r, Cr, Dr, ε)

tj := min
X,X̄

tr(XX̄j + X̄Xj) 
���

{
(4.19)

Θe < 0

����� #�� Ar := ε−1Ār, Br := ε−1B̄r, P̃ := εX∗ ��� ��
� ���� ���� Θ� �	 Θ < 0� ����
� ���
��� ����� 
�
���� 
���
	���� ��� ���
������ ����� ��
��� �
 	�
���

�	
tj − tj−1

tj
> TOLδ �� j < MAXiter� 	�� � ���
������ ��������� TOLδ ��� ���

������� �
���� �	 ���������
 MAXiter� 
�� j := j + 1�

Xj+1 := X∗, X̄j+1 := X̄∗

��� �� �� 
��� �����  ����!�
� 
��� !����
� � 
��
�����



�� ���� ����	
��
� 
��	��
�� �
���	 
��	
� ���	���� 



������� ��� ������������� �� � !��" !����#� ��� $�% ����%� �% &��'()* !��$� � !�+ ��
$�#�, -� # �, � �% �����%���.� �� ��%���/� tr(PQ) �% ��,�� �� ��%���/� ��� ��%�����/�,
��%"�� 0�%�#��� ���#� �% 0#- �$���% 1���'� 2��� ��� �34����%$� �5 %#����$�� �3��4�� 
��� ,�� %�� �,, �%+ �,.�%����� 
% $�%����+* -+ # �%� ��������� 1�' �% ���, �5 ���
�������������* ��� $�%.����%$� �5 ��� ��������� ,� $#  �, �% ���  �$���% � �#$�  ��!���


% ���4��� 6 !� !���  ��* �.�% ���#�� -��� �����, �% ��� $��4��� ��� -� �, �% ���
7�#%,�, 	��� �����* ��� �����, �5 0�$���% ��' ��.�  ��%�8$�%��+ -����� �� #�� ���%
��� 9# � 4�� �%��, �%�� 0����* !�  ��#�, %���$�* ���� -��� �����, ��� -� �, �% �

 *
!��$� �� ���$� �� �44��$����% �� ��! ,���% ��%��  + ��� ,#� �� ��� ���� %#����$�� �:���
�5 4��5����%� ��� ��;#���, �4����/����% � � $�%.�%���%��  ��.�� ���� ��	
�� 4�  �  � 
� $��4��3��+ �5 O(n2m2.5 +m3.5)* !���� n  ��%, 5�� ��� %#�-�� �5 ,�$� ��% .����-�� 
�%, m 5�� ��� %#�-�� �5 ��! �% ��� �

 <=>?�
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�
��� �� ���� �� �����
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��	
� �
 ��
� ������� �� �	��� ��� �
�� 

������	
��� �
��� ���� �� ���� �� 
��
�	��
��� �
���� � ��� 
� ����	�� ��
��� ��	� ��
���� 	� �	��� �� ��� �
!
����� ��	�
�

�������� ��
�
�� "#$"%&$� ��	
� �	�� �� 

����� 	� ��	� 
�������

��� ��
���� 
� ����� �
��� ������� 
�	�	����� ��
� ��� 

���'� 
� �
��	�� � ������ 
�
�	���� � ���	
��

Ax = b, A ∈ R
n×n, b ∈ R

n

�	�� (���� �����( �	����	
� n� )	�
� �	��
� �
��	�� ����
�� ��
� �� �*! ���
+,!��

��
�	�	
� �� ��� �
����� � 

����'	�� 
� O(n3)� ��
�� ����
�� 
�� ���	�� ���
�
��� �	�	� 
� 

������	
��� �
���� -���

�	�� ��	� ��
���� 	� 
��� 
� � ������ �	��
����
� A 	� ��
����� 	��
��	���� �
������ 	� A 	� ������� 	��� A 

���	�� (��.
	�����
����( /��
�� 	� 	� ����	��� �
 ����
'	���� ��� �
���	
��
0
� ��	� ����
�� 	�����	�� ����
�� �	�� 

����'	�� O(n2) ���� ���� �����
��� �"&1$ �
����	
���� 
���� �	��	� ��
�� 	�����	�� ����
�� ��� ��� 2���
� ������
� ����
�� "&1$�
�� ��� �
��
�	�� �� �	�� �
� �	�
��� ��� �
����� 	������ ��� �� ��� 	��������� 	� ���	�
����������� 

�
����� ��	
� �	�� �� ���� �
� �����
�	�� � �
��� 
���� ����
�	
� ����
��

���� �����	
 ��
���
��

��� ���	
 	��� 
� ��� 2���
� ������
� ����
�� 	� ��� 3
���
�
���4 ��
5�
�	
� 
� A 
��

��� 2���
� ������
� Km(A, b)� ��	
� �� ��6�� �
��

��������� �	
 ������� ��	�
��
�

��� A ∈ R
n×n� b ∈ R

n ��� ��	�
� �������� �� 	
���

�� m 

 	����	 �


Km(A, b) := span{b, Ab, . . . , Am−1b}.

��� 
���
�
��� ��
5�
�	
� 
� A 
��
 Km(A, b) ��
��� �� 	���������� �� ��� �
��
�	��
�	���� 
�����
� Km(A, b) → Km(A, b)7 �
� �	��� x ∈ Km(A, b) ����� A �
 	� ��� ����
��
�� 
���
�
��� ��
5�
�	
� 
� Ax ��
� 	��
 Km(A, b)�

89



�� ���� ���	
�� �
���
�	�


�� ���������� ��������� �� R
n ���� Km(A, b) ��� �� ���������  ��� ��� ���� �� �

!���"�� #��!$%��!��� ��������� ������� �� Km(A, b)& '�� � �� ��� ������� ��	�
����


�������
�

#�(�� A ∈ R
n×n& b ∈ R

n \ {0}  � ��� ��� ��!���� �� #��!$%��!���

w0 := b& v1 :=
w0

‖w0‖2
w1 := Av1 − 〈v1, Av1〉v1& v2 :=

w1

‖w1‖2
���

���

wm := Avm −∑m
j=1〈vj , Avm〉vj & vm+1 :=

wm

‖wm‖2
��� ������ �� ��������!�� ����� {v1, . . . , vm} �� Km(A, b) �� wi �= 0 ��� 1 ≤ i ≤ m − 1�
	���� ��� ��� )�*��( �+������ ��!������ �� �!����� ���� m& ���� Km(A, b) ⊆ Kk(A, b)
��� ��!� k < m ���  � �������� ��� ���������� ���� Kk(A, b) ��������

,* ��"����

Hm :=

⎛
⎜⎜⎜⎝
〈v1, Av1〉 〈v1, Av2〉 · · · 〈v1, Avm〉
‖w1‖2 〈v2, Av2〉 · · · 〈v2, Avm〉

� � �
� � �

���

‖wm−1‖2 〈vm, Avm〉

⎞
⎟⎟⎟⎠ ��� Vm :=

(
v1 . . . vm

)
,

 � ���  ����

AVm = VmHm + wmeTm.

	����(�& ����� V T
mVm = I ��� V T

mwm = 0&  � ������

V T
mAVm = Hm =

⎛
⎜⎜⎜⎝
h11 h12 · · · h1m
h21 h22 · · · h2m

� � �
� � �

���

hm,m−1 hmm

⎞
⎟⎟⎟⎠

��� A �� �� +���� -��������� !����.  ��� ������� �� ��� ��������!�� ����� �� Km(A, b)�
/+�����& �� x ∈ R

n& ���� VmV T
mx ∈ Km(A, b) ���

V T
m (x− VmV T

mx) = 0.

	�(��+��*& VmV T
m �� �� ���������� ���������� ��� ��� ���������� �� Ax ���� Km(A, b) ���

��  ������ �� VmV T
mAx� 
��������& ��� ������ �������� VmV T

mA ��������� ��� ����������

���������� ��A ����Km(A, b)� 0����(��& ��  �  ���� x ∈ Km(A, b) �� ��� ����� {v1, . . . , vm}
�� Vmξ& ����

VmV T
mAx = VmV T

mAVmξ = Vmη,



���� �����	�
 ��
������ � �������������	����� ��������� ��

����

η := Hmξ.

������ �� ���  �! ���� Vmη � ��� "�#"� ������$� $% η �� ���  ���&�"& '� � ��& �$� �()���*!

Hm ��� '� ����"#"���& � ��� +��"�, "�#"� ������$� VmV T
mAx ���� "� #��� �$ ��� '� � 

{v1, . . . , vm}�

��� �*�$"���+ �$ ��� ������� �	
��	��� ��� '� &� �"�'�& �-�����*! �� ��� %$**$����

%$"+�

��������	 
�� 
������� �	
��	��� ������	
��

��� b �= 0 �� ��������� �	
 ��� v1 :=
b

‖b‖2 �

�� j = 1, . . . ,m

z := Avj
hij := 〈vi, z〉, i = 1, . . . , j

wj := z −∑j
i=1 hijvi

hj+1,j := ‖wj‖2

�
 hj+1,j = 0� ����

���� vj+1 :=
wj

hj+1,j

���

���

���� �����	�
 ��
������ � �������������	����� ���������

�� �� � ���� A �  !++��"��� �� � "��&�*!  ��� ����

Hm = HT
m =

⎛
⎜⎜⎜⎜⎝
α1 β1

β1 α2
� � �

� � �
� � � βm−1

βm−1 αm

⎞
⎟⎟⎟⎟⎠ ���� βi > 0 ∀i. .���/

��� �"�$*&� �*�$"���+  �+#*�0� �$ ���  $1��**�& ���
��� �	
��	��� ������	��� �����

"�()�"� ��� &���"+�����$� $% +�,�+�* ��"�� ���"�� #�" ���"���$��



�� ���� ����	
	� �
���
�	� � ��	�
�	�	����
�
�	� ���	��
��

��������	 
�� 
������� �	
��	��� 
�����	���

��� b �= 0 �� ��������� �	
 ��� v1 :=
b

‖b‖2 � v0 = 0 �	
 β0 = 0


��� j = 1, . . . ,m
z := Avj
αj := 〈vj , z〉
z := z − αjvj − βj−1vj−1

βj := ‖z‖2

�� βj = 0� ����

���� vj+1 :=
z

βj

���

���


��� ���� ��� �� ������ �!�� "# "�� �#$��  �� ����������	
��	���� �
������
� �% &� �����"

#� ��""��� � "������#�� Hm' �(�� �% A �� �#" �)**�"���' &� ���� "# ��(� +, "�� +�� #%

+��"��) "����%#�*�"�#� *�"������

��" A = V TV −1 %#� � �#�����+ ��' �+" ������  ) �#" +��"��) V ��� � "������#�� T �

�% &� ��-�� W := V −T ��� "�.� "�� "����,#�� #% A' &� �����(� "�� �/+�(� ��" �/+�"�#�

AT = WT TW−1 ��� �" �� #�(�#+� "��" W TV = V −1V = I� 
�#+�� "�� �# +*�� #% V �#

�#" %#�* �� #�"�#�#�� �����' "��) ��� #�"�#�#�� "# "�� �# +*�� #% W � 
�� ���"�� ����

#% "�� ��#�"�#�#�� �!�"�#� � �#��"�* �� "# -�� �+�� *�"����� V ��� W &�"� ����������	


�# +*���

�� "�� (��& #% "�� ���# �� ��� ����!#� �"���"�#�' #+� ��* �� "# ��"��*��� *�"�����

Vm =
(
v1, . . . , vm

)
, Wm =

(
w1, . . . , wm

)
�+�� "��"

W T
mVm = I ��� W T

mAVm = Hm =

⎛
⎜⎜⎜⎜⎝
α1 γ1

β1 α2
� � �

� � �
� � � γm−1

βm−1 αm

⎞
⎟⎟⎟⎟⎠ .

0� &�  -�� �+�� *�"����� �) �#*,+"��� "&# ��#�"�#�#�� �����

v1, . . . , vm #% Km(A, v1) ��� w1, . . . , wm #% Km(AT , w1).

�����' ��#�"�#�#�� �!�"�#� ��� �� ,��%#�*�� �) � *#��-��"�#� #% ���*$���*��"�

��(�� A ∈ R
n×n ��� v1, w1 ∈ Rn &�"� 〈v1, w1〉 = 1' &� ��"

ṽk+1 := Avk −
k∑

j=1

〈Avk, wj〉vj , w̃k+1 := ATwk −
k∑

j=1

〈ATwk, vj〉wj



���� �����	�
 ��
������ � �������������	����� ��������� ��

���

vk+1 :=
ṽk+1

βk
, wk+1 :=

w̃k+1

γk

���� ����
〈ṽk+1, w̃k+1〉

βkγk
= 〈vk+1, wk+1〉 = 1.

�� �� ��� �! ���" ���� vk ⊥ span{w1, . . . , wk−1} = Kk−1(A
T , w1)" #� 

k−2∑
j=1

〈Avk, wj〉vj =
k−2∑
j=1

〈ATwk, vj〉wj = 0.

���� $ ��%���&

αk := 〈Avk, wk〉

Hm ������� ��� ����'�� �'����&!��( )!'*�

�� $�)!'�" �����

VmW T
mx = x,

)!' x ∈ Km(AT , v1)" #� ��� ����'+'�� Hm �� ��� *��'�, '�+'��������!� !) ��� +'!-����!�

!) A !��! Km(AT , v1)�

��� ��!'��!&!��(�.���!� �(&!'���* ��� $� ����'�$�� �/�����( �� )!((!#��

��������	 
�� 
����������	
��	���� �
������
�

��� v1, w1 �= 0 �� ��������� 	��
 〈v1, w1〉 = 1� ��� β0 = γ0 = 0 �
� v0 = w0 = 0�
��� j = 1, . . . ,m

vj+1 := Avj
wj+1 := ATwj

αj := 〈vj+1, wj〉
vj+1 := vj+1 − αjvj − βj−1vj−1

wj+1 := wj+1 − αjwj − γj−1wj−1

βj := |〈vk+1, wk+1〉| 12
γj := sign(〈vk+1, wk+1〉)βj

�� βj = 0� ����

���� vj+1 :=
vj+1

βj
� wj+1 :=

wj+1

γj

���

���
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�	���
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����

���� ����� 	��
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�� �
� �����
��� �����
��

��� �� ��� ���������� ��  �� � � !��"���" � ���# �$$%��� �� &���% ����� ���'(���� �!

%����� (�����% �#���&�� ��� � �� $'�$��� %�� '� (������� )�)�*�#���&� ��$�������� ��

G :

{
ẋ(t) = Ax(t) + bu(t),

y(t) = cx(t)
+��,-

� ��� A ∈ R
n×n ��� b, cT ∈ R

n�

.# �$$%#��" ����%�� ��������� �� Km(A, b) !�� ��&� m < n ��� 

rg(Vm) = Km(A, b) ��� V T
mVm = I,

�� (�� ��/�� � ���'(�� ����� �#���& ��

Â := V T
mAVm ∈ R

m×m, b̂ := V T
m b ∈ R

m ��� ĉ = cVm ∈ R
1×m.

��� � � ���'(�� ����� �#���& (Â, b̂, ĉ) �� ��%% ��� 0� �0%� �� /�� �� ����� 0�'�� ��

"'������� ��� ���0�%��#1 ������� � � &���2����� 0� ��� � �� $��(��'�� �� "�2�� 0# +,�3-

��� � � !�%%����" � ����&�

������� ��	 
������ ���	
���
 ��

���� �� ��������

�� Vm �� �����	
� ���
 ��
 ����������	 �� ��������	 
���
���� ��������� �� A �	� b�
��
	

ĉÂk−1b̂ = cAk−1b, k = 1, . . . ,m

��
� ��
 ���� m ������ ��
���
	�� �� (Â, b̂, ĉ) �	� (A, b, c) 
��������

����� � �� ����� �	 
��	 
		�� �
�� VmV T
m �
 �
	 ���
������ ����	����� �� Rn ���� Km(A, b)�

�
�

b ∈ rg(Vm) ⇒ Vmb̂ = VmV T

m b = b.

�	 ��� �������	 �� �
	 
��	 ��� �	�

Ab ∈ rg(Vm) ⇒ VmÂb̂ = VmV T
mAVmV T

m b = VmV T
mAb = Ab

���

Ak−1b ∈ rg(Vm) ⇒ VmÂk−1b̂ = VmV T
mAk−1b = Ak−1b, 1 ≤ k ≤ m

�� ������
���� 
���	 ĉ = cVm �� ������


ĉÂk−1b̂ = cVmÂk−1b̂ = cAk−1b, k = 1, . . . ,m

�
��
 �������	
 �
	 ������



���� ����� 	��
��
�� �
� �����
�
��� �����
�� ��


� Ĝ(s) ������� ��� �������� ��� �!�� �� (Â, b̂, ĉ)" ���� #!�� ��� ��$% �� &'�()" ��� H∞
����� *��#��� G(s) ��� Ĝ(s)  �� *� +!,�� ��

‖G− Ĝ‖∞ =

∥∥∥∥∥
∞∑

k=m+1

ĉÂk−1b̂− cAk−1b

sk

∥∥∥∥∥
∞
.

����" !� ��� ���-�,  ��. !���� �� G(s) ��� Ĝ(s) ��� � ���!� $!/!�� �� 0��� ��. !���$1

����" � �/�$$ �����  �� *� ����!����

���! �" ��� ���+� �� ��� 2�$/��  �����$$�*!$!�1 /���!3 !� �4��$ �� Kn(A, b)� ��� �"

!� ��� �����5�%� � ���$!0��!�� �� � �1���/ !� ���  �/%$���$1  �����$$�*$�" ����� /��� �3!��

� /�3!/�$ m < n" �� � ���� rk(Km(A, b)) = m� 
� ��!�  ��� Km(A, b) !� A5!�,��!��� ���

#� +��

AVm = VmHm.

��!� !� �3� �$1 ��� ��/� %��*$�/ �� ���  ������ �!�� �� ������� ����	����
����� 
������������


� {w1, . . . , wn−m} !�  ����� �� � ���� {v1, . . . , vm, w1, . . . , wn−m} !� �� ��������/�$ *��!�

�� Rn" #�  �� ��6��

T :=
(
Vm W

)
:=

(
Vm w1 · · · wn−m

)
��� �3%���� AW ��

AW = V A2 +WA3.

����

AT =
(
AVm AW

)
=

(
AVm V A2 +WA3

)
=

(
Vm W

)(Hm A2

0 A3

)
.

7!� � b ∈ Km(A, b) #� +��

b = Vmb1 =
(
Vm W

)(b1
0

)

���  ����4����$1

T TAT =

(
Â A2

0 A3

)
��� T TB =

(
b̂
0

)
.


�  �� $��!��" ����$�!8� �$+��!��/  �� *� ���� !� ����� �� ��/�,� �� �����$$�*$� ������"

#�! � ���� ���  ���� ��1 ������ 91 ��!�+ ��� ��/� �� ��� �����%���� �1���/" #�  �� +�

�� ��� ��/�,� ���*���,�*$� �������

�������" ���/ ��� %���� �� ������/ ��: #� -��#" ����

Vm

(
b̂ Âb̂ · · · Âm−1b̂

)
=

(
b Ab · · · Am−1b

)
,

��� ��� �

rk(
(
b̂ Âb̂ · · · Âm−1b̂

)
) = m.



�� ���� ����	 
����
��� ��� ����������
 ��
�����


��� ����� ��������  ��� ��� !�����""�#�"��$ �% (Â, b̂, ĉ)& ���� � ��'(!�' �$����& ���("����
%��� ����"'�)� �"�������& �� �" �$� !�����""�#"��

���� ��� !�����(!���� �% ��� *����������"�+����� �"�������  � ,�� & ���� *����������"�+�����

!�� ��,� !��� �% #���& ��� !�����""�#"� ��' ��� �#���-�#"� �(#�.�!�� 
�(�& ������' �%

�.."$��� ����"'�)� �"������� �(!!����-�"$ �� ����-� (�!�����""�#"� ��' (��#���-�#"�

������& ��� �'�� !�("' #� �� (�� *����������"�+�����  ���

v1 :=
b√|bc| ��' w1 :=

cT√|bc| ,

��' '�/�� ���� � ��'(!�' �$���� ��

Â := W T
mAVm, b̂ := W T

mb ��' ĉ := cVm.

�� ���� !���  �  �("' �0.�!� � "� �� ����� !��.���' �� ����"'�)� �"�������&  ��!� !��

��'��' #� ����-���' #$ ��� ��������� �% ��� ��0� ��������

������� ��	 
������ ���	
���
 ��

���� �� ����
����������
����

�� Vm ��� Wm ��� �	
����� ���� 

� �������
��� �� 

� ����������	
��	���� �
������



� A ��� ����� � 

��
ĉÂk−1b̂ = cAk−1b, k = 1, . . . , 2m

��� Â� b̂� ĉ �� ������ �� ���������

����� � ����� b ∈ rg(Vm) ��� WT
mVm = I� �	 
����
� �������	��� �� 	�� ������ �
 v1 ��� w1�

	��	

Vmb̂ = VmWT
mb = Vm

⎛
⎜⎜⎜⎝
wT

1 b �= 0
0
���

0

⎞
⎟⎟⎟⎠ = v1w

T
1 b =

b√|bc|
c√|bc|b = b

���������	��� 
� ��� ��������

Ab ∈ rg(Vm) ⇒ VmÂb̂ = VmWT
mAVmWT

mb = VmWT
mAb = Ab

���

Ak−1b ∈ rg(Vm) ⇒ VmÂk−1b̂ = VmWT
mAk−1b = Ak−1b, 1 ≤ k ≤ m

��� ���� ��� �� ���� 
�	� c� ���� ����� cT ∈ rg(Wm) ��� V T
mWm = I� �	 
����
�� 	��	

ĉWT
m = cVmWT

m = (V T
m cT )TWm = c.

����

(cA)T ∈ rg(Wm) ⇒ ĉÂWT
m = cVmWT

mAVmWT
m = cAVmWT

m = (V T
m (cA)T )WT

m = cA

���

(cAl−1)T ∈ rg(Wm) ⇒ ĉÂl−1WT
m = cAl−1VmWT

m = cAl−1, 1 ≤ l ≤ m



���� ���������	
 ��
�
�	� ��� ����
��� ���
��� ��

����������	 
��
 ������� ����� ��

ĉÂl+k−1b̂ = ĉÂl−1WT
mÂVmÂk−1b̂ = cAl−1AAk−1b = cAk+l−1b, 1 ≤ k, l ≤ m

�
��
 ��������� �
� ������

�� ������� ��� ����� ��� �� ��!� ��� ��"#$�" �%���& (Â, b̂, ĉ) '� !( !%� $�)���((!�(��
�""'�'�)!((%  � �!*�

(
ĉT ÂT ĉT · · · (ÂT )m−1ĉ

)T
W T

m =
(
cT AT cT · · · (AT )m−1c

)T
 �'$� '&�('�� ��!� (Â, b̂, ĉ) '� !(�� �����*!�(��

��&�!�')+ ��� ���#(�� �� )#&��'$!( �,���'&�)�� ')"'$!��� ��!� -!(!)$�" 
�#)$!�'�)

+�)��!((% ������&� ! +��!� "�!( ������� ��+!�"(��� ��  ������ ��)�("' �� -'�����+�)!('.!�'�)

�!� ���) #��"�

	�*�����(���� ����� !����!$��� !�� '���!�'*� &����"��  �'$� &�!)� ��!� !) !����,'&!�'�)

$!) �� !��!')�" *��% �/$'�)�(%� 0)����#)!��(%� )�'���� ��)�("' )�� -'�����+�)!(.'!�'�)

+#!�!)���� ��� ��!�'('�% �� ��� ��"#$�" &�"�(�

������� �	
 10)��!�(� -'�����+�)!('.!�'�)2

3�� #� $�)�'"�� ��� ��((� ')+ �%���&

A :=

⎛
⎝−11 3 4

3 −9 5
4 5 −19

⎞
⎠ , b :=

⎛
⎝5
5
0

⎞
⎠ , c :=

(
1 4 4

)
.


��) cAb = 20 !)" -'�����+�)!('.!�'�) $!))�� �*�) !��!') ! ��!�(� 4��� ��"�� !����,'&!�'�)�

��� ��� �!5� �� $�&�(���)����  �  !)� �� &�)�'�)� ��!� ����� '� ! �'&�(�  !% �� "�!(')+

 '�� ����6�%���&��  �'$� '� $!((�" ����� �����	
 �����
�
� !)" $!) �� �#�(')�" !�

��((� ��

�� B ∈ R
n×q  '�� B =

(
b1 · · · bq

)
� ���) ��)�("' '���!�'�)  '(( �� !��('�" ���!�!��(%

�� A !)" bi ') ��"�� �� +�� ��� &!��'$�� V
(i)
m � �#���7#�)�(%� ����� &!��'$��  '(( ��

$�((�$��" ') �)� &!��', V :=
(
V

(1)
m · · · V

(q)
m

)
� �����')+ !) �����)��&!( �!�'� �� V

$!) �� "�)� �% ��� $�&�#�!�'�) �� ! ��"#$�" 8�6�!$���'.!�'�) �� V � �')!((%�  � $�����
��� 4��� m $�(#&)� �� Q !� Vm �� "�4)� ��� ��"#$�" �%���&�


�'� &����" $!)  ��5 ��� ���'�'*� ���� �%���&�� �#� +�)��!((% '� "��� )�� ������*�

!(( ��� #���#( �������'��� ��!�  � �!*� ') $!�� �� ! ���� �%���&�

���� �����	�
� �
���	
� ��� ���	�	�� �������

�� ��� -!(!)$�" 
�#)$!�'�)� ���/$'�)� �!�$�')+ +�)��!((% "��� )�� ������*� ')���)!(

���'�'*'�%�



�� ���� ���		
�
��� 
����
�� 	�� ���
�
�� �����
�

������� �	
 ��������� �� !�!"!�# ��� ��� ��"�$%


& '�� !$�� �(�  # ��)

A :=

⎛
⎝−26 3 9

3 −23 7
7 7 −31

⎞
⎠ , b :=

⎛
⎝9.6
2.1
4.6

⎞
⎠ , c :=

(
4.9 9.9 1.7

)
,

�(�� *!���(�+����!,��!�� ���$ �� �  �'��$-��$��  # ��)

A :=

(−12.78 −4.10
4.10 −14.52

)
, b = cT :=

(
8.70
0

)
,

.(!'( (� ���� !� −13.65± 4.00i� �(/ 0 1# 2�))� 3�40 �(! ! ��!�(�� �� �������� ���

�� !��������# �� !�!"�  # ��)�

��!��0 !� )��# ���)��� �& �!���� �� !�!"� �
��  # ��) 0 ���5'!��� 
��'(!�+ ���&��) 

&�!��# .���� 
� �(� &����.!�+ .� .!�� 6�$ �� ��������!�� &�� �(! 1�(�"!�/�0 .(!'( ! +!"��

1#  �)� !����� �!�+ �������!� �& �(� 7/ � ��� ����$ ���5'!��� 
��'(!�+ )��(�$ �

� )���!���$ !� �(� !����$/'�!�� �� �(! '(�����0 ���+�- '���  # ��) / /���# ��  �  �

 ��� � A )���!�0 � �(�# �� /�� &��) �(� $! '���!,��!�� �& ����!�� $!8�����!�� �9/��!�� �


� �(����� : .� .!��  ��0 �(�� �(� � $! '���!,��!�� )���!'� �&��� (�"� �(� �$$!�!����

�������# �& 1�!�+  #))���!'�


� �(! '� � .� ;��. &��) ���3%0 �(�� ���5'!��� 
��'(!�+ 1# �����$! �� /�� !� �

 #))���!' 
��,��� )���!� Â� 
& A ! � #)����!'���#  ��1�� ��$ b̂, ĉ � 00 .� (�"� &�/�$

� �� !�!"� ������!)��!���

�1 ��"�0 !& A !  #))���!' ��$ � #)����!'���#  ��1��0 �(�� A )/ � 1� ��+��!"� $�6�!���

*# ������� �	
��	��� 
�����	�� .� '�� '��'�/$�0 �(�� αj = vTj Avj < 0� �!�'� �(� 6� �

'��/)� �& Vm ! +!"�� 1# v1 =
b

‖b‖2 � 00 .� '�� +!"� �(� &����.!�+ �����+/� �� �(����)

<�<�

���
��� �	� ������ ����� 	
������ �
�
����� ���������

��� (Â1, b̂1, ĉ1) �� ��� ����	�� 
��� ����� �
���� �������� ���� ��
���
�	 ��	�����

�� 
������ ��� � �������� �
���� (A, b, c)� ���� (Â1, b̂1, ĉ1) �� ����
� �������� ���

��
������	 ��������
 	�� �� ���������� �� 	��� ���� A = AT �� bTAb < 0�

�(��/+( �/� ��� �(� $! '/  �$ ��$/'�!�� )��(�$ !� �(� '(����� 1�&���0 �(� 
��,���


���!� �������# .� 1� !'���# �(� )�!� $!5'/��#� ���� .� (�"��  ���0 �(�� �(�  #))���#

�&A)�;� !� "��# �!;��#0 �(�� ��
���
�	 ��	����� �� 
������ �� /�� !� �� � #)����!'���#

������!)��!��0 .(��� Â ! +/�������$ �� 1� � 
��,��� 
���!��

�(� �����+��!"!�# �& b̂ ! �� !�# �  /��$ 1# �(� &�'�0 �(��

b̂ = V T
m b =

(‖b‖2 0 · · · 0
)T � 0.

���'�0 .� ��� ��&� .!�( �(� ���1��) �& � �����+��!"� ĉ0 .(!'( +�������# '����� 1�

+/�������$� ��.�"��0 � .� (�"� 7/ �  ��� &�� b̂0 !& cT = kb .!�( k ≥ 00 �(�� ĉ � 0�



���� ���������	
 ��
�
�	� ��� ����
��� ���
��� ��

������� ��	

��� (A, b, c) �� � ���	�	
� ������ 
	�� A = AT ��� b = kcT ��� k > 0� ���� ���������

	
������ 
� ������� ��
��� ������� 	� �� ��������	����� ������ ���	�	
� ������ (Â, b̂, ĉ)�


������ ��� �������� ����!"��! �� ��� �!� �" #$�����%����$&��$��� 
�'�(��) * �!$�%

#$�����%����$&��$��) ��� ! ����� �" A +��! ��� �!!��� ��� �! �,���$- !��*$�$� �"

��� .�!� ��+�� ��+�-�+ ! !���) �! !��� $� �/��,�� ��0� ��!���+ '� ��1�$�� cAb < 0�
�������) #$�����%����$&��$�� ��'� ! �!!���! ��� �����%��$($� �" b̂ ��+ ĉ * W T

mVm = I�
	�(�������!!) $" A = AT ��+ b �= kcT '� ���+ �� ,� ��� ,�$-�) ���� '� �$%�� ��!� ���

���&��� ����$/ ,��,��� �" Â "�� � (�� ��' ��+���


���
�� ��� 23�' ��+�� #$�����%����$&��$��4

���!$+�� ��� ! !���

A :=

⎛
⎜⎜⎝
−9 4 0 0
4 −12 3 0
0 3 −6 1
0 0 1 −4

⎞
⎟⎟⎠ , b :=

⎛
⎜⎜⎝
3
3
0
1

⎞
⎟⎟⎠ , c :=

(
1 2 4 1

)
,

���� #$�����%����$&��$��  $��+! � !�-��+5��+�� ! !���

Ab :=

(−2.70 −1.90
1.90 −5.90

)
, bb = cT :=

(
3.16
0

)
,

'�$-� $! -����� ��� ! �����$-� �� -�����!� �����+$ %$(�!

Aa :=

⎛
⎝−6.37 2.78 0

2.78 −10.03 4.97
0 4.97 −9.89

⎞
⎠ , ba :=

⎛
⎝4.36

0
0

⎞
⎠ , ca :=

(
2.29 3.03 2.59

)
.


�� .�!�5��+�� �,,��/$���$�� * #$�����%����$&��$�� ���+! �� � �����$(� ����� �" 6�07)

'�����! ��� ��$�+5��+�� ! !��� �*��$��+ * �����+$ %$(�! 4.39 · 10−3� 
��!) �����

��� �/��,��! "�� ,�!$�$(� ! !���!) '���� �����+$ ,��"���! � %���� +��� *�����) ����

#$�����%����$&��$��) ����%� ��� �,,��/$���$�� '�! !��*���

�� ���,��� 7 '� '$�� +$!-�!! �/��,��!) '���� #$�����%����$&��$�� ,��!��(�! ��� ,�!$�$($� 

"�� �� ��+�-�+ ��+�� ��+ �����+$ ��! �� !��, �� � ��-� ����$�� !��%�) +�� �� ��� ($����$��

�" c � 0�

�� -�!� �" � ���5! �����$- A) �����+$ '$�� �!���� ��� ������ � ! �����$- Â) *�-��!�
��� -��!$+����$�� �" ��� �++$�$���� ����$�! $� Hm ��8�! $� (�� ���$8�� �� ,��!��(� ���

,�!$�$($� "�� �$%��� ��+��!� 
���) #$�����%����$&��$�� $! -����� ,��"���*�� *�-��!� �" $�!

%��������+ *��+ ����$/ !���-���� '$�� βj = ±γj � � +$��-� -��!�1���-� �" ��$! $!) $" �



�� ���� ����	��
� �	����	
 ���
�
 	
�������

������ �� ����������� �� � ��� !������ �������������� �����"# �$�� %��&'���� ���'$��(
���� ����)� ��� ���!)�� �� � *�����+� ������� �� %$�*��� , -� -�)) ��� $�- �� ����� '����
-$��� �$� �������� *��*������ ��� ��������� �� ��� (�+�� � *������

����'�# �$����� ��. $�)�� ���)) ��!�# �� b ��� c '������ ��(���+� �)������� ���'�# ���
������ -��$ A = AT # b = kcT ��� k > 0 �!�� �� � *�����+� ������ ��� '�� �� ���)�/��
�� 	���)��0
��'/��� �� �$�� �����# 	���)��01����$�(���)�/�����0
��'/�� '����� ��)� ��
!��� ��� �**��"�������# �!� �)�� �����*����� �� *�����+� ���)�/����� �)(����$��� �� �$�
+��- �� %$�*��� 2# -$��� -� $�+� ����# �$�� � *�����+� ���)�/����� ��� ������� �� $�($
������ �� $��� �� ������# �$�� �� �� �����+����� �� (���� ��*�����'��

	 �!��$�� ����������( *��*���� ������# -$�� -� ��'!� �� �$� �"�����) *�����+���� 3��'�
�!� ���$��� ���'$ �$� 4��� m# ���*�'��+�)� 2m ���5�+ '��&'�����# -� 5��- ���� 67�89#
�$�� �$� ����� ���-��� �$� ��*!)�� ���*����� �� G ��� Ĝ '�� �� (�+�� ��

|g(t)− ĝ(t)| =
∣∣∣∣∣

∞∑
k=m+1

ĝi − gi
t(k−1)

(k − 1)!

∣∣∣∣∣ ≤
∞∑

k=m+1

|ĝi − gi| t(k−1)

(k − 1)!

	� ��� �$� H∞ ����� -� '�� '��')!��# �� �$� ���5�+ '��&'����� ���'$ �$��� )����� �� /���
�!&'����)� ����# � ���)) ����� '�� �� �������� ��� �$!� �"�����) *�����+��� *�����+���
:�����!����)�# -� $�+� ���� �� �"��*)� ��2# �$�� �)�� ��� �$��� ���$��� -� '�� 4��
'�!���� �"��*)�� ��� �$� *�����+����� �� �"�����) *�����+����

���� �������	� 
������
 ���
�	 �
�������

	� �)�������+� -�� �� *�����+��( �$� �"�����) *�����+��� �� � 3�3� ������ '�� �� ��!��
�� ������/��( �$� ����� ���-��� �$� �!�*!�� �� �$� ���(���) ��� �$� ���!'�� �������
�$�� �� �$� '�����) ���� �� �$� �� '�))�� H2 ����) ����� ���!'���� ;72<�


��

Gr :

{
ẋr(t) = Arxr(t) + bru(t),

yr(t) = crxr(t)

�� � ���!'�� ����� �**��"������� �� ��2# -��$ Ar ∈ R
r×r ��� br, c

T
r ∈ R

n� �� u(t) �� ��
��*!�# �!'$ �$�� ‖u‖2 ≤ 1# �$�� -� '�� ���'���� �$� ����� ���-��� �$� �!�*!� �� G(s)



���� ��������� ����	
�� ��
�	� ���	����� ��

��� Gr(s) �� ��� ������� ��� �!�"�����#$�%���$� �� #$  $&�

max
t>0

|y(t)− yr(t)| = max
t>0

∣∣∣∣ 12π
∫ ∞

−∞
(Y (iω)− Yr(iω))e

iωtdω

∣∣∣∣ ≤ 1

2π

∫ ∞

−∞
|Y (iω)− Yr(iω)|dω

≤
(

1

2π

∫ ∞

−∞
|G(iω)−Gr(iω)|2dω

) 1
2
(

1

2π

∫ ∞

−∞
|U(iω)|2dω

) 1
2

≤
(

1

2π

∫ ∞

−∞
|G(iω)−Gr(iω)|2dω

) 1
2

‖u‖2

≤
(

1

2π

∫ ∞

−∞
|G(iω)−Gr(iω)|2dω

) 1
2

=: ‖G−Gr‖H2 .

��� H2"�$�% ���' �� #�$% ��� �!� �� ��$�'!� $# ��� &�  "(�$&� L2(iR) ���!� )*+,- &��!�
�� � �� ���� ���!� !$�������. $# �  %����/"�� '�� #'�!��$�� G $� iR #' 0  ��.∫ ∞

−∞
tr(G(iω)G(iω))dω < ∞.

��� �!� �� ��$�'!� $# ���� ���!� �� .���� ��

〈G,H〉 := 1

2π

∫ ∞

−∞
tr(G(iω)H(iω))dω

#$� G,H ∈ L2(iR)� �� !�� �� ��$&� )*+,- ���� ��� ��� $# �  %����/ #'�!��$�� G(s) ∈
L2(iR)- &��!� ��� ��� ���! �� ��� $��� ��.�� �� # � ���- �(s) > 0- �'� �� � ! $��� �'����!�
$# L2(iR)- &��!� �� !�  �� H2� �$��$���- ��� ��� $# �  ����!� � ��$��� ��� ��� ����$�� 
�����#�� #'�!��$�� ���������� � �'����!� $# H2 )*+,�
1'� �$ $'� ������!��$� �$ ��� ���� � 2�2	"�����%� &� ��0��

〈G,H〉H2
:=

1

2π

∫ ∞

−∞
G(iω)H(iω)dω =

1

2π

∫ ∞

−∞
G(−iω)H(iω)dω.

���

‖G‖H2 =
√

〈G,H〉H2
.


$��!�- ���!� 〈G,H〉H2
= 〈H,G〉H2

�� #$  $&�- ���� 〈G,H〉H2
%'�� �� ��� �

�� ��� #$  $&��. &� &�  ������� � %���$�- &��!� �� !�  �� ��������� ����	
�� ��
�	�

���	����� 3����4 )�5,� ���� %���$�  $!�  � %���%�6�� ‖G−Gr‖H2 - ��%��. �$ ��������
����� ��� ��� �'� �$ ��� �� ���$� �$ ��� $� �'����!��- �� !�� �� ��� ��� �$  ��.�"�!� �
�����%��

��� %��� ���� ������ ��� ��������� ����	
�� ��
�	� ���	����� �� � �	��
� ������
�

����$�!� !�  �� ����	
�� �
����	����	
- &��!� &� &��� �$ ���!'�� �$&� �$%��� ���!���.
!$������ $# 0����. � ���'!�� �����% Gr ���� ������$ ���� ��� �� '�� $# G(s)- ��� %����
������$��  � �$%� ���������� �� '��- �� .���� �$���� {σ1, . . . , σr} ⊂ C\σ(A)- !�  �� �������



�� ���� ����	��
� �	����	
 ���
�
 	
�������

����� ��� ��������� �������� ������ 	� �����! "#�# #�!$�� ���!��� �����$�������% �"�
$��&��! ��'"��# �� ��� �������� �( Gr% #� ����

Gr(σk) = G(σk) ��' G
′
r(σk) = G

′
r(σk), 1 ≤ k ≤ r

�� �)"���������

cr(σkI−Ar)
−1br = c(σkI−A)−1b ��' cr(σkI−Ar)

−2br = c(σkI−A)−2b, 1 ≤ k ≤ r.

��� �*$��##��� c(σkI − A)−(j+1)b �# �����' ��� j+�� !�!��� �( G(s) �� σk ��' ,� ,���
�� !���� ��� -�#� �,� !�!���#� .� ,��� #��% ���� ���# $��&��! ��� &� #����' �����������
��' �# #���� �� ������' �� 	����'�/0������ �����1������

�� ��'�� �� #��, ���# ,� ���#�'�� � ��'"��' ��'�� !�'�� Gr ���#��"���' &� ��� #�+�����'
�������� �		�
����
�
�� ��� �����2�� �$$��*�!����� ��# ��# ��� �� �� ��� #��"����
�$$��*�!����� �( $������ '�3�������� �)"�����# 4�56 ��' ��$��#���# �  �������1����� �(
��� ������ #"&#$��� !����'# '�#�"##�' �� ������� ��7� �� ��#� �( � ������ #�#��! ���#
!����' ,��2# �# (����,#� 
�� Vr ��' Wr &�  ���� �+'�!��#����� #"&#$���# �( Rn% #"��
���� Vr ∩W⊥

r = {0}% ,���� W⊥
r '�����# ��� ����� ���� ��!$��!��� �( Wr� ��� �'�� �#

�� -�' �� v(t) ∈ Vr% #"�� ����

v̇(t)−Av(t)− bu(t) ⊥ Wr (�� ��� u(t). 8��79

�� ���# ��#� ��� �"�$"� �( ��� ��'"��' ��'�� #�#��! �# '�-��' �# yr := cv(t)� 
��
Vr,Wr ∈ R

n×r '����� !������# ,��#� ���"!�# ���#�#� �( � &�#�# �( Vr% ��#$�������� Wr�
���� ,� ��� ,���� v(t) = Vrxr(t) ,��� xr(t) ∈ R

r ��' ,�  �� (��! 8��79% ����

W T
r (Vrẋr −AVrxr(t)− bu(t)) = 0.

���# ���'# �� � ��'"��' ��'�� #�#��!  ���� &�

Ar := (W T
r Vr)

−1W T
r AVr, br := (W T

r Vr)
−1W T

r b ��' cr := cVr. 8��:9

�&#����% ��� ���#�� "������ �( W T
r Vr �# � '����� ���#�)"���� �( Vr ∩W⊥

r = {0}% &���"#�
���# �# �)"������� �� ��� 2�����% ker(W T

r Vr)% �( W
T
r Vr &��� �������� ;"�����% �( ,� ��)"���

��� &������ ������� �( Wr ��' Vr% ���� &� ����#�� Vr = Kr(A, b) ��' Wr = Kr(A
T , cT )%

,�  �� ��� #�!� ��#"��# �# (�� 0������ �����1�����/	����'�� .��� ��� (����,�� 
�!!�
,� ,��� ������ ���# $����'"�� �� �"� �����$������� $��&��!�

����� ���

�� σ ∈ C \ {σ(A) ∪ σ(Ar)}� ���� ��� ��		�
��� 
��������
 ��	��

��� �� (σI −A)−1b ∈ Vr� ���� Gr(σ) = G(σ)�

���� �� (σI −AT )−1cT ∈ Wr� ���� Gr(σ) = G(σ)�

����� �� ���� �

�������
 �� ��� ��� ���� ��	�� ���� Gr(σ) = G(σ) ��� G
′
r(σ) = G

′
(σ)�



���� ��������� ����	
�� ��
�	� ���	����� ��

����� � ��� ��� �� �	 
���
�� G(σ)−Gr(σ) �
 �
��� 	� (σI−A)−1b �
� (σI−AT )−1cT � ����
��
 �
 �	

 
���

��� �� ��

�����
� Vr �
�Wr �� �
�
� 	� ��
 �	��	��
� ��

�� ��	�
���	
�

Pr(σ) := Vr(σI −Ar)
−1(WT

r Vr)
−1WT

r (σI −A)

�
�

P̃r(σ) := (σI −A)Pr(σ)(σI −A)−1.

�	 �
���� ���� ��
�
 ��

�� �����
�� ��
 �
�

� ��	�
���	
�� �
 


� �	 
	���
� ����

(σI −Ar)
−1(WT

r Vr)
−1WT

r (σI −A)Vr = (σI −Ar)
−1(σI −WT

r AVr)

= (σI −Ar)
−1(σI −Ar) = I.

����

Pr(σ)
2 = Vr[(σI −Ar)

−1(WT
r Vr)

−1WT
r (σI −A)Vr](σI −Ar)

−1(WT
r Vr)

−1WT
r (σI −A)

= Vr(σI −Ar)
−1(WT

r Vr)
−1WT

r (σI −A) = Pr(σ)

�
� P̃r(σ)
2 = P̃r(σ)� �����
�� �� v ∈ Vr� �
 ��
 
���
�� �� �� v = Vrx ���� x ∈ R

r �
�

Pr(σ)v = Vr(σI −Ar)
−1(WT

r Vr)
−1WT

r (σI −A)Vrx = Vrx = v

�

�
� Pr(σ) �� � ��

�� ��	�
���	
 	
 Vr �
� Vr = rg(Pr(σ))� �
 ��
 ���
 ��� �
 ��


��	�� ���� P̃r(σ)
T
�� � ��

�� ��	�
���	
 	
 Wr �
� Wr = rg

(
P̃r(σ)

T
)
�  	
�
!�

����

��
�
 W⊥
r �� ��
 	���	�	
�� �	���
�

� 	� Wr �
 ��
 �	
����
� ���� W⊥

r = ker(P̃r(σ))�
"� �
�����
� Gr(σ) ��

Gr(σ) = cPr(σ)(σI −A)−1b = c(σI −A)−1P̃r(σ)b

�
 �����


G(σ)−Gr(σ) = c(I − Pr(σ))(σI −A)−1b

= c(σI −A)−1(I − P̃r(σ))b

= c(σI −A)−1(I − P̃r(σ))
2b

= c(σI −A)−1(I − P̃r(σ))(σI −A)(I − Pr(σ))(σI −A)−1b #$�$%

��	� ��
 ��
	�� 	� ��

�� ��	�
���	
� &'$(� �
 )
	� rg(Pr(σ)) = ker(I − Pr(σ)) �
�
�	��
��	
��
��� ker(P̃r(σ)) = rg(I − P̃r(σ))� ����� ��	�� �	�
��
� ���� #$�$%� ���� #�%
�
� #��% �	���
�
 	��
� �	 ��	� ��
 ���
 �	� ��
 �
�������
�� �
 


� �	 
	���
� �� �	
� �� σ �� 
	� �


��

����
 	� A 	� Ar� �
 ��
 �	
���
� Pr(σ) �
� P̃r(σ) �� ������*����
� ��
���	
� �
 σ�
����� ��
 �
������ �
 � �����

��� ����� 

����	���		� 	� σ� ��

 �	� �����

��� ����� ε
�� �	��	�� �
 ��
 ���
 ��� �� �
�	�
� ����

Vr = rg(Pr(σ + ε)) �
� W⊥
r = rg(I − P̃r(σ + ε)).

����� �	�
��
� ���� ��
 �
��
� 
���
��	
 	� [(σ + ε)I −A]−1

(σI + εI −A)−1 = (σI −A)−1 − ε(σI −A)−2 +O(ε2)



�� ���� ����	��
� �	����	
 ���
�
 	
�������

�� ���

c[(σ + ε)I −A]−1(I − P̃r(σ + ε)) = c[(σI −A)−1 − ε(σI −A)−2 +O(ε2)](I − P̃r(σ + ε))

= −εc(σI −A)−2(I − P̃r(σ + ε)) +O(ε2)

��� ����	�	
���

(I − Pr(σ + ε))[(σ + ε)I −A]−1b = −ε(I − Pr(σ + ε))(σI −A)−2b+O(ε2).


	����
����� �� �����
G(s)−Gr(s) = O(ε2),

����� �	���
��� ��� ��		��

������� ��� ������� σ ��� rg(Vr) �� rg(Wr) !" ���"! ��� �#�� ��� ������� "���� �� 

�����$��� ��� ��"��!��!�� �� Vr,Wr ∈ R
n×r !" $��"!%��� �&'!#������() ��� "��� ����� 

��� %� ���$���� *!�� �������+#��'� ����!��" Vr �� Wr) *���� W
T
r !" "'%"�!�'�� %(

W
T
r � ��*�#��) !� ��!" ��"� *� *�'� ,�������( ��� �� '� *!�� � ����+#��'� "����+"����

�����"�����!���

������� ��� 	������ ����	
��


��� G(s) �� � �����	 
�
��� 
��� 
�����
���� 	��	�
�������� (A, b, c)� {σ1, . . . , σr} � 
��

�� ��
����� 
����
� 
���� �
 ���
�� ����	 ����������� ����� ��� 
����
 ����	 �� ���������

���	
� ���

Vr := span{(σ1I −A)−1b, . . . , (σrI −A)−1b}
Wr := span{(σ1I −AT )−1cT , . . . , (σrI −AT )−1cT }

�����	 
��
����
 �� C
n� ���� �� ����
��� 	��� ���	���
 Vr,Wr 
��� Vr = rg(Vr) ���

Wr = rg(Wr)� ��� ������ 	������ 
�
��� Gr(s) ����� �� ��� � ������
 ��� �	
� �
�

������
 �� G(s) �� σk ��	 k = 1, . . . , r�

������� ��� #�����" (σiI − A)−1b ��� (σ1I − AT )−1cT �� ��� ���	
�� ��� �	���

����
������
�� 
���	���
�� �� ��� 
������� ������� � ����
� ��
���
���
�� ������
�� �	
� ��

�����
�����
�
�� ���	�� �� 	���� �	������ ��� ���� �� Wr ��� Vr ��� ��� ��
�����
��

��	�� �� ��� 
����� ���	
�� ������ ��	��  �����  ��
�
�! ����� �
�
���� � ���	
��

������ �� ���� ������� �
����
���

��� �	���
�� 
� ��"� ��" �� 
����� ��� ��
��� �������� 
� ����� �� �
�
�
�� ��� H2�������

��� ��
� �	����� "� "��� �� ���� �� � ���
�	� ���
�
��
�� �� ��� �
���� ����	
� 
� H2�

��� f(s) �� � ���������

 �	�
�
�� �� �� ���� ��� D ∈ C� 
��� f(s) 
� � 
������
�	�
�
��� "�

� 
� ���������

 �� D ��
��� ��� 
�� ������ ���� "� ������ �� Resλ[f(s)]
��� ���
�	� �� f(s) �� � ���� λ ��� ��	�

Resλ[f(s)] =
1

(k − 1)!

d(k−1)

ds(k−1)
[(s− λ)kf(s)], #$�%&



���� ��������� ����	
�� ��
�	� ���	����� ��

����� k �� ��� ����� �� λ�

����� ��� �������� ������	
��� �
 
�� H2�����	

��� G(s) ��� H(s) �� ��	 
���
��� ��	���� �
����	��
���� 
����� ����
��� ���
��	�
 ����

�	��
 {λ1, . . . , λn}� ��
��
������ {μ1, . . . , μm}� ����

〈G,H〉H2
=

m∑
k=1

Resμk
[G(−s)H(s)] =

n∑
k=1

Resλk
[H(−s)G(s)].

����� � ��� ����� �	 
�	� ��� 
�����
���� �� ��� ���������� ��	���� ������� ��� �� G(−s)H(s)�
�� 
		������� �� �	 ���
�� ��
� ��� ���� 	�����
�����	 �� G(−s)H(s) �� ��� ���� �
�� ��
��

�� ��� ����	 �� H(s)� ��� 	� ������� �
��� R > 0� �� �
� �����	� ���� !� ��� ���� �
��
	���������
� �������

ΓR := {z ∈ C | z = iω ���� ω ∈ [−R,R]} ∪
{
z ∈ C

∣∣∣∣ z = Reiθ ���� θ ∈
[
π

2
,
3π

2

]}
.

"� �� ��#�� ���� γR(ω) := iω ���� ω ∈ [−R,R] �� �
� ����� !� ��� ��#������ �� ��� ���$�
������
�

〈G,H〉H2
=

1

2π

∫ ∞

−∞
G(−iω)H(iω)dω = lim

R→∞
1

2iπ

∫
γR

G(−s)H(s)ds.

�������� 	���� G(s) 
�� H(s) 
�� 	������� ������� �� �
� �	���
��

lim
R→∞

∣∣∣∣ 1

2πi

∫
Reiθ

G(−s)H(s)ds

∣∣∣∣ ≤ lim
R→∞

1

2π
sup

s=Reiθ
|G(−s)H(s)|Rπ = 0


�� ���	 !� ��� ��	���� �������

〈G,H〉H2
= lim

R→∞
1

2iπ

∫
ΓR

G(−s)H(s)ds =

m∑
k=1

Resμk
[G(−s)H(s)].

� ������ ����������� �� ��  ! ��" !�� #��$% �� ��� ��&&����' ����&&!�( !)��� ���H2*��� +

����� �� ��&& ��� �� ����� �� �,-&!�� ��� H2*������


���

��� ���

�� G(s) �
 � 
���
��� ��	���� �
����	��
���� 
����� ����
��� ���
��	� ���� 
����� �	��


{λ1, . . . , λn}� ����

‖G‖H2 =

(
n∑

k=1

Resλk
[G(s)]G(−λk)

) 1
2

.



�� ���� ����	��
� �	����	
 ���
�
 	
�������


�� {λ1, . . . , λn} ��� {λ̂1, . . . , λ̂r} �� ��� ����� �� G(s) ��� � ��� !�� ����� "���� Gr(s)#
�����!�$%��&# ��� ��� "� ���� ��� ����� �� Gr(s) ��� �$��$�!�� ' �����# ��� φi ��� φ̂j ��
��(��� �� �����)�

φi := Resλi
[G(s)] ��� i = 1, . . . , n ��� φ̂j := Resλ̂i

[Gr(s)] ��� j = 1, . . . , r.

���� ��� H2*����� �� ��� �����+$"��$�� !�� �� �+������� ��

‖G−Gr‖2H2
=

n∑
i=1

Resλi
[(G(s)−Gr(s))(G(−s)−Gr(−s))]

+

r∑
j=1

Resλ̂j
[(G(s)−Gr(s))(G(−s)−Gr(−s))]

=
n∑

i=1

φi(G(−λi)−Gr(−λi)) +
r∑

j=1

φ̂j(G(−λ̂i)−Gr(−λ̂i)). ,���-

'��" ,���- )� �����%�# ���� ��� H2*����� ��$��� � � �� ��� "$�"��!��� �� G(s) ��� Gr(s)
�� −λi ��� −λ̂i� .$�!� −λ̂i $� � ��$��$  �/��)�# ��� $��� !� �� �� �� ��� σi := −λi# )����
λ1, . . . , λr ������ ��� ����� )$�� ��� ���0��� ���$� ��� �� ��� ���� ���)� $� 1223# ���� ��$�
����!�$�� �� ��$��� ������"� 4 $�� )���� ��)�%��# $� ��� �����)$�0 )� )$�� ���)# ���� ���
$���������$�� $� −λ̂i $� �� 0������ $"������!�# ��!� �� �� )� )$�� ���# ��$� ���������� �
��!�����& !���$�$�� ��� ��� ���$"�� H2 "���� ��� !�$���

	� "���$���� $�$�$���&# � � �$" $� �� (�� �� �*�$"���$���� ��� !�� ����� �&���" Gr#
)�$!� $� ������ ��� ���$"�� $� ��� �����# ���� $� "$�$"$5�� ��� H2*������ �� �# $� )�
��(�� Ωr := {Ĝr | Ĝr ������ )$�� �$"���$�� �} )� !�� )�$�� � � ���$"$5��$�� ������"
��

‖G−Gr‖H2 = min
Ĝr∈Ωr

‖G− Ĝr‖H2 . ,��6-

��%$� ��&# Ωr $� ��� � !��%�+ ���# )�& ,��6- "�& ��������� " ��$��� ����� �������	
� ���
�� � ���!�$!�� "����� ��� 0����� "$�$"$5�� $� ���� �� ����$��

��������� �	
 ������ ������	
��

� ������� ���	�
 Gr �� ��

�� � ����� �������	
� ��

‖G−Gr‖H2 ≤ ‖G− Ĝ(ε)
r ‖H2 ,

��� �

 �������	
� �
�

 ε > 0 ��� ��� �

 ����
�������
 �	��
� ����
���
 ���	�
� Ĝ
(ε)
r

��	� ‖Gr − Ĝ
(ε)
r ‖H2 = O(ε)�

7� ������& /��)# ���� H2 $� � �$����� ���!� ��� �� � ��� !� �� ��$�/ ��� �  �$�0 ���
)���*/��)� !����!���$5��$�� �� ��� ���"��� �� ���� �����+$"��$�� $� � �$����� ���!� 12�3�
8����� �����&# ��$� $� ��� ����$���# �$�!� Ωr $� ��� � !����� � ����!� �� H2� �� ����� ��
�%��!�"� ��$� ������"# )� ��%� �� �����$!� � � ��� �$��� �� � !����$� !����# )�$!� $� 0$%��
$� ��� ��+� ������"�



���� ��������� ����	
�� ��
�	� ���	����� ��

������� ��	

��� {λ̂1, . . . , λ̂r} �� � ��� �� 	
��
��� 
�
��� 
� ��� �
�� ���� ���� 
���� ��	 	���� Pr(λ̂) ��
�� ��� ��� �� ��� ���� ��	�� ���
���� 
��
�� ���
���� �����
��� �
�� 
���� �� {λ̂1, . . . , λ̂r}�
���� ��� ������
�� ���	�

�
� Pr(λ̂) 
� � ������	� ������	
����
���� ����
��� �� H2�

�

� Gr ∈ Pr(λ̂) 
� �� ������� �� ���� �

���
���
��� 
���

‖G−Gr‖H2 = min
Ĝr∈Pr(λ̂)

‖G− Ĝr‖H2


� ��	 ���� 
�

〈G−Gr, H〉H2
= 0 ∀H ∈ Pr(λ̂).

����� ��� Gr ��
��� ��	 
� ��
!���

����� � ��� ���� �����	�
� �� �
����� ��� �� ��� ������ ������
��� �
� � ���� ��
�	�
����
�� ��� ���	�
�� �� Pr(λ̂)� ��� ����
� �����	�
� ������� �������� ���	 ��� ���� �
� 
� ���
���������������
 �� ��� ���	�
� �� 
��� �������	����
 �
 � ���
��� ����� �����

���� ������ ��� �� ���� ��  �!� � ��������" ��������� #�� ��� �$��%����" �# � �������

����� �"���% Gr &��� ��%$�� $�����

������� ��
 ������ ����	�
���

��� Gr �� � ����� �
�
�
"�� �� G� 
������
�� ���� �
�
�� 
����� ����

〈G−Gr, GrH1 +H2〉H2
= 0

��� ��� ���� ������� H1 ��	 H2 �� 
�� ��� ���� �
�
�� 
���� �� Gr�

����� � �� �����
 

〈G−Gr, GrH1 +H2〉H2
= 〈G−Gr, GrH1〉H2

+ 〈G−Gr, H2〉H2
= 0

�� ��
 �
����� 
� ������	 !�"# ���� ���� �� �$������
� �� 〈G−Gr, GrH1〉H2
= 0� %������#

��� {μ1, . . . , μmr} ⊂ R ��
��� ��� ���� ����� �� Gr(s) �
� {μmr+1, . . . , μmr+mc} ⊂ C \R ���
��	���� ����� �
 ��� ����� ���� ���
�� ���
 
� ������� �������
 ����	�������
 �� ��
 �����

H1(s) =

mr∑
i=1

ai
s− μi

+

mr∑
i=mr+1

bis+ ci
(s− μi)(s− μi)

=

mr∑
i=1

ai
s− μi

+

mr∑
i=mr+1

bi(s− αi) + ci
(s− αi)2 + β2

i

,

��� ��	� ai, bi, ci ∈ R �
� μi = αi + iβi�



�� ���� ����	��
� �	����	
 ���
�
 	
�������

���� ������ 	� 
� ��
���� 〈G−Gr, GrH1〉H2
�� �������

〈G−Gr, GrH1〉H2
=

mr∑
i=1

ai

〈
G−Gr,

Gr(s)

s− μi

〉
H2

+

mr+mc∑
i=mr+1

bi

〈
G−Gr,

(s− αi)Gr(s)

(s− αi)2 + β2
i

〉
H2

+

mr+mc∑
i=mr+1

ci

〈
G−Gr,

Gr(s)

(s− αi)2 + β2
i

〉
H2

.

�� 
�� ��������� �� ���
 
� ����� 
��
 ���� �� 
���� 
���� �
 ��	�� 
� �����

��
 {Ĝ(ε)
r } �� 
�� ��
 �� ���� �
���� 
������� �	��
���� �� ������ �� �����
��� ��� ��
�

‖Gr − Ĝ
(ε)
r ‖H2 ≤ Cε ��� ���� ����
��
 C > 0� ���� ��� ��� �	 ����
�! ����� ε > 0

‖G−Gr‖2H2
≤ ‖G− Ĝ(ε)

r ‖2H2
≤ ‖(G−Gr) + (Gr − Ĝ(ε)

r )‖2H2

= ‖G−Gr‖2H2
+ 2

〈
G−Gr, Gr − Ĝ(ε)

r

〉
H2

+ ‖Gr − Ĝ(ε)
r ‖2H2

.

"����� ��� ��� ��� �	 ����
�! ����� ε > 0

0 ≤ 2
〈
G−Gr, Gr − Ĝ(ε)

r

〉
H2

+ ‖Gr − Ĝ(ε)
r ‖2H2

. #��$%

&��	�� ���� 
��
 〈
G−Gr,

Gr(s)

s− μi

〉
H2

�= 0.

'! ���
��� Gr(s) =
Pr−1(s)

(s−μi)Qr−1(s)
� ��� ���� 
��!������� Pr−1(s) ��� Qr−1(s) �� ������ r−1�

�� ��� �����

Ĝ(ε)
r (s) :=

Pr−1(s)

(s− μi − (±ε))Qr−1(s)
,

����� 
�� ���� �� ±ε ��
���� 
��
 ��

〈
G−Gr,

Gr(s)

s− μi

〉
H2

� ���� ������ ��
������ �� Ĝ
(ε)
r

!�����

Ĝ(ε)
r (s) = Gr(s)± ε

Gr(s)

s− μi
+O(ε2),

����� ����� 
�

Gr(s)− Ĝ(ε)
r (s) = ∓ε

Gr(s)

s− μi
+O(ε2).

(�����	��
�!� �� ��


〈
G−Gr, Gr − Ĝ(ε)

r

〉
H2

= −ε

∣∣∣∣∣
〈
G−Gr,

Gr(s)

s− μi

〉
H2

∣∣∣∣∣+O(ε2)

���

‖Gr − Ĝ(ε)
r ‖2H2

= ε2
∥∥∥∥Gr(s)

s− μi

∥∥∥∥
2

H2

+O(ε3),



���� ��������� ����	
�� ��
�	� ���	����� ��

����� ����� 	
��	��� ��	� �
���

0 <

∣∣∣∣∣
〈
G−Gr,

Gr(s)

s− μi

〉
H2

∣∣∣∣∣ ≤ C̃ε

�
� �
�� �
��	��	 C̃ > 0� ���� �
� ε → 0 �� ���� � �
�	�����	�
� 	
 �
�
��

����� �� ���	��� Gr(s) =
Pr−1(s)

((s−αi)2+β2
i )Qr−2(s)

� �
� � ���� �
���
���� Qr−2(s) 
�

������ r − 2� �� ��� ��
� �� 	�� ���� ���� 	��	

〈
G−Gr,

(s− αi)Gr(s)

(s− αi)2 + β2
i

〉
H2

= 0 ��	� Ĝ(ε)
r :=

Pr−1(s)

(s− αi − (±ε))2 + β2
i )Qr−2

��� 〈
G−Gr,

Gr(s)

(s− αi)2 + β2
i

〉
H2

= 0 ��	� Ĝ(ε)
r :=

Pr−1(s)

(s− αi)2 − (±ε) + β2
i )Qr−2

,

����� �
������� 	�� ��

��

�� ����� �� ���� ������� �� !"��  ��  �� !#$�� ��"� �% "���&!�'  �� &�!% & �& σi := −λ̂i

%�� � ���("�� &�& �# Gr �! � &!#$�� $���& {λ̂1, . . . , λ̂r}� ��'� ��� �! � ������# ��� ! 

"�� )� &����*  ��  �!& !& � ��"�&&��� "���! !�� %��  �� �$ !#�� H2 #���� ���(" !���

������� ��	

��� Gr(s) �� �� ��	
����

��� �
�
�
��� 
� ��� 
��
��� H2 �
	�� ��	���

� ��
����

�
��� 
� ����� ��	 ������ ��� �
��� {λ̂1, . . . , λ̂r} 
� Gr(s) �
 �� �
����� ���� Gr(s)

�����
����� G(s) ��	 
�� 	��
���
��� �� {−λ̂1, . . . ,−λ̂r}� 
���

Gr(−λ̂i) = G(−λ̂i) ��	 G
′
r(−λ̂i) = G

′
(−λ̂i) �
� i = 1, . . . , r.

����� � �������� ���
��� 
�� ��	� H1 = 0 ��� ����	���� H2 ������

〈G−Gr, H2〉H2
=

r∑
i=1

Resλ̂i
[(G(−s)−Gr(−s))H2(s)]

=

r∑
i=1

Resλi [H2(s)](G(−λ̂i)−Gr(−λ̂i)) = 0

����� Resλ̂i
[H2(s)] �� ��
��� ����	������ �� ��� �
������ G(−λ̂i) = Gr(−λ̂i)�  
� ��	 ��

�
������ 	�� ���� H2 = 0 ���H1 ����	����� ���� �� ������	�
� 
� ���
��� 
��� Gr(s)H1(s)

�
������� � �
���� �
�� �� λ̂i ��� 	
��	��� ��	� G(−λ̂i) = Gr(−λ̂i)� �� ��� ���	� 	�� �������



�� ���� ����	��
� �	����	
 ���
�
 	
�������

�� (G(−s)−Gr(−s))Gr(s)H1(s) �� λ̂i ��

Resλ̂i
[(G(−s)−Gr(−s))Gr(s)H1(s)] = lim

s→λ̂i

d

ds
[(s− λ̂i)

2(G(−s)−Gr(−s))Gr(s)H1(s)]

= lim
s→λ̂i

(G(−s)−Gr(−s))
d

ds
[(s− λ̂i)

2Gr(s)H1(s)]

− lim
s→λ̂i

(G(−s)
′ −Gr(−s)

′
)[(s− λ̂i)

2Gr(s)H1(s)]

= −(G
′
(−λ̂i)−G

′
r(−λ̂i)) lim

s→λ̂i

[(s− λ̂i)
2Gr(s)H1(s)]

= −(G
′
(−λ̂i)−G

′
r(−λ̂i))Resλ̂i

[Gr(s)]Resλ̂i
[H1(s)].

����	 
� ����

〈G−Gr, GrH1〉H2
=

r∑
i=1

Resλ̂i
[(G(−s)−Gr(−s))Gr(s)H1(s)]

=
r∑

i=1

−(G
′
(−λ̂i −G

′
r(−λ̂i))Resλ̂i

[Gr(s)]Resλ̂i
[H1(s)] = 0.


� ������	 �� ��� ������������� �� Resλ̂i
[H1(s)] 
� �������� G

′
(−λ̂i) = G

′
r(−λ̂i)�

������� �������� �� ����� �� �� ��� �!� ���"� �#�� $� %�" &����" �"�!&'&(� ���(!�� )&�
�#� %��� &) #�'#�� &� �� *&!��� $#�%# %&����*&" �& �#� �"���*&!���&" &) #�'#��  �����������

	!�#&('# $� +"&$ "&$� �#�� �#� �"���*&!���&" &) G(s) �� {λ̂1, . . . , λ̂r} �� "�%������ )&�
�#� &*��,�!��� &) �#� H2-���&�� �#��� �� ���!! �#� *�&�!�, ��,��"�"'� �#�� {λ̂1, . . . , λ̂r}
��� � *��&�� ("+"&$"� �" �#� )&!!&$�"' $� $�!! �&!�� �#�� *�&�!�, $��# �#� #�!* &) �#�
$�!!-+"&$" ��	
��
� ��
���� .&� �#�� *(�*&�� $� #��� �& ��$���� &(� *�&�!�, �� �
)("%��&" &) {σ1, . . . , σr}� 
�� (�  �/"�

σ :=
(
σ1 · · · σr

)T
�" λ(σ) :=

(
λ̃1 · · · λ̃r

)T
,

$#��� {λ̃1, . . . , λ̃r}  �"&�� �#� *&!�� &)Gr �" Gr �"���*&!����G(s) �" G
′
(s) �� {σ1, . . . , σr}�

�������� λ(σ)  �/"�� � %&,*!�0 )("%��&" )�&, C
r → C

r� 1�  �/"�"' � %&,*!�0 )("%��&"

g(σ) := λ(σ)+ σ.

)�&, C
r → C

r� $� '�� )&� g(σ) = 0� �#�� λ(σ) = −σ� $#�%# �� �2(���!�"� �& �#�&��,
���� �#(� g(σ) �� �#� ��2(��� %�" � ��� )&� ��$�&"3� ,��#& � $#�%# �**���� ��

σk+1 = σk − (I + J)−1(σk + λ(σk)),

$#��� J �� �#� 4�%&���" ,����0 &) λ(σ)�

�" 5678 �� #�� ���" �#&$"� �#�� �"���� &) %&,*(��"' J �0*!�%��!�� J = 0 �� � )�����!�
%#&�%��  (� �& �,�!! �"����� &) �#� 4�%&���" ,����0 �" �#� "��'#�&(�#&& &) �" H2

&*��,�! σ� �#�� �(''���� �#� �#�)� (* ��� ������'� σk+1 = −λi(Ar) �" !�� � �& �"
�
���
��� ��
����� ������ ������
�� ����	��



���� ��������� ����	
�� ��
�	� ���	����� ��

��������	 
�� 
��������� ����	
�� ��
�	� ���	������

��� ��� j = 0 ��	 
���
� ������� 
����
 {σ(0)
1 , . . . , σ

(0)
r }�

���� ��� ��� j 
���
� ���� �����
�
 Vr ��	 Wr 
�
� ����

rg(Vr) := span{(σ(j)
1 I −A)−1b, . . . , (σ(j)

r I −A)−1b}
rg(Wr) := span{(σ(j)

1 I −AT )−1cT , . . . , (σ(j)
r I −AT )−1cT }

�

����� ����� Ar := (W T
r Vr)

−1W T
r AVr ��	 
�� σ

(j)
i := −λi(Ar) ��� i = 1, . . . , r�

���� ��
|σ(j)

i − σ
(j−1)
i |

|σ(j)
i |

< TOLσ� ��� � ���

����	 �������
� TOLσ� ���� �� ������� Gr

�
 ����� ��

Ar := (W T
r Vr)

−1W T
r AVr, br := (W T

r Vr)
−1W T

r b, cr := cVr.

�������
�� 
�� j := j + 1 ��	 
������� ���� 
��� �����

�� ��������� �������� � ����������  !�� � �" #!� ���#��� �!�"#�  �$�� �� σi := −λi� %!���
λ1, . . . , λr ����#� #!��� ����� %�#! #!� ���&��# �����$�� '�"��#$��#��(� #!� ��#��)���#���
�" #!� �����$��  �� �� *��( �������*� �$)��� ���( ��  ��� �" ���&�+� ��� �(�#�)��

���#!�� ������ ! �"  !�����& #!� ���#��� �!�"#� �� #� &�����#� #!�) �����)�(� ,$���&
�$)��� �� ������)��#� #!�� #$���� �$# #� %��- *��( �. ���#� ���� ��%�(�  ��*��&�� #�
� �#���� ���$#��� �"#�� � �)��� �$)��� �" �#���#�����

���#��� �" $���& J = 0� J  �� ���� ��  �)�$#�� ����� �#�( �� �!�%� �� #!� ��� �" /�01�
%!� ! %� %��� ��# ��� $�� !����

2�)����� #� #!� 2��. ���# ��# !��& ������ !�� �" 3� #��� ��4� ���� ���*���� ��)����
&��� ���$�#� �� ����� �� #�$� �#��� ��� ���$�#� �� �#���� �������)�#����� �� )��(
���)���� ���� ������*�� #!� ��#����� ����#�*�#( �" � �(�#�)� ���� ����( %!�� �#  �)��
#� ������ )�#�� ��� 3#���� �� "�� #!� �#!�� ��(��* �$���� �� )�#!�� #!�� ���� &�������(
��# !��� #�$�� �� �!�%� �� #!� "����%��& ���)����

���	��� 
�� 5���� ��# ��#������( ����#�*�6
7(  ���������& #!� ��)� ���)��� �� �� ���)��� 4�8� ���� ���$�#� �� #!� �� ��� �����
�(�#�)

A2 :=

(−2.83 −0.32
0.35 −2.56

)
, b2 :=

(−3.55
0.23

)
, c2 :=

(−5.04 −3.92
)
,

%�#! ����� �# −2.70± 0.31i� �!$� #!� ���$ �� �(�#�)  ����# �� ��#������( ����#�*��
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	����� ��
�� �	���	 � ����	
 
��� ���	� 
��� ��	��	� ���� ���� �� m ≈ 1000 ��� ��	� �����
������	� ���������� �� ������ � ����	
 �� ���	� r < 100����  ���������	��! �	���	�
������	� ���������� ��� ������ �������	 
	����� ���	 �� �	���� �� � �������	 ����	
�
"���� ���
 ���� ��
�������� �� ������ �������	 
	����� ��� ������	� ����������!

	 
��� ��	�	�� � �����	� �	������ �� ���� �����	� 
��� ����� �� ��	 �������	 �	���#�����
����	��� �� ��	 ������ �������	� 
	������ �� ���� 	�� 
	 �	�����	 � ��

	��� �������	��#�����
�� ������	� $�$%&����	
�! 
���� ��� �	 ��	� �� ������ �� 	'�	����� �� ��	��	
 (�( ��
����	� ���	� �����'�
������� )��	��	�! �� ��������
 
��� �	 ������	� �� ���	� �� ��	
���� �	���� �� ��	 ����	'� �� ����	&����	 �������	 ����	
��

�� $	����� *�� 
	 ���	 ���	��	� ��	 ��������	 �� �	����� 
��� ����	
� ���� �������
�� � ��

	���� A&
����'� +����	�! 
	 �����	�! �� ���
��� ��
 �� ��	 "������,-���#��
��� ��	 ������	 �� ��������� � 
���
�� �	���#�����! ���� ��	 �	�	�
������� �� � 
���
��
�	���#����� ��� ��
��� ��	�	��	 ��	 ��

	��� ����	��� �� A� .	��	! �� ��������� ����	�
��	 /�	�����! �� ������	� ����������! 
���� ��� �	 ��	� �� ������ � 
���
�� �	���#�����!
��	� ���� ��	�	��	 ��	 ��

	����
�� �	�	��� 
	 ��� ���
	� �� ���� /�	����� 
��� ��! �� �		� �� 0'�
��	 (��� ����	�� �	�

�� ����� ��� ���	��������� 
��� � ��������� ��
���� �� ��	��	
 *��� �� 
	 ���	 � ����	

(A,B,C)! ��� �	�	������� $�$%! 
��� A = AT ��� B = kCT ��� ��
	 k ∈ R! 
	 ���� ��	
����	
 ���������� �� �����
� �

	����	�� ���
 1(�23 ��� 1(��3! ����

P =

∫ ∞

0
eAtBBT eA

T tdt = k2
∫ ∞

0
eA

T tCTCeAtdt = k2Q.

�� ���������#����� �� kP �� kP = T TΣT 
	 ��� 
���	 PQ = k2P 2 = T̃−1Σ2T̃ 
���
T̃ =

√|k|T � %��������! T̃ �� � ��������� ��������
����� 
����' ��� ����	/�	���� ��	
������	� ����	
 �� ���	� ��

(Ab, Bb, Cb) := (T̃−1AT, T̃−1B,CT ) = (T TAT,
√

|k|(CT )T ,
√

|k|CT ).

%��	��	! ��������� ��	 ����	
 ��� ��� ���� ��	�	��	 ��	 ��

	��� ����	��� �� A! �� ����
���	� Bb = CT

b ! ��	� (Ab, Bb, Cb) �� � ��

	���� ����	
 
��� k = ±1� $��� � ����	

�� ��
	��
	� ����	� ��	��
��	�� ��������� ��*�� ����! 	�	�� ��

	���� ����	
 ��� �	
��	���4	� 
��� � ����	&����	 ��

	���� ��	� ��	 ����������� �� ��	 ���������� ��	� ��
(Ab, Bb, Cb)! �	��� �� ��	 �����
��� �	

��

����� ��� �������� ��	���
��� �
 �����
��� ���
���	

�������� �	
�����
� �	���	��� ��� ������	� 
� ��� ������	�� �������
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��������� 	
�
���
 �����
���� ��

�� ���� 	
 � ����
������ ����� ��� ���	��� ���� �	�� ������������ ������� ���� ��

�������� �����	�  � ��� �������� � �	������ ���������	� 	
 ��� ��!���! ������� "� ����

	������! �� �����	� #�$� ���� ��� ��������� ����
�������  ��� k > 0 ��� �� �������! ��
� �	������ ������� %	������  ��� ����� ���  � ��� �&���! ���� ��������� �	 ���������

k ∈ R�

������� ��	 
�������� �	
�����
� 
� ������	�� ��������

��� (A, b, c) �� � ������	
� �
���������� ���� �������� �	�����
�� �������� ��

������� �
�� ������ 	����� 
� � ���
�
�� 	��������	��	 �������

%�� ������ 	
 %��	��� ��� �	������� ��� '�����	�� �	 ���� � ����� ����������	� 	
 ���

�������� �(���� ��� �������� 	
 ��� �������! ������� %	 ���� ��! ��� �� �	���!�� ���


	��	 ��� �&������

�
����� ��	 )�������� *���������	�+

��� �� �	���!�� 
	� ��������

A :=

(−2 1 + 0.1
1 −2

)
, b = cT :=

(
1
0

)
.

%��� ��������� ����! ��� ��������� ������

A :=

(−1.39 −0.85
−0.85 −2.62

)
, b = cT :=

(−0.95− 0.31
)

����	����� 
	� �	�� ����������	�� 	
 ��� �������� ��� �������! ������ �������

���������� ����� ����� ������ ��� �� �	���!���! � ��������� ������  ��� �	�� ,�����,

����������	��  � -�	 
�	� .&����� ��$ ���� ���� ������ !	�� �	� ����� �	 ����� ����������	��

%�� ����	� 
	� �	�� ����� �� � �	���'����� 	
 ��� ��&� ���	����  ���� �������� �

�������� ��������������	� �����!��� �������! ����
������� ��! �� ��� ������� �!�� 	


���� ��������

������� ��� 
���
�
�� ������	� 
� � �������� �������

��� G(s) �� ��� �	�����	 �����
�� �� �� �	�
�	�	� �
���������� ���� ���	� ��
��� �

�������� 	���
���
�� (A, b, c) �� G(s)� ���� ���� (A, b, c) 
� ���������	 �	

����
�


���

|A| = |AT | ��� |b| = |cT |.

����� � ��� (A, b, c) ���� ��	
�� ��
��� ��
����� ������ {σ1, . . . , σn}� ���
 �� ���
����
 �� �
����
��� �����	� ��� ���
�
�� �������
� ��
 �� ������
 ��

AΣ+ ΣAT = −bbT ⇔ aijσj + σiaji = −bibj , 1 ≤ i, j ≤ n

ATΣ+ ΣA = −cT c ⇔ aijσi + σjaji = −cicj , 1 ≤ i, j ≤ n ��� !



�� ��������� 	
�
���
 �����
����

���� Σ := diag(σ1, . . . , σn)� �� �	
����
	
� �� ��� ��
 i = j

2aiiσi = −b2i = −c2i ⇒ bi = ±ci 1 ≤ i ≤ n. �����

��
���
� �� i �= j �� �	� ������ �
�� �����(
σj σi

σi σj

)(
aij
aji

)
=

(
bibj
cicj

)
.

��
���� ���� 
���	
 ������ ��

(
aij aji

)T
� ���
�� �������
 ���� �����

(
aij
aji

)
=

1

σ2
j − σ2

i

(
σj −σi

−σi σj

)(
bibj
±bibj

)
=

bibj
σ2
j − σ2

i

(
σj ∓ σi

−σi ± σj

)
=

bibj
σ2
j − σ2

i

(
σj ∓ σi

±(σj ∓ σi)

)

	�� ����� aij = ±aji�

�� �	�� �� ��
���
� �	� �
 �����
	
 �	
��� �� �	� 	����� ��
������ ��	� Σ := diag(σ1Ik, σ2, . . . , σn)

��
 ���� k > 1� !��� "� �	
��������� A =

(
A1 ∗
∗ ∗

)
	�� b =

(
B1

∗
)

	���
����
� �� σ1Ik�

�� �	� �
���
σ1(A1 +AT

1 ) = B1B
T
1 .

!��� ��	���	
�#��� B1B
T
1 = UT

(
λ 0
0 0

)
U � ���� λ > 0� ���
��

σ1(UA1U
T + UAT

1 U
T ) = UB1B

T
1 U

T =

(
λ 0
0 0

)

	�� �� ��

��� ��
 Ã := UA1U
T � ��	� ãij = −ãji� 1 ≤ i, j ≤ k� $�%���� T := diag(U, I)

����� 	 "	
	���� 	"��
��� ������
�� 
�	
�#	����

(Ã, b̃, c̃) := (TATT , TB,CTT ),

����� ����
���� ��� �
����

��� ���	
��
� �	
�����
�� 	� ���	
�� ��� ��� �� ����
��� �
�
����	
 	� � �	������
����������� �� ��
�	
��� �� �	 �
 	
��
  ��
� ��� 
������ ������ �� ����� ������
���
���
 !� ������
" #�
�$	�  � 	!���
 � �	������ ���
	%�����	
� �
 ��� �	��	 �
"  �  ���

���
 �	 ���� ����	� �� ��������� 	
�
���
 �����
����� �
  	
�� ���� ���� �
	����
�
&��� �
�� ��  ��� � '
�� 	
��
 �	������ ���
	%�����	
�  ���� ��  �� ������
�� ����
���
�
�
����	
 ��
 !� �	
����
�� �
 �%��
��	
 	� ���	
�� (�(�
)	
 ��� ���
��'����	
 	� ��� ������
�� ��
� 	� ��� !���
��� 
����$���	
 �� �� 
	�


������
� �	 �		* �� A ������� �
����� �� ��
 !� �	
������ �
	� ��� �
		� �	 ���	
��
��� ���� bibj = −cicj �� �
� 	
�� �� aij = −aji� ���� �
 ���� 	� � �	������ ������� ���
���� �����
" �
�
����� ��
	
 	� A !��	��� 
	
�������
���  ��
 bi = −ci �	
 ��� '
�� �����

+	���
�� �	 ,

	���-��	
��	"	
��$���	
 �
� .�
�
���$���	
 ����
��� �
�
����	
� ����
�
	����
�  	
*� �	
 �
� �
�
���
 ��
���	
� �
����
��
� 	� ��� ����������� 
��
���
����	
�
����  � �	�� ��� ���	
��
�� 	� 
����
���
�� ���� �� ��� �
��

�� �	�������� 	
 ���
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���
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���� ��

�������� 	
 � �������


����� �� ��	� 
�	� ������� ���� ���� ��� �������� ��� 	��� �� � �������� �	�����	��

���	�� ��� �	��������� 	
 ������� 
�������� �������� !�������	� �	 �	����"� �������� ��

��� ���	 �� ���� �	 ������ �	����"� ����	������	�� 	
 �������� ���� ��� �	� �"�� ����������

�	����"�� !��� �	��� �� 	
 �������� �� � �
 ��� �	��� 	
 �� #����������$ �	����"� ������ ���

�������� �� ������ ������%����	� ��� �	������ ����� ���	��� ����� "�	���� ��� �	����"����
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&� ��� '�(�) *������ ����	��� 	
 � �	��	����"� ������ + ���� �	���"� ����	�����	� G2

������� �	
 #,	��	����"� ������$

-�� �� �	������ ��� 
	��	��� ������

A :=

⎛
⎜⎜⎝
−2 0 2 −4
0 0 −1 0
−2 1 0 0
0 0 0 −4

⎞
⎟⎟⎠ , b = cT :=

⎛
⎜⎜⎝
−2
0
0
−4

⎞
⎟⎟⎠ .

!�� ������� ����	��� 	
 ��� ������ ��� �� ���� �� &� ��� '�( �	 ����� ���� ��� �	����"�



�� ���� �����	
�� 
������� 	
����	��� ����
�	��

������������ ����� !"�#!��

A2 :=

(−5.77 0.31
0.31 −0.05

)
, b2 = cT2 :=

(
4.50
0

)
.

��$�%��& !� '�����( $� ��� ��) !# !� %��) *�(!+�() #� ����!%� � ���!#!%� ����� !"�#!��

�, � ������!#!%� �)�#�"� 	-!� !� �������.(�& �!��� !� #-� ��"� $�) �� #-� ������%�#!��

�, #-� ���!#!%!#)& #-� "�!�#������ �, #-� ������!#!%!#) !� ��#*��( � ��/*!��"��# �� !#�

���*��� "���(�

�.���%�& ,�� Ã !� #-� ����, #� 	-����" ��0& $� ��� �(�� ����(*��& #-�# aii = 0 ,��

i = 2, . . . , k� �� ���� �, � ����1��� #$���!"���!���( �)�#�" G(s)& #-�# -�� ��() ���

�!�'*(�� %�(*�& $� ��� �.#�!� � .�(����� ���(!1�#!��

A =

(
a11 a12
−a12 0

)
, b1 =

(
b11
0

)
, c1 =

(
b11 0

)
.

�, #-!� $�� � ���!#!%� �)�#�"& !# $�*(� -�(� ‖G‖∞ = G(0) = −cA−1b� �!���

A−1 =
1

a12

(
0 −a12
a12 a11

)

!# ,�((�$�& #-�# G(0) = −cA−1b = 0& $-!�- !� �(���() � ���#���!�#!��� 	-!� "�#!%�#�� #-�

,�((�$!�' ���2��#*��& $-!�- -�� .��� ���%�� ��() �*"��!��(() �� ,���

��������	� 
�� 
������ ��	
�� ��	�
��� ���
���

����� ���� ��	 �
��	 � 
���	��� ��������	�� ����� 
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) �*"��!��( � ���!"��#� !# ��� .� �.���%��& #-�# �����!�(() ,�� ������ �)�#�"� � -!'-��

�!"���!�� �, #-� �)""�#�!� ���# ��� .� � ���#��� �� "��#!���� !� #-� !�#���*�#!�� #�

�-��#�� 3& #-��� �)�#�"� ���*� %��) �,#�� !� #-� ���#� # �, �!����#!1�� ���#!�( �!4����#!�(

�/*�#!��& $-!�- *�*�(() -�%� � %��) (��'� �!"���!�� ��� ������� � �)""�#�!� A ,��"

#-� .�'!��!�'� �� ����� #� *�� �)""�#�!� 
�(����� 	�*���#!��& $� -�%� #� ���*�� #-�

�)�#�" #� �!"���!��m ≈ 1000& $-!�- �((�$� *� #� ���() 
�(����� 	�*���#!��� � ��#*��(

���!�� �, #-!� ��������� !"�#!�� �-�*(� .�& #-�# #-� �!"���!�� �, !#� .�(����� �)""�#�!�

���# !� ��# ��������� ��"����� #� #-� ��!'!��( .�(����� �)�#�"& *�(��� #-� ����� �, .�#-

�)""�#�!� ���*��� �)�#�"� !� �, #-� ��"� /*�(!#)�

�� #-� ��� �, ���#!�� 3�3 $� ��!�& #-�# #-� �#���#!%� 
�#!���( 5�)(�% �('��!#-" ���,��"�

��"����.(� $�(( �� 
�(����� 	�*���#!�� !#��(,� ������& !# #*���� �*#& �*�!�' �*"��!��(

� ���!"��#�& #-�# � ��������� !"�#!�� %!� �
5� ���� ��# ��� ��) �!'�!6���# ���$.��+

!� #-� ���#� # �, �)""�#�!� 
�(����� 	�*���#!��� 	-*� $� ��� ��"�(�#� �*� "�#-�� �,

�)""�#�!� 
�(����� 	�*���#!�� )!�(�!�' #-� ,�((�$!�' �('��!#-"�
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�
�
� �� ���
�
��� n� ����

m 
��� ����m = min{n, 1000}
��� ����� ���� 
������� ����m ������ 
����
� �
���
 ��
 �

������ �������������

���� Gm�

����  �����
 � !�����
� �
���"����� (Ab, bb, cb) �� Gm�

�����  �����
 ��
 
����

 �� bb ��� cb �� ���
� �� ��
����� ��
 
����

� k� ��
�
 bbk �=
cbk �

��	� �� k = 2� �
����� ��
 ���������� �� (Ab, bb, cb) �� �!���� � �
���
� 
�
�
� G2 ��

��
 ���
� 2� #�
� ����� #�
��
� $�%�

�	� �� #�
��
� $�% ��

 ��� ������ �
����� ��
 ���������� �� (Ab, bb, cb) �� �!����
� �
���
� 
���
���� 
�
�
� Gk−1 �� ��
 ���
� k − 1� #�
� ������ � ��
���	

�
���"����� �� Gk−1 ���� ��
 �
�� �� &���"�
 ��
������ ����������

���� ���� �� �� !"#�#$ ��� � �%� ���&' �� %�#�%&#�& �%������ �'���( ���#� �% )� �'((��&� 

*+��& )*!*� ��,$ *� ���� �� �-� ��.� �.*(�!��

���	��� 
�� ��%���'((��&� �%������ �'���(�

��� * �'���( (A, b, c) )� ,���� )'

A :=

(−9 5
5 −10

)
, b :=

(
3
0

)
, c :=

(
5 5

)
.

�' )*!*� ��, �-�� �'���( /� ,��

A :=

(−4.37 1.01
−1.01 −14.63

)
, b :=

(−3.90
−0.45

)
, c :=

(−3.90 0.45
)

�%& �-� �*0� %+  %(�!�������$ /� �-%"!# �%�� �$ �+ �-� 1*�0�! ���,"!*& 2*!"�� *&�

 !%�� �% �* - %�-�&$ �-� �'((��&� �*&�  *� )� �� &�*��# �%(���(�� )' * ��&("�*��%�

%+ �-� )*!*� �# �'���( ��*���� 1%/���&$ �% +*& /�  %"!# �%� 3�# *� �.*(�!�$ /-�&� *

��&("�*��%� (*#� *�' ��,��3 *�� #�4�&�� ��

���� ������	
� �
�
���� �	���
�
�� ��	 ������������


�  *�� %+ * �%������ �
����'���( �'((��&� �*!*� �# �&"� *��%�  *� "�"*!!' �%�

)� *��!��#� �+  %"&�� %�� &�*�%�� ��$ �-*� /� "�� �*� 5%� 
!,%&��-( +%& �-� �%������

&�*!�5*��%�� �"� (%&� �(�%&�*�� ��$ �-*� �-�%&�( ��� #%�� �%� -%!# ,���&*!!' +%&

�
����'���(�� ���!!$ �-�&� *&�  *���$ /-�&� �-�� �&% �#"&�  *� )� �&*��+�&&�#�

��� "�  %���#�& *� n�#�(����%�*! �%������ �
����'���( /��- )*!*� �# &�*!�5*��%� (A,B, c)
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 ��������	���

��� B =
(
b1 · · · bk

)
� ���� Σ = diag

(
σ1, . . . , σn

)
�� ��� � ��� ��� �!�"#�$% �&#���$�

'(��)* �+

AΣ+ ΣAT = BBT = b1b
T
1 + · · ·+ bkb

T
k .


! �++#,��-. ���� b1b
T
1 = · · · = bkb

T
k . �� ��� �$��/#��

AΣ+ ΣAT = kbib
T
i = (

√
kbi)(

√
kbi)

T , 1 ≤ i ≤ k ��� ATΣ+ ΣA = cT c.

� $, 	��$ �, ��� �� 0$//$�+ ����. ���� |√kbi| =
√
k|bi| = |cT | ��� |A| = |AT |� 1����.

�0 (Ar, Br, cr) ���$��+ ���  ��#��� +!+��, $0 $ �� r. ���� +!,,�� �� Ar. ���� ����2$+

�""/��� �$ (Ar, bri , cr) !��/�+ ��������/ "$+���%� +!+��,+ (Ap, bpi , cp) 0$ �// i = 1, . . . , k�
	�#+ � "$+���%�  ��/�2���$� $0 (Ar, Br, cr) ��� 3� $3������ �+ (A,Bp, cp). ��� �

Bp =
(
bp1 · · · bpk

)
�

�3+� %�. �0 �� "� ����$� A =

(
A11 ∗
∗ ∗

)
��� ���$ ���-/! bi =

(
bi1
∗
)

��� c =
(
c1 ∗).

�� +#4��+ �$ ��%� b11b
T
11 = · · · = bk1b

T
k1 �� $ �� �$ -�� |√kbi1| =

√
k|bi1| = |cT1 | ���

|A11| = |AT
11|� 	�#+. �� ��� " $���� �� ��� +�,� ��! �+ 3�0$ � ��� $3+� %�. ���� �� �+

�$� ����++� ! �$ ��%� � "$+���%� +!+��, ���� � B�,�� �5 �$�+�+���- $0 ��������/ �$/#,�+�

�0 �$# +�. ��� +�,� �""/��+ �� ��+� $0 � �����$ �����+!+��,. ��� � �� ���� �$

"� ����$� C =
(
cT1 · · · cTm

)T
��� �++#,� c1 = · · · = cm $ ���/$-$#+/! 0$ ci =

(
ci1 ∗).

���� c11c
T
11 = · · · = cm1c

T
m1�
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�� ������	 
�� 
� ���� ������� ���� ����	��� ����� 	�������� ���	������� ���� �������
��	 ���� �	���	������ �� ��� ����������� ��� �� ���� ������� ���� ����	������ ����������
��� ������������ 
���� ��� �������� �� ��� ������� �� ����	 ���	� �������� �� ��� ���

�� ��� 	������� H∞��		�	� !���� �� ���� �	������� � ������� ���� ������	 
��� ���� ��
�����	���� �� ��� ������� ����� ��� ��� ��������

"�� � ������ �	������� ��	� 
�	� 	�� �� #�"$�!�© %�	���� &�'(�( �� � )� 
��� 
���
�� ����� �©��	��� �*��*( �)+ 
�,( -./� #�	����	� 0�$#�) %�	���� 
 ��� 1�2�#�
%�	���� '�
 
�	� ���� ��	 ��� ������/������ 
��� 	������ �� ��� �����	 ���	� �������������
3�	 ������� 
���� ������� $#��� 
� 
��� ��� 4� �4�� �� ���
 ����	 ��	��	����� ��	
��	�������� �������� ��� �� ��� ������ �� ������������� ��
�	�

"�	������� ��� � ������ 
� ������ ��� �����
��� ����	����� ��� �� ���� ���	������5

• �67�5 MAXiter = 100 ��� TOLσ = 1 · 10−8�

• -���	���/�� !������� "	��������5 TOLα = 0.01�

• �$#� �5 TOLα = TOLβ = TOLinit = 0.01 ��� Maxiter = 500�

• �$#� ��5 TOLδ = 1 · 10−8 ��� Maxiter = 1000�

"���� ������ ��	��� ��� �� 4� ��8����� ��� �� ��� ��� ��� �����9���� ������������ ��	���
��� ������/����� �� ��� ������ ��� ��� -���	���/�� .��:�� 1������	 %������ 3�	���	��	��

� ����������� 4��
��� ;1�����	�� !������� "	�������� <�67�=; ����� �67� ���
;1�����	�� !������� "	��������; 4� ��	��� 4���������
>� ���	��� ��	 �$#� � ? �� 
� ������ ��� �� ��	 ����	����� �	� ��8������ 4�� ���� �� �

����	�� �	�4��� �� ����� �������� !����� ����� �� ������ 4� �������� ��	 ������	 ����	�����
��� ��	��	 ���4�	 �� ���	������� ��� ����	����� 4����� ��	� ��������������� 
���� ���
���� 4� �������	�� �� � ����� �� ������������� ��
�	� +���	 ���� �������	����� 
� 
���
���� �$#� � ����	 ' ���	 �� �
������� 4��
��� ��� ���� ��� ��� �	���� ���	�����
3�	���	��	�� �$#� � ? �� 	����	� � �	���	�4�� �		�	 4����� @� ���	� 
��� � 	�������

�		�	 �� (�'� 4������ �� ��� ���
 �� "���	�� 
�
� ���	������ �4��� ���� 4�	��	 
���� ���
A������ �� ��� ���� ����	������ � ������� �������� 3�	 ��� ���� 	������ 
� 
��� ��
���
���	���� ��� �	��	 �� ��� �	���	�4�� �		�	 4���� �� ���� �� �� ���	������ ��������� �� ���
���	� �������� 3�	 � ������ �� 
� ������ � 9	�� �	��	 	������ ������ 
��� �� �		�	 ��
0.04� ���� 
� 
��� �	���	�4� �� �		�	 4���� �� 0.01 ��	 ��� ������ �	��	 ���	� ��������
3�	 ��� ��:� �� ���	���� 
� ������� ���� <��= �� ��� 1�����	�� !������� "	��������

����	���� ���� �	�����B$���/�� ��� !��	���������/������

CD
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. . .

. . .

R2

Rn-1

Rn

f
13

f12

f23

u

R1

R3

h1

h2

h3

fo,1

fo,2

fo,3

fo,n-1

fo,n

hn

hn-1

fn-1,n

������ ����� ������ �� n ����� ����������

��� � ��!"� �� n #�$$�#��% ����� ���������� �� �#������#�""� ����$ �$ ������ ���& ���
!����$��% �$ '(()& �$ ��%�� �� ���� ��� !��!������ �� ����������	 
������	 ��
��������
��� ���!"�#��� �"" ��� ���������� R1, . . . , Rn ��� ������% �� *� "�#���% �$ ��� ���� "���"&
��� ��� #�$$�#���$ *�����$ ��� ����� ���������� �� �"���� ����+�$��"� �� %�$��� ���� ai
�$% hi ��� *��� ���� �$% ��� ,"" "���" �� ��� ��������� Ri& ���!�#����"�� -�������& "�� Ri

�$% Rj *� #�$$�#��% *� � !�!� �� %������� dij = dji ≥ 0& ���$ ��� %���#� .�� fij ����
Ri �� Rj �� ������% �� *� "�$���"� %�!�$%�$� �� ��� !������� %�/���$#� �$ *��� �$%��
�� #�$��%�� ��� � ���$�" �$.�� �� ��������� R1 �� ��� �$!�� �� ��� ������� ��� ���!��
�� ����$ *� ��� ��� �� �"" ���.��� fo,i �� Ri ������� � !�!� ���� %������� do,i� ���� ���
��"! �� 0��#�"1� "�� �� #�$ %��#��*� ��� ������ .��� *�

fij(t) = d2ij · k · (hi(t)− hj(t)) �$% fo,i(t) = d2o,i · k · (hi(t)− hj(t)),

����� k �� � #�$���$� ��!����$��$� ������� �� ��"" �� ���#����� �$% %�$���� �� ��� ��%����
����& ��� ,"" "���" hi �� Ri ��""��� ��� %�/���$���" �2�����$

ḣi =
k

ai

⎛
⎝−d2o,ihi(t) +

n∑
j=1

d2ij(hj(t)− hi(t))

⎞
⎠+

1

ai
δ1iu(t),

����� δ1i ���$%� ��� ��� 3�"��45��$�#6�� ���*�"& ���� δ1i = 1 �� �$% �$"� �� i = 1 �$% +���
���������� �����$� ���� �2�����$� �� "�$��� �����4�!�#� ������ ����"�� �$ � ���
4������

(A, b, c) ���� b =
(

1
a1

0 · · · 0
)T

& c = k
(
d2o,1 · · · d2o,n

)
�$% � ��������# A4����� 

���� �$�����

aij :=
k

ai

{
−d2o,i −

∑n
m=1 d

2
im, i = j

d2ij i �= j,
���� dii := 0.
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�� ���� ��� ������ ��� �������� �� ������� � ��� ��!��"����"��# ���� ���� $%� "���"%��"��
�� !��� ��!��"����"�� ���� "���"%��" �� ������� !� ��������� �� �%�"� ����" "���"%��" !�
� ���� � �������" 1# ��� dij = 1  �" i �= i# 1 ≤ i, j ≤ 5 ��� 6 ≤ i, j ≤ 10# "�������%�&��
��� ���������� � ��� ��!��"����"�� �� '�%�� !� � ���� � �������" d1,10 = d10,1 = 0.2#
!������ "���"%��" 1 ��� 10� (�"��%�"#  �" ����&����� �� ��� ai = 1 ��� k = 1�

)�" � "������ �"��" � 5 �� �""�" !���� � 0.06 ��� '�%�� �� ���� !� ���&���' *���"�&�+��
,�&����� �"��������� ���� ��������� ���� ��" "���&�� ��� ��� !� �����"�� ���� ���
"�&���%� H∞-�""�"� � ��� ����" �������# '�%�� �� ���  �&&����' ��!�&�"�

����� � . /

*���"�&�+�� ,�&����� �"�������� 0.80 0.51 0.01
	�����"�� ,�&����� �"�������� 0��1�2 0 - -
	�����"�� ,�&����� �"�������� 0 - -
�3(� � 7.65 · 10−5 - -
�3(� �� 0.02 - -
�"��&��43���+�� 0.80 0 -
,��"���'���&�+����� 0 - -

��� "���&�� ����# ���� ��� ������ �� �����&&� � $"�� �"��" ��� ���� !� ����"�� 5�5
	�����"�� ,�&����� �"�������� "���"�� � $"��-�"��" ������%� ���"�6������� �������
������' �� �""�"� ��� ���� ��&��  �" ,��"���'���&�+����� !������ � ��� ������& "��&�+�����
�"���"��� 	���&�"&�# �"��&��43���+�� ��� "���%�� ��� ������"�&&�!&� ������� 7�����#
!� ����"�� /�5 ��  �&&���# ���� � �� ���&� �"��&��43���+�� �� ��� �"�������� � ���
���"�6�������# �� �&�� ��� �� ���� � ������%� ������& ������ � $"�� �"��"�

���� ���� 8���&��'�# �%�� ��� $ �� �"��" "������ ������ "���&���'  "�� *���"�&�+��
,�&����� �"�������� ���� !� �������"�� �� � ���" ���"�6�������� ,� ����"����' ���
��9��&���� � �"�������' �� ��!�&����� ������# *���"�&�+�� ,�&����� �"�������� ������
��" �"� ��� !����"� )�" ��" ����" �6���&�� ���� ��&& !����� �%�� ��"� ��'��$�����

�&����'�# �3(� � : �� �"� ����"���&&� %�"� �6�����%�# �� ���� � ���� � ���&& ������
���� ��"������� ������ ��& �� ���"� �� �!��"%�# �3(� � ��" �"�� � '"��� ���& !����"
���� �3(� ��� ;� �"������&�# �� !��� �����# �� ���&� ��� $�� � "��&�+����� � �"��" . �"
/ ���� � ��'��$����&� ���&&�" �""�"�

��� $"��-�"��" �"���"�� � ���� ������ �� �&��"&� � "���&� � ��� ��"��' ���������� ���
��� ����'������ ������ ��� ��!��"����"��� ���"� �"� �� ���"����� ��������� 0������
� "���"%��"�2 ���� ��� ����'� ��� �"��"� �������# &�� �� �������" � �&�'�� ����$������ � 
��� ���<���# ���� �� ��� do,i = 0.1 · i� ���� ������ �� ��� � $"�� �"��" ��� &��'�" ���
���� �� �6���� &�"'�" �""�"�# �� ����� �� ��� ��6� ��!�&�"�
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����� � � �

����������� �������� ������ �!� 1.00 0.98 0.08
�"##� ��� �������� ������ �!� $%
�	& 0.02 1.99 · 10−3 '

�"##� ��� �������� ������ �!� 0.02 1.99 · 10−3 �
���� � 0.08 � �
���� �� � � �
����	
���
����� 1.00 1.68 · 10−2 �
����������
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�� ����� 	�� �� �����
�� ��� �
�� ������ $��� n = 250� �� ���� �
�� ���
�������
����� ,�� ���� � . �� �
/� ���� 
 	��� ����� ��
� ��� ���� �������
���� 
	��

�
��*����� ������  ���� $� 
�� 	�,� $��� �
	
���
  ����
���� 
�
 ��� &��	�" �����
���
�����
�� $���� ���,��� 
� ,�		�$��

����� ) - )((

0����
	���
 �
	
���
  ����
���� 1.00 0.99 0.45
��������� �
	
���
  ����
���� 1�%&�2 0.13 1.51 · 10−3 �
��������� �
	
���
  ����
���� 0.13 1.51 · 10−3 �
����	
���
����� 1.00 0.15 �
����������
	��
���� � � �

 �� ������
�� �����*����� �, ��� ����	�� �� ���� ������� ��� ��
� 
���� 
		 ��� �����
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��	� ��������� �
	
���
  ����
���� �� ������ $��� ������� �� 
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��� $�� $� ���	
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���
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���� ,�� ���� 
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���
��
	� ������ $��� -3( ��
��� ��� ��
� ,�� 
 ������ $��� n ��
���� $� ��	� ���
 ��
�������� 2n "
��
�	�� $��� 2n ��$�� �� ���� �� ��� ��
 �, 4�
���� 5� ���� ��"�� 

����	�+��� �, O((2n)2(2n)2.5 + (2n)3.5)� $���� �� 
	��

� �+�����	� ����� �� �
�� �, ���
�����
����
���� ���� ������� �"�� $���� ���
��� �, ��� 	
��� 
����� �, ��$�� $����
	�

� �� ��� �+���
��� �, ������
����
	 ��$���

���� �����	
���
�
 ��
��	��

4���
������
	 ���$��/� ���	� 
 �����
	 �	
�� �, ������� ��
� ������� �, 
 ����� ������
�, ����������� ���������� 1����
�������2� $���� 
		 �����
�� $��� �
�� ����� 
�
 �����
��"���������6)57 %��������
��"�	�� ��� �����
����� �, �$� ����
������� �� �����
���
		�



���� �����	
���
�
 ��
��	�� ��

a) b)�� ��
�� ��
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��

�	

�


��ko,i ko,j

kij

kji

������ ����� �� ������� � � !��"��������# ���$��%� &� ���"��������# ���$��% � '
!��"�����(

��)�� �� ������ ��� ��� �&(��)�* �+� (,(���( �� ��!���� ��- ��� !#�((�!�# �.��"#�(  ��
!��"��������# ���$��%(� /�����##,* �+�(� ���$��%( !�� &� 0�(!��&�0 �(  �##�$( 1-23�
� xi(t) 0�����( �+� ��((* $+�!+ !��"������� i �( �(��� �� ���� t* �+�� $� 0�����
$��+ kijxj �+� ��(( 4�$  ��� !��"������� j �� i ��0 $��+ ko,ixi �+� (�� � �##
���4�$( � !��"������� i� ����+��* �+� �.�����# ��4�$ � !��"������� i �( ��)�� &,
Ii =

∑m
j=1 bijuj(t) $+��� uj(t) ��"��(���( �+� 56�+ ��"�� (���!�� �(  �� �+� $���� ��(��)���

�.��"#�* � !��"��������# ���$��% !��(�(���� � � !��"�������( !�� &� 0�(!��&�0 &,
�+� #����� 0�7�������# �8������

ẋi(t) = −ko,ixi(t) +

n∑
j �=i

[kijxj(t)− kjixi(t)] +

m∑
j=1

bijuj(t)  �� i = 1, . . . , n.


+� (����6("�!� ��"��(�������� � �+�( (,(��� �( ��)�� &, A = [aij ]n×n $��+

aij =

{
−ko,i −

∑n
j �=i kji, i = j

kij , i �= j
,

��0 B = [bij ]n×m� 9� ������ ��� �� $� !�� �&(��)� �+� 0�7����!� �� �+� $���� ��(��)���
�.��"#�(� $� 0� ��� �((��� ��, #�����* �+�� �+� ��4���!� � !��"������� i �� j �(
�����# ��0 �+�( �+� (,(��� 0��( ��� ���0 �� &� (,������!� 9� 1-23 �+�  �##�$��� (,(���*
!��(�(���� � �+� ' !��"�������( �( (+�$� �� ������ ��� &�* $�( �(�0 �� 0����(�����
�+� 9
�9 9 �""���!+

A :=

⎛
⎜⎜⎜⎜⎜⎜⎝

−1.5 0.6 1.0 0 0 0
0.3 −1.9 0.2 0 0 0
0.2 0.5 −2.7 1 0 0
0 0 0.5 −3 0.6 0.5
0 0 0.4 −1.6 0.3 0
0 0 0 0.6 0.5 −1.6

⎞
⎟⎟⎟⎟⎟⎟⎠

, B :=

⎛
⎜⎜⎜⎜⎜⎜⎝

1 0
0 1
0 0
0 0
0 0
0 0

⎞
⎟⎟⎟⎟⎟⎟⎠

C :=
(
1 1 1 1 1 1

)
�&(��)�* �+�( �( � �9��6(,(��� ��0 �+�( ��#, /�����#�:�0 ;�#��!�0 
���!�����* ;�#��!�0

���!����� �� <�(� ��0�� ��0 �+� 9
�96�""���!+�( !�� &� �(�0� � !��"���(�� � �+�(�
���+�0( ��)�(



�� ���� ���	 �
��	�
�

����� � � �

����������� �������� 	��������� 0.78 0.26 0.06
�������� 	��������� �� �� � ����� 0.01 ! !
�"#� � 0.01 ! !
�"#� �� ! ! !

�����$ � %�&��� &�� �'� (�(
!�� �$ �'� %� � �� ��� ��� � &��) �"#� � ��� ��������
	���������� �� ������ � �"#� �� ����� ��� ��� ��*  �������  )����� �'�� +��� "�� �  ��
'�, �'� � �� ��� ���� &�� �� �'� (�(
!�� �� -� ���� &��) �'� ���! *))����� �.�)/��
�� � (�(
! * ��) %* �  �)��0$ �'�� ��)/���)��� C1 ��� C2  '��� �'�  �)� ��/��

 �����$ ���� B :=
(
1 1 0 0 0 0

)T
� 	'� �� ��� &�� �'� ���! *))����� �.�)/�� ���

 �))������ �� �'� &����,��0 ��%�����

����� � � �

����������� �������� 	��������� 0.69 0.24 0.06
(*))����� �������� 	��������� 1�23�4 1.70 · 10−3 7.41 · 10−4 !
(*))����� �������� 	��������� 1.70 · 10−3 7.41 · 10−4 !
�"#� � 8.18 · 10−3 ! !
�"#� �� ! ! !
�������5"����� 0.26 1.89 · 10−3 !
�����'�0����������� 0.03 5.19 · 10−3 !

�"#� �� ����� ��� ��� ��*  �������$ �'��0' �'� ��)�� ��� �& �'�  * ��) � ��)/���%�*
��,� 	'�  '�, $ ��0��'�� ,��' �'� �'� &��0��� �.�)/�� $ �'�� �"#� �� � ���* �&
�'��������� ������ �$ %�� /��&��) ���  �6������* ,��� �� /�������� ����'�� ������ ���0
&��� �& �'� �.�)/�� � $ �'�� �"#� � /��&��) ,��� &�� �����0 � �� � �����  * ��)$ %�� %*
��*��0 �� ��� � '�0'�� ����� �//��.�)����� $ %���, �'� ����� �& �'� �� � �����  * ��)$
�"#� � ��� ���� ��)������ /��%��) �

7�� �'� ��'�� )��'�� ,� ��� �% ��8�$ �'� 9�����* �& �'��� �//��.�)����� ��)�����
��)� � �'�  �)� ��)/���� ,��' �'� � �& �'� ,���� �� ��8��� �.�)/���

���� ���� �	
����


	'� '��� �9������ � �� �)/������ /������ ��:�������� �9������$ ,'��' � 0�8�� �� �'�
/���� � 

Ṫ = �T =
∂2

∂x2
T +

∂2

∂y2
T. 1���4

�* �� ��������0 �'�  * ��) ,��' �'� '��/ �& ����� ��:������ ;�<= ��� ��)%����0 �'�
�� ����������� /���� �  '�,�  �'�)�������* �� 7�0��� ���$ ,� ��� ,����

�Tij ≈ − 1

h2
(4Tij − Ti+1,j − Ti,j+1 − Tj−1,j − Ti,j−1),

,'��� h ������ �'� 0���  ��/� �& ,� ��� ���� �'� ��)/������� �� �'� 0��� %�������� 
�� %�  ������ %* &��� ��:����� ��/�� $ �'�� ,� ��� ,���� Ṫij = �Tij � � ������ /� ���8�
 * ��) ,��' ��/�� u1, . . . , u4� 7�� �'� /��/� � ��� � ��� ���� �'� ����! 9����$ �� ��������



���� ���� ��	��
�� 
�

u3

T 11

T 21

T 31

T 12

T 22

T 32

T 13

T 23

T 33

y

x

h

u2

u1

u4

������ ����� ����������� ���� ������� � � ��������� !"���

#��� (n+2)2 !�� ��� $� �� ��� %�� ���& !�� �� ��� ��'� %& ��� � !���( ��� ����� )����%"�
�� ����� �* ��� n2 �  �� !�� �� �� ���# � ������ ���� ��� #� �� ��+ � ��� �&���,

,�������

A :=

⎛
⎜⎜⎜⎜⎜⎝

P I 0 · · ·
I P I 0 · · ·

� � �
� � �

� � �

· · · 0 I P I
· · · 0 −I P

⎞
⎟⎟⎟⎟⎟⎠ ∈ R

n2×n2
#��� P :=

⎛
⎜⎜⎜⎜⎜⎝

−4 1 0 · · ·
1 −4 1 0 · · ·

� � �
� � �

� � �

· · · 0 1 −4 1
· · · 0 1 −4

⎞
⎟⎟⎟⎟⎟⎠ ∈ R

n×n,

� � B := [bij ] ∈ R
n2×4( #����

bi1 :=

{
1, *�� i = 1, . . . , n

0, �����#���
, bi2 :=

{
1, *�� i = n, 2n, . . . , n2

0, �����#���
,

bi3 :=

{
1, *�� i = n(n− 1) + 1, . . . , n2

0, �����#���
, bi4 :=

{
1, *�� i = 1, n+ 1, . . . , n(n− 1) + 1

0, �����#���
.

-& ����� � x :=
(
T11 . . . Tn1 T12 . . . Tn2 . . . T1n . . . Tnn

)T ∈ R
n2
( #� ��)�

����������� .��/0 ��

ẋ ≈ 1

h2
Ax+

1

h2
Bu #��� u :=

(
u1 · · · u4

)T ∈ R
4.

�� ��� ���!�� �* ��� �&���, #� #� � �� �� ����� ��� �)����� ��,!�������( ����

y =
1

n
CT, #��� C :=

(
1 · · · 1

) ∈ R
1×n

������( ��� �,�""�� h ��� %����� ��� �!!��1�,���� �* ��� ���� ������� � ����( � ����

�* � ���� �!!��1�,���� ( ��� �&���, (A,B,C) #�"" %� %���,� "����2���"� �� �� h = 1
n+1 �



�� ���� ���	 �
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�

��� �� ����� ��� ����� ��������� ���������� ���� �  !�� �����"�������# ��� �� ���
�$� ���!���� %�� ��&� ������� �� ���������� �� ������ n = 3 ��� ��� u2 = u3 = u4 = 0#
����� '����� � (�(
 �����)����� �'���� �% ��������� �� 	��� ��� ��������� �������
���%��� �� %������

����� * + � , -

.�������/�� 0������� 	��������� 0.88 0.70 0.49 0.31 0.07
('������� 0������� 	��������� 1�23�4 0.02 2.73 · 10−5 5 ) )
('������� 0������� 	��������� 0.02 2.73 · 10−5 5 ) )
��$� � 9.74 · 10−3 ) ) ) )
��$� �� ) ) ) ) )
�������6����/�� 0.50 0.23 0.08 5 )
0������&�����/����� 0.20 7.94 · 10−3 5 ) )

7���������&# ���� �� ���' ������� ��� ��� �8���&� �����������# �� �� ��� ���������&# ����
�� ������ �!���8� ��� ��� ������ ��� ���� ��� �����)����� �������������� �� ��� ��������

!���8�# ('������� 0������� 	���������� �� ���� �� 0������&�����/����� ��� �� �� �
������8� ������� �����/������ �� ��������# .�������/�� 0������� 	��������� &�8�� %�� ��
����� �% n− 1 � ����� ������ ���� ��������� �� 9��� ������
�� ���� �"�����# ��$� � &�8�� %�� � 9��� ����� �����"�������� ��� !��� ������� ����8��#

�� �� ��� ���8�����' ��������� �"������# �% �� ���� �� �����8� ���� ����� !' ���������& ���
�����# ��� ������/����� ���� ���� ��������� ���!����� :������ ������# ��� ����������� �%
����/�� �� ��� ���������� 9%�� ����� �'���� ���� ��� ������ �� � ������8� �'���� ���� �����

��� �� �������� ��� ���� �'���� ���� n = 10# ��� � �����)�����)��������� �% 100� 	���
�� ������

����� * � *, *-

.�������/�� 0������� 	��������� 0.99 0.85 0.74 0.31
('������� 0������� 	��������� 1�23�4 0.15 2.52 · 10−13 ) )
('������� 0������� 	��������� 0.66 2.52 · 10−13 5 )
�������6����/�� 0.81 0.14 3.60 · 10−4 5.85 · 10−6

0������&�����/����� 0.5 1.04 · 10−4 5 )

(���� ������ !�������& ���%���� ���%����' ����# ���� ���������# ���� ���� �'���� ����'�
��������� � �'������� ������� �����/������ �� �� ��� ��� �"������# ����� �� �� ��;������
!������ �23� ��� ������ !�������&# ����� �����# ���� �23� �� ������ � �����!�� ����������
	��� �� ���������' ��������� �� ��� �����"� �% ���&�)����� �'�����# ���� �� ���� ��������
����

�� ���� �% n = 30# �� ��8� �� ���� ���� 900 ������ ��� .�������/�� 0������� 	���������
�� ��� �������!�� ��' ���&��� 	��� �� ��� ��%� ���� ��� 3�'��8 ��!������ ������� ���
('������� 0������� 	���������# ����� &�8�



���� ���� ��	��
�� 
�

����� � �� �� ��

��������� �������� ����������  
!"�# 0.36 8.73 · 10−11 $ $
��������� �������� ���������� 0.16 2.37 · 10−10 % $
�������&'���(�) 0.93 0.53 2.54 · 10−4 5.85 · 10−6

�����*�+�����(����� 0.88 1.04 · 10−4 6.32 · 10−12 %

�����*�+����(����� ,��-) �� �*� )��� ,�� �) .�/���0 .�� �� �) �����-�.�� *�, ���* .�����
��������� �������� ���������� 1��/���)�

������0 /��� � 1�������� 1��)1����2� �*��� �) �� ��3������ �� ,*��* )��� �/ �*� 1����
�) �)�� �) �*� )��+��$��1�� ��� �*�) /�� ��� )���) ,� +�� �*� )��� ��)���)� 4����2��0
)���� CB =

(
n · · ·n)0 /�� ��� �*� /��� 1�))�.�� �
��$)�)���) ,� �2�� +�� ���������

�11��5�������) .� �11����+ �����*�+�����(������ 
� �) ��)� �� )��0 �*�� �*�) �5����)
�� ������� ��� ��������� �������� ����������� �*�)0 ,� ��� �� �*� )�������� �/
������� 6�70 ,*��* ����,) �) �� �11�� �*�)� ���*��) �� �*� /��� 4
��$)�)��� (A,B,C)�

/ (Ar, br, cr) ������) �*� �11��5������� �/ ��� �/ �*� /��� �
��$)�)���)0 �*�� �*�
������� 4
��$)�)��� ��� .� +�2�� .� (Ar, Br, cr)0 ,��* Br :=

(
br br br br

)
� ���*

�� �11����* �) ��� �11����.�� /�� �*� �
��$)�)���) �������� .� 
'4
 
� 8��)�9������0
�.������+ � 4
��$�11��5������� .�����) �2�� ���� �51��)�2� ��� �� �� �� ������)�
�/ �*� ���.�� �/ 2����.��)� �*� ��)���) �/ 4
��$)�)��� �11��5�������) /�� n = 3 �)
)������(�� �� �*� /����,��+ ��.�����

����� � 7 � � :

;�������(�� �������� ���������� 0.95 0.89 0.84 0.69 0.33
��������� �������� ����������  
!"�# 0.02 2.74 · 10−5 % $ $
��������� �������� ���������� 0.02 2.74 · 10−5 % $ $

'4
 
 9.74 · 10−3 $ $ $ $

'4
 

 $ $ $ $ $
�������&'���(�) 0.50 0.23 0.08 % $
�����*�+�����(����� 0.20 7.94 · 10−3 % $ $

�5��1� /�� ;�������(�� �������� ����������0 ��� �*� ���*��) �������� �*� )��� ����� �)
/�� �*� �
��$��)�� �*�) ��)��� ��� .� �5������ �� *�+*�� ����� )�)���) ��� ,� ��������0
�� ��)� �/ � 4
4�$)�)��� �*� ���,.��-) �/ ;�������(�� �������� ���������� )*�, �1
�2�� �����
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���� �����

��������� �	
 ������

��� X ⊆ R
n� ���� ��� ���

C(X) := {y | y = αx, α ≥ 0, x ∈ X}

�� 	
���� ��� ���� ���� 
� ��� ���X 
��X �� �
�� �
 �� 
 ���� �� 
�� 
��� ��X = C(X)����

��������� �	
 ����� �����

��� ��
� 
� 
 ��� X ⊆ R
n �� ������ ��

X∗ := {y | 〈y, x〉 ≥ 0 ∀x ∈ X}.

�� X �� 
 	
��� �� 	
�� X∗ ��� ��	� ��������

��������� �	� ����	�
 �����

� 	
�� X �� 	
���� ���
�� �� �� 	
��
��� ��� ���� ������� ������� 
�� ��
 �
���� 
� ���
����

x1, x2 ∈ X ⇒ αx2 + (1− α)x1 ∈ X, 0 ≤ α ≤ 1,


� � ��!
������ �� 	
�� ������
�

x1, x2 ∈ X ⇒ αx1 + βx2 ∈ X,α, β ≥ 0.[�]

��
	��� �� X ⊂ R
n� ���� ��� �
	����� ���
�� ���� ����	����� X �	�
�
�
 	� �
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"
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��� ���� ����	

��������� �	
 �������� ��� 	�
�� �����
 �����

��� � �����	 ���� X 
� ��� 
� 
�

• ��
���� 
� X ∩ −X = {0}�
• ���
� 
� ��� 
����
�� �� X� X̊ �= ∅����

��������� �	
 ���
������
 �����

� ���� X ⊂ R
n 
� ������ ��������	�� 
� 
� 
� ��
���� ���������� 
��� 
�

X = BR
k
+

��� ���� ������� ������ k ��� �� n× k ����
	 B����

� 
��
������ ���� �� �� � ������ �� �
������� � ���� ���� � ����� ��� �� �� ������ !���
��� ���� ��������  
 ��������� �� ���������"� ������ ��� �������� �� ����� ��� �� ���
�� ��������� ������������
 ���"�#� $� ���� ��� ��  � ������  ������ �� ��� ���������
 ��
��� ������ ��

��� B�

����� �	�

����� ���������� ���� 
� ������ ��� �����	����

��������� �	� ������� �����

� ������� ��
����� ���
� �����	 ���� 
� ������ ������ 
�������

����� �	�

 � R
2 ����� ������ ������ ���� 
� ������������!�

����� � ��� X �� � ���	�
 �����
 ���� �� R
2� ����� X �	 ������
� ��� ��
���� �������

������� ��� ������	 �� X ��	� �� 	������� 	������ ���� π� �� ������ �
����� ��� ���

������	 �� X ���� ��
���� �������� ��� ���� �����	�
 �� ����� �����
 �����������	 ��	�

��� �� X ��
 �� �		������� �� ��� ��
���� ������� ����� ������ �� ��� ����� �� X ���	�
�

���	 �����

� ������ �����%����� �� ��� ����&����� 	�
������� !������ �� ���������� ����
��� '()*
�� ��� ��������� �������



���� ����� �	�

����� ��� ����������	 
������ 
�� ��	��� ��	��	

��� X ⊂ R
n �� � ���	�
 �����
 ���� ��
 x0 ∈ R

n \X� ���� ����� �
�	�	 x′ ∈ R
n 	���

����

〈x0, x′〉 < 0 ��
 〈x, x′〉 ≥ 0 ∀x ∈ X.


� �
� 
��� �� �
�� ����� �� ���� �� ���� �� ����� �
� ��������� ��������� �
����� �����

�
� ���� �� � ���� �����


���
�� ���

X �	 � ���	�
 �����
 ���� �� ��
 ���� �� X = X∗∗ := (X∗)∗�����

����� � � ���������	 
� X∗∗ = X �
�� �� ����� ��� X �� � ������ ��� ������ �����

� ���������	 X∗ = {y | 〈x, y〉 ≥ 0 ∀x ∈ X} ⇒ 〈y, x〉 ≥ 0 ∀x ∈ X ��� ∀y ∈ X∗�
����� X∗∗ = {z | 〈y, z〉 ≥ 0 ∀y ∈ X∗} �� �� ����� �
�� X ⊂ X∗∗�

������� �
��� ������ � z0 ∈ X∗∗ \X� �
�� �� ����� ��� �
��� �� � ������ x′� ���
 �
��

〈z0, x′〉 < 0 ��� 〈x, x′〉 ≥ 0 ∀x ∈ X.

 ���� x′ ���� �� �� ������� �� X∗ ��� �
������� 〈z0, x′〉 < 0 ����������� �
� ��!������ ��
X∗∗�

������� �� X ��� ��� ������ X∗∗ ����� �� �!��� �� �
� �������� ������ �����" ����

��������� X� ��"� �� ���� �� �
��������#� � ������ �����" ���� �� ��� �����


���
�� ��� �������� 
������	

� ���	�
 �����
 ���� X ⊂ R
n �	 ������
 �� ��
 ���� �� X∗ �	 	���
� ����

����� � � ���������	 ������� X �� ��� �������� �
�� ∃x̃ ∈ X : x̃ ∈ X ∩ −X� ���� x̃ ��� −x̃
��� ���
 �������� �� " ��� 
���� αx̃ ∈ X, ∀α ∈ R �� ��!������ �� � �����

#� ��!������ �� �
� ���� ����� 〈y, αx̃〉 ≥ 0, ∀y ∈ X∗�


� X∗ �� ������ �
�� ∃ε > 0, x0 ∈ X∗ : Bε(x0) ⊂ X∗ ��� �
������� �� �� �������� �� !��
� y ∈ Bε(x0) : 〈y, x̃〉 �= 0� $
�����% α = −��%�(〈y, x̃〉) ����������� �
� ��������� 〈y, αx̃〉 ≥ 0�

� ���������	 ������ X∗ �� ��� ����� ��� ��� {x1, . . . , xk} ������ k ������ �����������
���� ������� �� ���


� &� ����� �
���� k = n� �
�� z =
n∑

i=0

xi �� �� ����� ����� X
∗ 	

��� 1 > ε > 0 ��� y ∈ Bε(z)� ����� {x1, . . . , xk} ����� �
� &
��� R
n &� ��� &����

y = z+
n∑

i=0

αixi &��

n∑

i=0

α2
i < ε2 < 1� '
�� |αi| < 1 ��� �
������� � �� � �����%����� ������



��� ���� ���	


����������� 	��
 ���������
 (1− αi) ≥ 0�

������ k < n ��� �� �
 ��

���� �� ��� � ������ p ∈ R
n �
�� �
 ���
������ �� �
� 
��

{x1, . . . , xk} ��� 〈p, x〉 = 0 ∀x ∈ ±X∗� �
�� ������
 p ∈ X∗∗ ∩−X∗∗ 	
��
 �
 �� �
�����

��� � ������������� �� X ����� ��������
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